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1 PROCEEDI NGS

2 JUDGE MACE: Let's be on the record in Docket
3 Nunmber UT-023003. This is the Review of Unbundl ed Loop
4 and Switching Rates and Revi ew of the Deaveraged Zone

5 Rate Structure al so known as the Recurring Cost Docket.
6 Today is June 2nd, 2004, and we are convened for

7 evidentiary hearing at the offices of the Washi ngton

8 Uilities and Transportati on Conmm ssion in O ynpia,

9 Washi ngt on.

10 Since this is the begi nning of our second

11 week, | would just |like to have oral appearances at this
12 poi nt, brief oral appearances.

13 M5. RONI'S: Yes, good norning. Catherine

14 Kane Ronis of Wl nmer Cutler Pickering Hale & Dorr, LLP

15 on behalf of Verizon. And with ne today is ny

16 col | eague, Bill Richardson. He will be appearing |ater
17 t oday.

18 JUDGE MACE: Thank you.

19 MR, KOPTA: Gregory J. Kopta of the law firm

20 Davis, Wight, Trenmine, LLP on behalf of AT&T. And

21 al so appearing with ne later this afternoon will be Mary
22 Steel e.

23 JUDGE MACE: Thank you.

24 MS. FRAME: Karen Frame with Covad

25 Communi cat i ons Conpany.
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MS. SM TH. Shannon Snmith, Assistant Attorney
General, here on behalf of Comm ssion Staff.

JUDGE MACE: |s there anyone who wi shes to
enter an appearance who is on the conference bridge?

Ckay, it sounds like there isn't anyone on
the conference bridge.

We just wanted to explain for the benefit of
t he commi ssioners who are on the Bench with me, we have
some revised testinmony from Staff this norning, and we
al so have, and Staff will explain further when
M. Spinks is presented, also we have two responses to
Bench requests that were directed to Dr. Selwn, and
just wanted to nake sure the Commi ssioners were aware
that they had that in front of them as well

I want to also just briefly address the
response to the Bench Request Nunber 3, which was:

Provide revised tables in Exhibits 655

and 651T reflecting corrections to the

erroneous data for SBC that was

di scussed during the evidentiary

heari ngs. Please include workpapers

descri bing how the cal cul ati ons were

devel oped.

It's a fairly volum nous response, M. Kopta,

and | wanted to find out fromyou exactly what was



1001

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

i ncluded in the response.

MR, KOPTA: Certainly, Your Honor. What
Dr. Selwn did was if you see the first few pages that
are nunbered BR3-1 through 10 was to provide an
expl anati on of how he corrected the nunbers and how
those fit, those corrected nunbers fit into the analysis
that he had conducted. Follow ng those pages are
corrections to Dr. Selwyn's testinony in a redlined
format that sinply update the nunbers that changed as a
result of his corrections. Then follow ng those pages
are corrections to attachnent 4 to his testinony, which
is Exhibit 655. This is the entire exhibit, not all of
whi ch was changed, but for the interest of conpleteness
he just included the entire exhibit with the changes
that he discussed in his explanation.

He al so prepared a redline of this Exhibit
655 which we have provided to counsel for Verizon, but
if the Commission would find that useful we can also
provide that to the Commi ssion so that you can see what
Dr. Selwn changed.

JUDGE MACE: | think it probably would be
beneficial for us to have that.

MR, KOPTA: Then we will provide copies of
that |ater today or tonorrow.

JUDGE MACE: All right, thank you.
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Is there anything prelimnary before we go
ahead with M. Spinks who is our first schedul ed witness
t oday?

If not, then, M. Spinks, would you pl ease

st and.

Wher eupon,
THOMAS L. SPI NKS,
havi ng been first duly sworn, was called as a w tness

herein and was exanm ned and testified as foll ows:

DI RECT EXAMI NATI ON

BY M5. SM TH:

Q Good norning, M. Spinks.
A. Good nor ni ng.
Q Coul d you pl ease state your nane and give

your enployer and position for the record, please.

A My name is Thomas Spinks. M enmployer is the
Washington Utilities and Transportati on Comm ssion, 1300
Sout h Evergreen Park Drive, P.O Box 47250, O ynpia,
Washi ngt on.

Q Do you have before you what's been pre-marked
in this docket as Exhibit 1052, Exhibit 1056T, Exhibit
1057, Exhibit 1058, Exhibit 1059, Exhibit 1062, Exhi bit

1063C, and Exhi bit 1065T?
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A Yes, | do.
Q Do you have any corrections to those
exhi bits?
A Yes, | do. In ny response testinmony Exhibit

1062T at page 9, page 8, line 12, through page -- from
lines 12 to line 19, I'mstriking that testinony.

JUDGE MACE: M. Spinks, your counsel has
provi ded us with pages that show the strike throughs of
that, that can be substituted into your testinony?

THE W TNESS: Yes.

JUDGE MACE: All right, thank you.

A And on page 9 at line 6 and 7 of that
testimony, there's sonme strikeout too.

And in the rebuttal testinony Exhibit 1065T
begi nning on page 9, line 8, and follow ng through page
10, line 4, that is also struck fromny testinony.

And that's all of the changes.

BY M5. SM TH:

Q M. Spinks, were those exhibits prepared by
you or under your direction?

A Yes, they were.

Q And taking into account the previously filed
revisions to this testinmony and your corrections on the
stand today, if | were to ask you the sane questions

that are in your testinony today, would your answers be



1004

1 t he sane?

2 A Yes, they woul d.

3 M5. SM TH:  Your Honor, | nove the adnission
4 of Exhibit 1052, 1056T, 1057, 1058, 1059, 1062T, 1063C,

5 and 1065T.

6 JUDGE MACE: |s there any objection to the

7 admi ssion of those exhibits?

8 M5. RONI'S: No objection.

9 JUDGE MACE: Hearing no objection, | wll

10 admit those exhibits.

11 MS. SMTH. M. Spinks is available for

12 Cross-examni nati on.

13 JUDGE MACE: Does he have a summary that he's
14 presenting or not?

15 MS. SMTH. No, he did not prepare a summary.
16 JUDGE MACE: And Verizon cross-exan nation, |

17 have down 45 minutes for Verizon and 15 m nutes for

18 AT&T, is that still a good tine estimte?

19 M5. RONI'S: Yes.

20 MR, KOPTA: W probably won't have any
21 questions, but we'll wait and see.

22 JUDGE MACE: Very well, go ahead.

23

24

25
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CROSS- EXAMI NATI ON

BY M5. RONI S:

Q Good norning, M. Spinks.
A Good nor ni ng.
Q Now you filed direct testinmony in this

proceedi ng on June 26, correct?

A OF  2003.

Q 3?

A Yes.

Q And in your direct testinony filed on June

26, 2003, you recomended that the Conmm ssion adopt the
Hatfield nodel with some adjustnents, correct?

MS. SM TH:  Your Honor, | would object to
this testinmony or this questioning. M. Spinks has not
of fered his June 26 testinony into the record. He has
offered testinony that he filed to supplenent that in
January.

JUDGE MACE: Ms. Ronis.

MS. RONIS: Well, | think it's relevant that
back in June of 2003 he did file testinony and did
recommend the Hatfield nodel. | think it goes to the
i ssues you will see through the rest of ny cross on this
line that he had reviewed -- he had recomended Hatfield
before he saw the Verizon nodel, and that's sinply the

point I want to establish. And we don't need the
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testinony in the record, it's just a sinple fact point
about when he first recommended Hatfi el d.
(Di scussion on the Bench.)
JUDGE MACE: Al right, we'll allow the
answer. Now do you want to pose the question again?
M5. RONI'S: Yes.
BY MS. RON S:

Q In your June 26, 2003, testinony you
recommended t he Conmi ssion adopt the Hatfield nodel with
some adjustnents; isn't that correct?

A | believe that's correct.

Q Verizon also filed direct testinobny inits
cost nodels on June 26, 2003; isn't that correct?

A Yes.

Q And t he nodel Verizon filed on June 26, 2003,
is different fromthe nodel that Verizon filed, and then

they were GTE of course, in 1997, correct?

A Yes.

Q So you had decided to reconmend the Hatfield
nodel before you saw Verizon's nodel; isn't that
correct?

A Yes.

Q Now you state in your May 10t h suppl enent al

direct testinmony that's been marked as 1056T that you

received a version 5.3 of the Hatfield nodel before you
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filed your direct testinony on June 26, 2003, correct?

A Yes.

Q Did you consult with AT&T regarding this
version of the Hatfield nodel prior to recommending it
in this proceedi ng?

MS. SM TH.  Your Honor, again | woul d object
to this. Hs testinony says what it says. He is
recommendi ng the Hatfield nodel. He filed his direct
testinony at the sane tinme Verizon filed its cost nodel
in this case, their conpeting direct testinony, and the
June testinony isn't even offered into the record, so he

shoul dn't stand cross-exam nation on testinmony he's not

of f eri ng.

(Di scussion on the Bench.)

JUDGE MACE: We're going to sustain the
objection. It appears that we thought your earlier

guestion was just a prelimnary nature to get to the
poi nt of addressing the testinony that is filed by
Staff, and at this point it appears that you're going
beyond that sort of prelimnary nature. W would ask
you to focus on the testinony that has been filed and is
supported by Staff at this point and what M. Spinks
actual ly recommends at this point.

BY MS. RON S:

Q That was my | ast question on this line. Can
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I ask then the question without reference to your June
26 direct testinony, just generally did you consult with
AT&T prior to recommending the Hatfield version 5.3 in
this proceedi ng?

A. I'"'mnot sure what you nean by consult.

Q Did you ask them about any changes nmde
bet ween previ ous versions of Hatfield and version 5.3,
the version that was filed in this proceedi ng?

MS. SM TH:  Your Honor, | would object to
this in ternms of relevancy. | don't understand why it's
relevant or if it's relevant whether he discussed any
changes to the nodel in intervening times throughout his
testimony. He has provided testinony as to why he
t hi nks one nodel should be adopted, and that's the
testimony that he should be cross-exanined on. His
whol e process on how he reached that, you know, in terns
of whether he has discussed it with AT&T isn't relevant.

JUDGE MACE: We'Il sustain the objection
BY MS. RON S:

Q M. Spinks, isn't it true that this
Conmmi ssion in previous orders, specifically the Eighth
Suppl emental Order in the UNE case and the Tenth
Suppl emrental Order in the USF case found problens with
the Hatfield nodel ?

A Oh, yes.
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Q And it's your position that AT&T' s version
5.3 corrected those probl ens?

A Some of them | discussed in | ength, which I
di scussed in ny testinony.

Q And with respect to the changes they made
that you state fixed the problens, on what basis do you
make that statenent?

A Well, is there a specific issue that you had

in mnd about the nodel --

Q Sur e.
A -- that the Commi ssion --
Q Let's goto -- let's first go to page 8,

lines 5 through 9, of your supplenmental direct

testi nony, which has been marked as Exhibit 1056.

A Yes, | see that.
CHAI RWOVAN SHOWALTER:  |'m just going to nmake
a suggestion. If you're going to refer us to an

exhi bit, can you please state the exhibit nunmber first,
then wait a little bit, and then the page and line.
O herwise we forget the page and line by the tine we
hear the exhibit nunber.

M5. RONI'S: Sure.

CHAl RWOMVAN SHOWALTER:  Thank you.

MS. RONIS: It's Exhibit 1056, page 8, lines

5 through 9.
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BY Ms. RON S:

Q Are you there, M. Spinks?
A Yes, | am
Q Okay. So here you state that you are

recomendi ng the Hatfield nodel with sonme nodified
inputs, and in particular you use sone inputs fromthe
Conmmi ssion's prior order, the Eighth Supplenental Order,
correct?

A The inputs canme from both the Eighth
Suppl enental Order and the El eventh Suppl enental Order
in the USF case.

Q So to be nore specific, with the exception of
the cost of capital, depreciation, and an adjustnment to
| oop I engths that you propose here, you use the inputs
previously ordered by the Comm ssion in the Eighth
Suppl enmental Order and the El eventh Suppl enental Order
fromthe USF case?

A No, the copper, prices for copper cable were
also different.

Q And you used the prices that were in Hatfield
version 5.3 for those inputs, correct?

A That were in the 5.2a, and switching prices
were also different fromthe prior generic cases.

Q Now the inputs fromthe Ei ghth Suppl enent al

Order and the El eventh Supplenental Order that you used,
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they were inputs that the Commi ssion ordered because
they didn't believe the Hatfield inputs were correct; is
that a fair statement?

A | don't know, | can't answer for -- other
than what's in the Comm ssion orders with regard to
t hei r deci si ons.

Q But they are different fromthe Hatfield --

A But they would be -- yes, they changed the
i nputs, that's correct.

Q And t he Eighth Suppl enental Order was issued
in 1998; isn't that correct?

A Yes.

Q And it was based on cost studies and evi dence

submtted in 1997?

A Yes.

Q Isn't that correct?

A Yes.

Q So you did not use any of the updated inputs

Verizon has proposed in this proceeding; isn't that

correct?
A. Yes.
Q And you don't discuss any of the Verizon

inputs fromthe Verizon nodels in your testinony; isn't
that correct?

A Yes, that's correct. The purpose of updating
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-- the purpose of this proceeding is to update the cost
nodel s as the Conmi ssion stated in the order opening
this case that | cite in ny testinony. The -- we have
been conducti ng these proceedi ngs for about eight years
now, and a nunber of decisions have been nade about
i nputs like structure sharing and |oop | ength
adjustnents that in ny view weren't subject to updates
per se. Certainly input prices my have changed, but
the purpose here was to provide the Commission with a
vi ew of what the | oop costs would be using the decisions
that they had already nade. And in that way | had hoped
that we woul d focus on what the differences in cost
nodel s were by hol ding the inputs constant, and which
wasn't to say that | checked every input and | thought
it was still appropriate to use
Q Let's explore sone of the reasons the

Commi ssi on adopted certain inputs in its 1998 Eighth
Suppl emental Order. | handed a copy to you earlier this
nor ni ng.

JUDGE MACE: That's been marked as an
exhibit, has it not?

MS. RONIS: Yes, that's Exhibit 869. 1'm
going to refer everyone to Paragraph 134.

JUDGE MACE: Who was that, what was the

wi t ness for whom that was mar ked?
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2 MS. SMTH. May | inquire as to whether the

3 Wi t ness has a copy before hinr

4 MS. RONI'S: Yes.

5 M5. SM TH. Thank you.

6 MS. RONIS: | provided one this norning.

7 CHAI RWOVAN SHOMALTER: What page?

8 MS. RONI'S: Paragraph 134 that begins on page
9 30.

10 CHAl RWNOVAN SHOWALTER:  Just so we're clear

11 our Paragraph 134 of this exhibit begins on page 36, so

12 could you read the first four words or so.

13 M5. RONI'S: (Reading.)

14 For each of the density zones with |ess
15 than 2,550 |ines per square nle

16 CHAl RWOMAN SHOWALTER:  Yes, that's on our

17 page 36, but that's a good reason for paragraph nunbers.

18 M5. RONIS: |Is everyone on the sane page
19 her e?
20 JUDGE MACE: Go ahead.

21 BY MS. RON S:

22 Q M. Spinks, this paragraph is addressing the
23 cost for drop lengths, correct?

24 A Yes.

25 Q Now t he third sentence reads:
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We do not adjust the lengths in the

ot her studi es because no alternative

| engt hs are proposed. The |ack of

adj ustnment to these studies should not

be interpreted as an acceptance of the

val ues.

Did | read that correctly?

A Yes.

Q So the Conmi ssion adopted drop |length inputs
in that order equal to the Hatfield nodel because no
other alternatives were proposed?

MS. SMTH. | would object to that. The
order speaks for itself, and | don't think it's proper
to have the witness interpret what the order neans. W
can all see what it neans.

MS. RONIS: | will withdraw the question

JUDGE MACE: Thank you.

BY M5. RONI S:

Q Let's turn to another subject. In Exhibit
1056, that's your supplenental direct, beginning on line
10, going over to page 8, line 2, here you're discussing
the fact that the Commission in its Eighth Suppl ementa
O der --

JUDGE MACE: Which page were you on?

MS. RONI'S: Page 7.
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JUDGE MACE: Thank you.
MS. RONI'S: Lines 10 through page 8, line 2.
JUDGE MACE: Thank you.

BY M5. RONI S:

Q Here you're discussing the fact that the
Conmmission in its Eighth Supplenmental Order and its
Tenth Suppl enental Order in the UNE, the USF case,
didn't adopt the Hatfield nodel and found certain

problems with the nodel, correct?

A That's correct.

Q Now pl ease turn to page 6 of that sane
exhi bit.

A Yes, | have that.

Q Now starting on line 6 and going over to page
7, line 2, you're stating here though that the new

Hatfiel d version 5.3 addresses sonme of the Conmi ssion's
previ ous concerns. |s that a fair characterization of
your testinony?

A. No, here I'm di scussing the changes between
HAI 5.0, which was | believe used in the universa
servi ce docket, and HAlI 5.2a, which was the version of
the HAI nodel that | began using at the outset of the
pr oceedi ng.

Q And version 5.3 includes those sane

nodi fications that were incorporated into version 5.0
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1 and 5. 2a?

2 A That's correct.

3 Q Now | et's go through sone of these itens that
4 you state on these pages were changed in subsequent

5 Hatfield versions. At lines 7 through 10 on page 6, you
6 state that the nodel now addresses the Conmm ssion's

7 previ ous concerns about mninmum-- about the Hatfield

8 nodel not neeting the mni num spanning tree al gorithm
9 correct?

10 A Yes.

11 CHAI RWOVAN SHOWALTER: Hol d on, you're on

12 page 6 of 10567?

13 M5. RONIS: Yes, | am starting on line 7

14 t hrough |ine 10.

15 CHAl RMOVAN SHOMALTER: Where it says one of
16 t he changes?

17 MS. RONI'S: Yes.

18 CHAI RWOVAN SHOWALTER: Al l right, thank you.
19 BY MS. RON S:
20 Q Now coul d you tell ne what you did
21 specifically before you filed your testinony
22 recomendi ng the Hatfield nodel to investigate whether
23 in fact the new Hatfield approach to custoner |ocations
24 corrected the problemthe Conm ssion previously

25 identified?



1017

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

A Yes, | reviewed the documentation for the
nodel that was presented, and in there it explained that
it had corrected the issue.

Q Did you do any sensitivity analyses to
conpare version 5.3 to the version previously subnitted
to the Conmi ssion?

A No.

Q What did you do to satisfy yourself that
Hatfield version 5.3 s new approach to custoner
| ocations didn't create new probl ens?

A Well, in running the nodel and | ooking at the
out puts, exam ning the outputs, | didn't observe any
dramatic changes that would cause ne concern. And the
ot her factor about this, whenever you tal k about issues
i nvol vi ng whet her there is sufficient plant out there,
you have to renmenber that Staff's version of the node
has the | oop | ength adjustnment, which is sort of the
great equalizer. So if it turns out that |oop |engths
are less than actuals in the nodel, that the nopdel
produces, those investnments are all going to be scal ed
up anyway to produce -- so that the nodel produces in
terms of cost at |east the cost associated with the
average |loop length for each wire center. So in terns
of inportance, that's why |I didn't undertake any

i n-depth anal ysis of the changes.



1018

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Q But you did find sone problens with the

clustering data produced by Hatfield, correct?

A When | did the analysis of the Quvest wire
centers' cluster data, | found problenms with clusters
not being in the correct |location, either -- that is

that by the correct location | nean | matched the census
bl ock groups, which is how the clusters are identified,
by census bl ock group, the one they belong in, so
pl otted those and conpared the clusters to see if they
were in the census bl ock group they were assigned to.

Q And | will be asking you a few nore questions
about that later, but let me finish this line for a
m nut e.

At lines 14 through 17 of the same exhibit on
page 6, you state here that you didn't adjust the
switching cost produced by the Hatfield nodel as was
previously ordered by the Comri ssion in the Eighth
Suppl ement al Order because the new version of the
Hatfield nodel filed in this proceeding used new
switching data froman FCC report. |Is that a fair
characterization of your testinony?

A Yes.
Q And on line 14 you refer to reviewing the
nodel docunentation, correct?

A Correct.
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Q What did you do to satisfy yourself that this
switching data accurately reflects Verizon's forward
| ooki ng switching costs?

A | did not specifically exam ne Verizon's
forward | ooki ng costs, the switching costs per se. |
don't know that -- why they would be any different from
Quwest's say. The nodel's a generic nodel. It's not a
conpany specific nmodel other than in the specific data
that you said is the same inputs are used generically
between all conpanies, at |east for the nost part,

i ncluding switches. Wat -- the reason | didn't conduct
a -- any nore of an in-depth exanmination is that these

i nvestment val ues, as ny testinony says, had been, for
swi tches, had been adopted by the FCC, and so | assuned
there that they had underwent sone scrutiny at the FCC

| evel before their adoption.

Q Do you know when t he FCC adopted those
swi tching inputs?

A No.

Q Do you know how old the switching data used
in that FCC report is?

A | believe | read a criticismof it in some of
the testinony that was filed in this proceedi ng, but |
don't recall, possibly 1998.

Q Do you know whet her the FCC switching data
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includes all new switch discounts or reflects all new
switch discounts or a mx of new and growth di scounts?

A No, | do not.

Q Now on page 8 of the sanme exhibit, lines 14
t hrough 18, now you state here that you did not make the
speci al access adjustnment previously ordered by the
Conmi ssion to the Hatfield nodel because you believe the
new version of the Hatfield nodel explicitly nodels high
capacity or special access loops. |Is that a fair
characteri zation of your testinony?

A Yes.

Q And again, what did you do to investigate
whether, in fact, Hatfield is accurately nodeling the
cost of high capacity | oops?

A When | received the new 5.3, | reviewed the
cal culations in the nodel that had been added to account
for the high capacity | oops, |ooked at the formulas,
traced sone of the fornulas through, and tried to gain
an under st andi ng about how that -- how the high capacity

| oops were nodel ed.

Q Now |I'm going to turn to Exhibit 1065.

A | have that.

Q I'"mgoing to refer you to page 6 and starting
on line 6.

A Yes, | see that.
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Q Now t hi s question and answer in your
testinony is addressing Verizon witness M. Mirphy's
criticisms of the way the Hatfield nodel nodels high
capacity | oops, correct?

A Yes.

Q So you have reviewed M. Mirphy's testinony
on this subject?

A Yes, this is a response to sonme of his, well
his statenent he nade regarding ny prior testinony.

Q Si nce you have -- since you revi ewed
M. Murphy's testinony on this subject of how the
Hatfi el d nodel nodels high capacity | oops, have you gone
to the Hatfield nodel to investigate for yourself
whet her, in fact, the Hatfield nodel includes all the
proper costs?

A No, | didn't understand that to be the point
of his testinony here. M understanding fromreadi ng
his testinony was that the -- he couldn't determn ne how
many of the high capacity | oops bel onged in one category
versus another and that there was an outstandi ng data
request to AT&T about that, so it appeared to nme he
didn't have all of the information hinself to nake -- to
cone to a concl usion about.

Q Do you have an understandi ng of how the

Hatfi el d nodel includes the high capacity, and
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specifically DS1 versus the DS3 versus OCN?
A A general understandi ng.
Q Did you i ssue any data request to AT&T to

i nvestigate M. Mirphy's clai nms?

A No.
Q Let's turn to the Hatfield nodel's clustering
algorithnms. |1'mjust going to ask you some genera

questions first. Do you agree that the cost of
determ ning where to place -- the cost of placing plant

and how rmuch plant to put inis a material part of |oop

costs?
A. Yes.
Q And is it fair to say at a high level the

Hatfi el d nodel determ nes these costs at |least in part
through its clustering al gorithns?

A Yes, | think you could say that.

Q And in the previous proceeding and in the
Ei ght h Suppl enental Order, AT&T had a different process
for, for exanple, locating customers, and that process
was criticized in the Eighth Supplenmental Order; is that
fair?

A | believe so.

Q And AT&T has attenpted to address these flaws
by coming up with a new nethod of placing plant,

correct?
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A. I don't know that | agree with the term
flaws, but they devel oped a new clustering nethod. |
believe the first time | seen it was in January of this
year.

Q And the custoner |ocations are determned in
part by a third party called TNS, correct?

A Yes, | understand that.

Q Have you asked AT&T for access to the TNS

source code?

A No.

Q So you haven't reviewed the TNS source code?
A That's correct.

Q Now on page 12, again back to your rebutta

Exhi bit 1065, on page 12, I"'mgoing to start on line 10
and going over to page 13, here you're discussing

Verizon's criticisnms of the Hatfield cluster data,

correct?
A Yes.
Q And you criticize M. Dippon for not

quantifying the error; is that correct?

A For pointing out what | would say sel ective
results, which I don't believe gives the Conm ssion a
lot of help in determning to what extent there are
errors. Al nodels will have what people would term

errors in themor |ess preferred ways of building plant,
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and | believe ny criticismwas about my sense that it
was a fairly one sided kind of an anal ysis.
Q But on page 12, line 18, you state here that

you do agree that the Hatfield cluster data does produce

errors; that's what you state, correct, line 18?
A. | don't believe that's quite right. Wen you
plot the cluster data onto -- in a GS software, you

will find that sonme of the clusters are not properly
| ocat ed.

Q So again, you state starting on line 17 that
in perform ng that analysis Staff found that two types
of errors could occur with the clustered data. Have I
read that correctly?

A Yes, that's correct.

Q Now have you attenpted to quantify the
results of those errors?

A | did for the wire centers that | studied in
the analysis in nmy earlier testinmony for the Aberdeen
wire center where | found approxinmately 16 clusters
m spl aced, and | corrected all those by adjusting the
radi al di stance, and then recal cul ated the cost using
the new cluster file that | had created, which produced
a slightly |l ower cost for the Aberdeen wire center

Q But you haven't done it with respect to al

the wire centers?
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A That's correct.

Q And coul d you repeat how specifically you
woul d correct the error?

A There's a neasuring tool in the software that
allowed nme to neasure the radial distance fromthe wire
center to the correct location, to the correct census
bl ock group, and |I could -- | had an overlay of streets
and roads in the areas that | could use to determ ne
where within the census bl ock group the cluster
bel onged, so that it was positioned over roads existing
wher e housi ng people would be, and marked that distance
with a nmeasuring tool, and then changed in the cluster
file the radial distance to that distance

Q And you didn't adjust for any other variables

that could result fromthose changes you nade?

A I'm not sure what you nean, any other
vari abl es.
Q Any ot her costs? For exanple, how it would

affect DLC placenent by noving the distance you
suggest ed?

A There is potential for that | suspect, but |
didn't find large errors in the radial distance. For
i nstance, a radial distance m ght be 5,000 feet and the
new di stance m ght be 7,000, and so | sinply updated the

di st ance.
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1 Q So it's your position you would not need

2 access to the TNS source code in order to correct the
3 cluster errors in the Hatfield nodel ?

4 CHAI RMOVAN SHOWALTER: What is TNS?

5 M5. RONIS: It's the conpany that produces
6 the cluster data or in part, and | actually don't know
7 what it stands for

8 CHAl RWOVAN SHOMALTER:  Ckay.

9 M5. RONIS: |'m sure soneone here does if we
10 want it for the record.

11 JUDGE MACE: Perhaps M. Spinks does.

12 CHAl RWOVAN SHOWALTER: That's okay, as |ong
13 as | know it's a conpany nane.

14 MR, KOPTA: Taylor Nelson Sofries, Taylor
15 T-A-Y-L-OR Nelson, N-E-L-S-ON, Sofries,

16 SSOFRI-ES

17 CHAl RMOVAN SHOWALTER: Thank you. Just every
18 time there's an acronym if | don't knowit, it could
19 mean anyt hi ng.

20 MR, KOPTA: W don't use acronyns in this
21 i ndustry.

22 BY M5. RONI S:

23 Q l'"msorry, M. Spinks, did you answer,

24 wasn't sure?

25 A | don't think | did.



1027

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

JUDGE MACE: Do you remenber the question?

THE W TNESS:  No.

JUDGE MACE: Could you repeat it, please.
BY MS. RON S:

Q So its' your position that in order to
correct the cluster data errors in the Hatfield nodel,
you do not need access to the TNS source code?

A I think it would depend on the nagnitude of
t he adj ustnent that needed to be made. |If the
adj ustrent were so |arge that additional equipnent was
somehow necessary, although | -- and | don't know --
don't have a specific case in nmnd, but | can see the
possibility through your question that it's possible
t hat some ot her changes may be necessary. But for the

magni tude of the errors that | found, which went both

directions, | didn't think that it was necessary.
Q Let's turn to Exhibit 1062, your response
testi nony.
A | have that.
Q Refer you to page 6, and lines 4 through 19.
A Yes, | see that.
Q Now here you are criticizing Verizon's |oop

nmodul e for considering and reflecting actual plant
| ocations instead of a nore what you call efficient

net wor k desi gn?
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A. Well, it's nore than -- well, when you say
pl ant | ocations, yeah, as |long as we understand that
i ncludes the distribution termnnal, SAl's, DLC s, and
exi sting cabl e routes.

Q So it's your opinion that the TELRIC rul es

require that a brand new | oop network be configured?

A No.

Q What is your position?

A The use of the actual |ocations for all this
equi pnent, as | say in nmy testinony, and -- well, it

creates nore of a replacenent cost type of a nodel than
TELRIC, but |I don't believe that it falls squarely

out side the bounds of TELRIC. It's less efficient than
it could be, and in that sense | have a problemw th

t hat .

Q Where in the Hatfield nodel does it account
for, for exanple, constructing and obtaining all new
rights of way for the newy designed network?

A | don't believe it does, and |I don't know
that that's a necessary -- necessary in the cost nodel
in order to produce a TELRIC cost.

Q VWhere in the Hatfield nodel does it reflect
that if a brand new network were constructed from
scratch, suppliers of plant would be capacity

constrai ned and possibly, I'mnot saying they wll,
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1 possibly result in higher costs?

2 A | don't believe the nodel does those things.
3 Q I"'mgoing to refer you to the sanme exhibit,
4 page 7.

5 A Yes.

6 Q Lines 4 through 7.

7 A | see that.

8 Q The question is:

9 Are all of the Verizon cost algorithns

10 vi ewabl e?

11 And you state:

12 No, in response to Staff Data Request

13 Nunber 18, Verizon indicated that

14 certain information such as engi neering

15 and construction standards is not

16 accessi ble in the nodel

17 Have | read that correctly?

18 A Yes.

19 Q Where in the Hatfield nodel can the user view

20 t he engi neering and construction standards?

21 A I'mnot certain, | don't know.

22 Q Now i n your May 10th suppl enental testinony,
23 whi ch is again Exhibit 1056T, you propose for the two
24 wire |loop a statew de average rate of $10.09, correct?

25 JUDGE MACE: What page are you on? | see
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1 sonet hi ng on page 13 that nay be what you're referring

2 to.

3 Q Page 13, |ine 18.

4 A Yes, | see that.

5 Q Now i n previous versions of your testinony

6 you had proposed a statew de average for the two wire

7 loop of $17 and --

8 MS. SMTH. | guess | would object to the

9 question, and | apol ogize for interrupting the question
10 but the testinony in prior versions isn't relevant.

11 We're not offering any testinony in prior versions.

12 We're offering the costs and the reconmendati ons that

13 M. Spinks makes at -- revised as of May 10th.
14 JUDGE MACE: Ms. Roni s.
15 MS5. RONIS: | nean the fact that he has

16 drastically reduced the rate over previous versions |
17 think is inmpeachment, and | think Verizon should be
18 permtted to explore why that happened. So | don't
19 think we can erase the fact that there's previous

20 proposal s out there that are much hi gher than his

21 current proposal

22 M5. SMTH. And, Your Honor --

23 MS. RONI'S: And without explaining why it
24 changed.

25 MS. SMTH. And again | apol ogize for the
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interruption, | thought Ms. Ronis was finished.

There is no inpeachnent, because there is no
prior sworn testinony. M. Spinks nmade sone changes to
his recommendati on, and | would imagine that that's done
by all witnesses who testify in these dockets. Sone of
it finds its way into pre-filed testinony because of our
filing deadlines, sone of it does not. So we are
proposi ng only those costs recommended by M. Spinks in
May 10th, not by the costs he may have per -- he may
have pre-filed in earlier testinony but |ater revised as
a result of further analysis. O course M. Spinks is
subj ect to cross-exanination on why he has testified
that the two wire analog | oop cost is $10.09, but he
hasn't testified to any other rate as of this tine.

JUDGE MACE: | think you can explore, as
Ms. Smith suggested, that you can explore the basis for
his recommendati on of $10.09, but at this point |I'm not
going to allow you to do that in conparison with the
prior nunber.

MS. RONI'S: Let ne ask this question, and you
tell me if it's inproper.

JUDGE MACE: Well, it's not for me to tell
you that it's inproper.

M5. RONIS: Well in --

JUDGE MACE: In the terms of what | just
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1 sai d.

2 MS. RONI'S: G ven your instruction, yes.

3 BY M5. RONI'S:

4 Q Wt hout reference to any previously filed

5 testi nony, did your calcul ations of Verizon's two wire
6 | oop statew de average change, in other words did you

7 have previous versions that you calculated that led to
8 different results?

9 M5. SMTH: Cbjection, this is the same

10 objection to the same question. M. Spinks probably did
11 a lot of things trying to cone up with a recomendati on,
12 but his recommendation is $10.09. There may have been
13 recommendati ons that were widely different, up, down,

14 wherever, that didn't make it into the testinony, and
15 the testinony says $10.09, so any exploration of changes
16 i s inproper.

17 JUDGE MACE: Ms. Ronis, do you have anything
18 to add?

19 MS. RONIS: Again, | think any prior

20 cal cul ati ons and reasons for those calculations is

21 entirely appropriate cross-exam nation.

22 JUDGE MACE: kay.
23 (Di scussion on the Bench.)
24 MS. RONI'S: Your Honor, | will wthdraw the

25 guestion. The revised -- but | do want to nmake it clear
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so there's no allegation of inpropriety here, the
version that is on the record shows a strikeout of the
$16. 30, and we would want to nake that point in our
brief. So |l will wthdraw questions to M. Spinks, but
we will --

MS. SMTH. And by point of that, our rules
require that. Qur rules require us to nmeke the changes
in legislative format, so | assune when people get their
hard copies they don't have to go through thensel ves and
conpare it. The rule is set out to nmake it conveni ent
for those changes to be found. It is not intended to
make that part of the record. So we, of course, would
object to that, because we haven't offered it.

CHAl RMOVAN SHOWALTER:  Yeah, we have
di scussed this particular question before. The
testinmony that M. Spinks has now fil ed does not include
the strike through. | nmean that is -- those are not his
testinmony, that's not his testinony as fil ed.

MS. RONIS: Can | also note that, you know,
Verizon and other parties nmade corrections, and they go
version to version, and they just update their
testimony, they don't -- we don't just pretend it didn't
happen and then just file the nore recent version, so --

JUDGE MACE: Well, we have an objection

bef ore us, and we have to address that. | don't know
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that we have addressed this in the context of any

obj ections about updates that Verizon may have nade, and
so we are confronted with a question at this point and
are attenpting to deal with it.

M5. SMTH:. And sinply by proposing the
strike through legislative format to the testinony, that
is Staff's counsel's interpretation of the Commission's
rul e when you do that, and, you know, if perhaps we have
msinterpreted the rule to show it in |legislative
format, that has nothing to do with the fact that we're
not offering that testinony that has been stricken on
t he pages.

CHAIl RMOVAN SHOWALTER: Wl |, the testinony
that M. Spinks has filed does not include the strike
t hrough, so then the question is --

M5. RONIS: Do we still withdraw the
guestion?

CHAI RMOVAN SHOWALTER: Ri ght .

MS5. RONIS: Yes, we will w thdraw the
questi on.

CHAI RWOVAN SHOWALTER:  All right, thank you.
BY M5. RONI S:

Q M. Spinks, Verizon held a training session
on its nodel last July of 2003, correct?

A Yes.
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Q And you attended?

A Yes.

Q Isn't that correct?

A Yes.

Q And Verizon offered at that neeting to

provi de you additional training on Verizon's nodel;
isn't that correct?

A | don't recall

Q Over the course of the |ast year, do you
recall that Verizon has offered to make additiona
training available to you?

A They may have, | don't deny it, it's just |
don't recall any specific request that was nade.
recall the continuing nature of the, for instance, the
hel p desk availability and the Ilike.

Q And you haven't asked Verizon for any
additional training since July of 2003, correct?

A Well, | didn't ask for the July 2003, they
offered it and | accepted it, yes.

Q Have you asked for any additional training
since then?

A No.

Q Did you attend all of the tutorial yesterday
provided to Dr. Gabel ?

A Not all of it, but parts of it.
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Q Now you nentioned the help desk, it's your
under standi ng that Verizon has established a hel p desk
to answer general questions about its cost nodel filed
in this proceeding, correct?

A. My understandi ng of the help desk is if you
have a problem running the nodel, you could call them
about it if it crashed or there was some sort of an

error nmessage or that, they could help with that.

Q And how many tinmes have you called the help
desk?

A | have not called the hel p desk.

Q Anyone el se from Staff?

A ["mnot certain.

Q And the final line of cross here, have you
reviewed all of Verizon's testinony filed in this
proceedi ng?

A I"'mnot certain. | have certainly reviewed
the testinony that | have responded to.

Q Have you revi ewed the cost mmnual s?

A Sone of them The -- there were ten CD ROM s
provided with the direct filing, and | exanined --
believe there were four or five of themthat dealt
explicitly with the nodel and various backup support
files, and | went through many of those.

Q Can you turn to Exhibit 1062, page 8.



1037

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

A Yes, | have that.
Q And referring you to lines 4 through 7, this
testinmony states at |ine 4:
Despite these prior Commi ssion orders,
i ncluding prior directives ained
directly at Verizon's cost nodel,
Verizon has failed to include in VzCost
the ability to adjust costs based on
| oop length differences or to alter
structure sharing assunptions.
Have | read that correctly?
A | see that, yes.
Q Did you send Verizon any data requests asking
whet her these two assunptions, the structure sharing

changed in Verizon's nodel ?

asked during ny initia

assunption and the | oop | ength assunption, could be

A No, | didn't send a data request. | had
trai ni ng about them

Q Can you please turn to attachment, sorry,

Exhi bit 226, which is Verizon's suppl enental

provi ded you a copy of that this norning.

JUDGE MACE

M5. RONI S:

JUDGE MACE:

M5. RONI S:

Exhi bit 226?
226.
Whi ch wi tness was that?

It's the Verizon panel

t he

direct, and
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suppl enental direct filed in January of 2004.
A Yes, | see that.
JUDGE MACE: |If you can just hold on until we
get to the cite
It's marked SRP-1T as an interna
designation. |s everybody there?
Go ahead.
BY M5. RONI S:
Q And I'mgoing to refer you to Attachnent B as
in boy, starting with page 18.
JUDGE MACE: |s that the VzLoop cost nmnual
version 7.0?
M5. RONIS: Yes, starts with Section 1,
I ntroducti on.
JUDGE MACE: Page 18, thank you.
MS. SMTH. May | just ask a question to
clarify, is the Attachnent B a separate exhibit nunber?
MS. RONIS: No, | will verify, but | believe
it's just part of Exhibit 226.
CHAI RWOVAN SHOWALTER: On page 18 is there a
bold title l|abeled 6.5, buried fiber and copper cabl es?
M5. RONIS: Yes, there is.
And, M. Spinks, I'mgoing to refer you first
tothe little diagram

I's everyone on the same page?
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JUDGE MACE: Yes, thank you.
BY MS. RON S:
Q Okay, and you will see a diagramin the
m ddl e of the page. One says total requires poles, the
bott om one says Verizon poles. Do you see that?
A Yes, | do.
Q Now t he di agram al so tal ks about -- has a
| abel Verizon non-shared poles and Verizon shared pol es;
do you see that?
A Yes.
Q And then this cost manual then says:
The percent shared specified with SA
variable in options table.
Do you see that?
A Yes.
Q Now before you filed your testinmony -- strike
t hat .
Had you reviewed this cost manual before you
filed your rebuttal testinmony?
A No, but | did -- well, no.
Q Now |I'm going to refer you to page 19.
JUDGE MACE: O the --
Q O the same exhibit.
JUDGE MACE: Attachment B.

Q Attachnment B, and refer you to the fourth
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full paragraph that starts, the anpbunt of trenching.

A | see that.

Q The first sentence of that paragraph states:
The ampount of trenching that is shared
is determ ned by two variables in the
options table.
Did | read that correctly?

A Yes.

Q And finally, refer you to page 20 of the sane

exhibit, Attachment B, to the |ast paragraph, and that

st at es:
Sharing of conduit systens is nodel ed
based on the variables SC and SCU in the
options table.
Did | read that correctly?
A Yes.
Q Have you ever gone to these tables referenced

on pages 18, 19, and 20 to attenpt to vary the structure
sharing assunptions?

A No, I, again, | was acting on information |
t hought | had received orally fromthe conpany that they
did not -- that there was not a mechanismto nmake either
| oop length adjustnments or structure sharing beyond the
poles. | knew that the poles could be altered sone.

And so | have not exam ned these, and |'mnot certain
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whet her they do or how they work.

JUDGE MACE: Ms. Ronis, how much cross do you
have |eft?

M5. RONIS: A minute, one mnute.

JUDGE MACE: Co ahead.
BY MS. RON S:

Q | can refer you to the page nunber in
Verizon's rebuttal testimony if you need it, but do you
recal |l that Verizon has explained in its recent
testimony how to adjust the |oop | engths?

A Yes, | did see that, and so | knew that it
had -- | thought that perhaps in the January version of
t he changes that Verizon had introduced that ability to
do the | oop | ength adjustnent.

Q And your response testinony, Exhibit 1062, in
which we just referred to those pages, page 8, lines 4
through 7, was filed April 20th, 2004, correct?

A Yes.

Q And in that testinony, again you state the
user is not able to adjust structure sharing and | oop
| ength assunptions, correct?

A That's correct, that testimony was based on
my under standi ng again com ng out of the initia
traini ng.

MS. RONIS: | have no further questions.
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JUDGE MACE: We'll take a break for 15
mnutes at this tine.

(Recess taken.)

JUDGE MACE: Ms. Ronis, your
cross-exam nation is done; is that right?

M5. RONIS: Yes, it is.

JUDGE MACE: M. Kopta has no
Cross-exam nation?

MR. KOPTA: That's right.

JUDGE MACE: Ms. Frane?

MS. FRAME: No.

JUDGE MACE: And so, Dr. Gabel

EXAMI NATI ON

BY DR. GABEL:

Q Good norning, M. Spinks.
A Good nor ni ng.
Q M. Spinks, | would like to begin with the

topic of structure sharing. Am | correct that in this
proceedi ng you have recomended the sane structure
sharing percentages that you recomrended in the first
cost docket, UT-9603697

A Yes, that's correct.

Q For the record, would you explain how you

devel oped those sharing percentages?



1043

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

A To the extent | can recall. There was a team
consi sting of nyself and two -- an outside plant
engi neer fromthe Staff and another engineer, there were
two engi neers, and we surveyed each of the density
zones. And when | say survey, | don't nmean literally,
but we consi dered each of the density zones separately
and identified the nunber of potential providers of
structure sharing, for structure sharing, and by density
zone, and based on those nunbers devel oped percent ages
of structure sharing that we considered to be likely to
exist in a forward | ooking network, if you wll.

Q So your recomrendati ons were based upon what
was |ikely to exist rather than what does exist?

A That's correct. That was the -- in the first
generic cost case it was the same argunments. The ILEC s
argued to use actual structure sharing. AT&T argued to
use this -- their version of structure sharing, which is
still the same today as it was then. And the Staff
nunbers cane out somewhere in between those two.

Q When you | ooked at what would likely occur
did you include in the type of utility that m ght share
structure with Verizon cabl e conpanies?

A. Yes, | believe that they were in there.

Q And if there -- let's -- | would like you to

assunme the followi ng hypothetical exanple. |f there was
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a tel ephone pole that had two cables on it, one cable
being a Verizon tel ephone cable and a second cabl e being
a coaxial cable of the cable television conmpany, would
you assune that each of those two conpani es woul d be
equal ly responsi ble for the cost of the pole?

A. Yes, | believe that that was the way we did
t he cal cul ati on.

Q Are you famliar with testinony in this
proceedi ng which stated that cabl e conpanies due to
federal regulations pay a small portion of the cost of
hanging facilities on the pole; did you see that
testi mony?

A Yes, | did.

Q Do you, after reading that testinony, does
that give you reason to reconsider your initia
recommendati on about sharing the cost of structure
bet ween a cabl e conpany and Verizon?

A No. Cabl e conpanies played a very snall
part. | believe we had identified six or eight
potential, depending on the type of structure, there
were anywhere fromsix to eight providers, potentia
provi ders. For instance, maybe with underground it
m ght include -- it mght have included natural gas
lines or other types of providers, and so the tel ephone

conpany was only one of that group. So if there were
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1 four potential providers | think with poles, you would
2 have el ectric conpanies, cable, |I'mnot sure what el se
3 was in there now, but the tel ephone conpany counted as
4 one. So if there was -- in rural areas, for instance,
5 thi nk our structure sharing percentages are |like 87%
6 sonmething |ike that.

7 And | actually did at the beginning of this
8 proceedi ng revi ew that and consi der sone changes now
9 that | think of it, and that was based on revi ewi ng

10 M nnesota and Col orado and Arizona structure sharing
11 orders to see where other states were coming out on this
12 issue. And if | had reconmmended changes to it, in the
13 end | didn't, but if I had, we would have raised the
14 percentages to 100% in the zero to five areas and

15 actually | owered some of themin the md range density
16 zones fromthe 62% down to nmore like 55% for | believe
17 buri ed and under ground.

18 JUDGE MACE: |'msorry, | didn't hear the

19 | ast part.

20 THE W TNESS: Buried and under ground.

21 JUDGE MACE: Thank you.

22 A And so they did -- we did review that, and in
23 the -- but in the end we decided to stay with what we

24 had.

25 BY DR. GABEL:
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Q Ckay, M. Spinks, | would now like to ask you
a few questions regardi ng your switching
recommendations. |In Verizon's reply testinony, they
addressed your recomendations. Did you review
Verizon's reply testinony of April 20th?

A. | did, but I don't recall the specific
concerns that they may have expressed about the
swi t chi ng.

JUDGE MACE: Exhibit 301 is the switching
panel, Verizon switching panel, that was filed Apri
20t h.

Q M. Spinks, do you have a copy of that? O
let me say -- let nme just describe to you the testinony
I have in mnd, maybe you renmenber. And if not, we'l
get you a copy of the testinony. But at page 17, lines
12 to 13, that panel notes that two switches that varied
by only two lines have a $3.98 cost difference. Do you
recal |l that testinony?

A. Yes, yes, | do actually.

Q Okay. Are you familiar -- could you explain

-- is that a correct representation of your workpapers?

A Yeah, well, the costs showed what they
showed, and | didn't -- well, | didn't go back and
verify the nunmbers. | had seen simlar spread between

the switching costs in the -- for the various wire
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centers that | -- when |I | ooked at that, | thought that
it was due to probably two different factors at work.
One is the zones for the switching were not based on
their relative costs, but rather they were tied in to
the | oop costs. Whatever wire centers were in zone 1
for loops is where | put the switching costs for those
same wire centers. The purpose of doing that was to --
so when we tal ked about zone 1 costs, whether it be

| oops or switching, it would be -- they would al ways be
the sane wire centers, so that was for sort of

admi nistrative reasons. And the second reason why |

t hought that might be different would be relative usage
of the switch.

Q Also like to ask you to comment on sone
testinmony fromthe Verizon panel rebuttal testinony of
May 12th. | do have the testinobny, and | can present it
to you if you would like to see it. At page 20,
starting at page 27, the Verizon panel has --

CHAl RMOMAN SHOWALTER:  What exhi bit?
DR. GABEL: |'msorry, Exhibit 228.
CHAl RWOMAN SHOWALTER:  Page?
DR GABEL: 27.
BY DR. GABEL:
Q At this portion of the --

JUDGE MACE: Hold on just a second.
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1 Go ahead.

2 Q At this portion of Verizon's rebutta

3 testi mony, the conpany provides sonme data on | oop | ength
4 conmparisons with the Verizon nodel and the Hatfield

5 nodel and actual loop lengths. After reviewing this

6 testinmony, did you -- did it make you feel nore
7 confident about the Verizon nodel, or do your -- does
8 your initial recomrendation still hold that you believe

9 t hat the Conmmi ssion should adopt the Hatfield nodel ?

10 A. Well, ny thought when | seen this testinony
11 was | shouldn't have been surprised that the | oop

12 | engt hs, nodel |oop lengths, would turn out to be close
13 to the -- | think they're 3% on average or 6% on, no, 3%
14 over the actuals. But the thought | had was that in a
15 forward | ooking network, it's likely that |oop

16 renodel ed | oop | engths would turn out to be | ower, maybe
17 in the range of 5%to 10% | ess rather than equal to or
18 over. | believe that's likely certainly in sone wire

19 centers because of the way plant was historically built
20 versus how it would be rebuilt in a forward | ooking

21 network where you're locating a centroid in the center
22 of each cluster versus the way it nmay actually be laid
23 out where the SAl is maybe on the edge of a serving area
24 instead of in the center. So there's reason to believe

25 they should be less, could be less certainly in a
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forward | ooki ng network
I nsofar as the recommendation to use the HAI

goes, | have recommended that pretty consistently over
the ei ght years we have been having these proceedi ngs.
I think the nodel offers a |ot of good -- has a | ot of
good going for it. If the Verizon nodel can be adjusted
to, for instance, do the structure sharing and the | oop
l ength adjustnents, | think that goes a | ong way towards
making it nore pal atable, but it -- I don't know whet her
you can take out of the nodel the sorts of what | think
about as being built in where | think M. Turner from
AT&T, | read sone testinony where, well, | had addressed
it conceptually, | think he showed where it actually
occurs, there are four or five SAl's in a very closely
| ocated to one another, for exanple, which is one of the
results you get when you try to essentially duplicate
your existing network. |If there were sonme way to get
those out of there, then you m ght find some convergence
in the costs that the two nodels produce if you can put
in uniforminputs between the two of them

Q I would like to ask you to turn, M. Spinks,
to Exhibit 1062. This is your response testinony of
April 20th.

A | have that.

Q Page 9, line 9, you state that the node
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contains hard wired programm ng for assunptions. |Is
this -- in addition to structure sharing, is there
anything else in the nmodel which you can identify as
being hard wired into the nodel ?

A VWhat | had in mnd when | said that was the
structure sharing. At the tine | wote that, | had read
that they could -- when -- do the | oop | ength adjustnent
at that point, so | thought the only thing |left was the
-- was the structure sharing not being able to be
adj ust ed.

Q I think 1"'mgoing to end with an open ended
gquestion to you, which is different than the open ended
guestion | have given other witnesses, and this is as a
cost anal yst, the Comm ssion has before it two nodels,
one which is the Verizon nodel assunmes that custoners
continue to be served fromthe existing pedestal, and
the other is the Hatfield nodel that doesn't nake that
assunption. |Is that your understanding of one type of a

di fference between the two nodel s?

A I think that's yeah, one way of expressing
it, yes.
Q Coul d you just explain why as a cost anal yst

you m ght believe one nethodology is better than the
ot her, one nethodol ogy working with the existing

| ocation of pedestals and serving area interfaces versus
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the assunption that the only thing that is fixed is the
exi sting location of the central office?

A Right, | -- both nodels are | believe TELRI C
conpliant in the sense that they -- there's no rea
obvi ous deviations fromthe FCC s criteria for what
TELRIC is. Staff prefers the or views TELRIC with the
enphasis on the termlong run, and that's a econom c
standard, if you will, that says in the long run al
i nputs can vary. |If you're going to have an econonic
cost nodel that you're going to terma |long run econonic
cost nodel, then you should | et those inputs vary and
see what the cost is. That is -- it's -- and the other
point is that we woul d enphasize efficiency. Between
two nodels, the one that's nore efficient would -- that
are otherwi se ceteris paribus, the same, the one that's
nore efficient would be preferred. That's the exercise
of long run costing.

DR. GABEL: Thank you.

EXAMI NATI ON
BY CHAI RAMOMAN SHOWALTER
Q Well, | would like to follow up on that
answer right there, because | had somewhat taken from
Dr. Blacknon's testinony that if it were up to Staff on

its own, Staff would not be recomendi ng TELRI C per se,
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and but yet the FCC has ordered this, so this is what we
do. Now your answer just now indicated to ny lay ears
that you were enphasi zing the I ong run aspect and the

ef ficiency aspect, which to ny ears sounds |ike nore
TELRI C t han perhaps FCC requires, in other words nore on
the theoretical end of TELRIC than FCC is actually
requiring, whereas | heard Dr. Bl acknon, | could be
wrong, to take issue with TELRIC if he could, so.

A Ri ght .

Q I would have thought that Dr. Bl acknobn anyway
woul d be sticking to the nore let's say realistic side
of what's TELRIC perm ssible or the ground, the rea
world side of what's TELRIC pernissible in the FCC s
eyes.

A. My response was couched in the context of
living within what the FCC has set out for us, so that
that was really the context for my responses. W have
tolive in this TELRIC world, we have no choice. G ven
that and you have two nodels, which would you choose.

Q Ri ght .

A Dr. Bl acknon's response went to if Staff
could have its druthers, we nay have chosen or pursued a
entirely different way of pricing than TELRIC itself.
That's to ne not inconsistent at all | mean between the

two responses. | don't think that he intended to
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necessarily be -- that we would prefer a nodel that's
nore realistic per se. | nean being a Ph.D. econoni st,
he's, you know, the theoretical, theoretically, nore
theoretically oriented so that -- but | can't say for
certain what he had in m nd when he gave his response.

Q Well, just but your own response is that even
t hough both nodels are TELRIC conpliant or FCC
conpliant, in your view you think the Hatfield produces
a better result because it ends up with a nore efficient
answer, with a nore efficient answer?

A Yes, that's correct.

Q Is that the sane or different than saying
it's nore theoretical than the Verizon nodel, that is
it'"s nore efficient because it's nmore theoretical?

A. No, | would say it's nore efficient because
it models a forward | ooking network that's not tied to
the past. And | nmentioned in my rebuttal testinony I
think that the -- and in response to sone testinony from
Dr. Tardiff who you will hear fromthis week who tal ked
about using enbedded i nvestnent as a nmeasure of the
reasonability of the nodel, and | take that notion to
task because public utilities and rate base rate of
return regulation in the past have had a tendency, if
you will, to overinvest in the network. Wen | first

got into the business we called it the gold plated
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network, there was a tendency to substitute capital for

| abor because under rate base rate of return regulation

you didn't have the same sorts of risks that you have in
conpetitive markets.

Q Ckay, | would like to ask a little bit about
how you conpare these two nodels. First, where the
nodel s share the sane weakness, do you agree that it's a
dr aw?

A Yes.

Q And if they do share the sane strength, that
woul d al so be a draw?

A Yes.

Q So we shoul d be concentrating, shouldn't we,
on the differential strengths and weaknesses of the two
nodel s?

A Well, let nme try and answer it this way. At
the outset of this proceeding what Staff set out to do
was to for all three nodels, you recall Qwmest was
involved initially in the case, what Staff had tried to
-- initially we tried to do was to substitute, to unify
the inputs in the nodel, to use the sanme inputs. Then
when you seen the outputted nodel, so let's say one says
$10, one says $15, one says $20, what you're | ooking at
are purely the differences due to the nodel thenselves

the way the network went. |f you could nmeke the
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structure sharing equal, the | oop | engths equal, the

i nput prices equal, all you would have | eft would be the
way the nodel builds the plant that would account for
the difference in the price. Unfortunately, for a
nunmber of reasons we weren't able to pursue that in the
end to nake that idea work, that concept work. But |
think that that approach would have -- would have given
us a pretty good handle on -- and then -- and then
choose the nodel that's nost efficient.

Q But how woul d you know that? Supposing you
were able to do that experinent and you had equa
identical inputs and you got an output and one said $10
and one said $16, that would tell you that the
difference in those nunbers is due to the nodel, but how
woul d you deci de whi ch nodel produced the better result?

A Well, and that's where at that point you then
turn to evaluating the strengths and weaknesses.

Q And on those, let's say tal king about inputs
first, there's been discussion here about whether or not
Verizon's nodel actually can adjust for both the
structural sharing inputs or percentages and | oop
 ength, and I'm uncl ear now whet her having had that
di scussi on today you feel that Verizon's nodel is nore
adj ustabl e than you originally thought?

A Certainly with respect to | oop length
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adjustnments and as | read their rebuttal testinony, it's
clear that they have -- that they have perforned
adj ustnents for loop length, and so that appears to be a
done deal, their nodel will do that. | was not aware
this menu input that's nowin the nodel that's -- that
appears to allow for structure sharing, so | have not
evaluated and | can't really say whether it can indeed
do that. | would say based on -- based on the
testimony, it appears that you can nake some sort of an
adj ust nent though for the structure now. And the
Commi ssion in past cases with nodels has directed the
conpany to nake those sorts of things anyway if the
nodel didn't do it, so in -- by way of Bench request and
-- to do the progranmi ng to nake them do those things.
So | think in the end you can -- you can get the nodel
to do that to the extent it didn't, just Staff doesn't
have the power to bring that about, we have to evaluate
the nodel as it's given to us.

Q Well, the first question is, does it appear
to you now that the Conm ssion through our advisor
Dr. Gabel, will have the ability to try to nmake that
adj ust ment ?

A Yes.

Q If one is able to make those adjustnents so

that both |oop length and structure sharing is
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adj ustable in the Verizon nodel, is there anything el se
i nherent in the Verizon nmodel as distinct frominputs
that you think is a significant problen?

A Yes, that's the what | call the replication
of the existing network. That is by using all of the
exi sting | ocations of equi pnent wherever it may be,
there is | think necessarily sone duplicity in the
necessary plant, and so it's less efficient in that
respect.

Q Okay. And | don't know if you were in the
room when | discussed the issue of getting fromhere to
the Capitol, maybe you weren't, okay. The issue was if
you take an exanple of trying to string a |ine say from
between this building and the Capitol, which requires in
the real world going down a bank, around a | ake, and up
another hill, whereas as the crow flies it's about one
mle, and around the lake is three nmiles. Can you tel
me how the two nodel s address that problen? Does the
Hatfiel d nodel, for exanple, go as the crow flies, or
does it, and for that matter does the Verizon, or does
ei ther one recogni ze you need to go around the | ake?

A My understanding is that the VzCost nodel as
it uses existing routes, cable routes, would follow the
exi sting cable route. The route -- that route nay go

around the lake, or it may use submarine cable and go
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across the | ake and up the hill. But whichever it was,
that's what they would use. The HAI nodel would neasure
the di stance between where you're at and where you want
to go and then apply a factor to it that is | think the
square root of 2, 1.4 or 1.7, sonewhere in there, that
is what we call rectilinear routing. So if you want to
go frompoint Ato point B, it assumes that you go this
way and up, and that creates in npst cases | believe
sufficient cable to do the job with feeder cable to do
the job with.

Q So the HAI nodel mekes an abstract, maybe
perhaps it's derived from sonething enpirical, makes a
generic factor that builds in sonme degree of let's cal
it inefficiency but, you know, not straight |ine, versus
Verizon that is nore routed in the actual routes that

past or current lines take.

A Correct.

Q Is that correct?

A Yes.

Q And why is the -- why is the HAl nodel better

on this particular score than Verizon's, if it is?

A | don't know that it is. Actually, of all of
the -- nmy criticismof the VzCost is not so much using
the existing cable routes. Well, let nme cone back to

that. |It's nore using the existing DLC and SA
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| ocations that --

Q DLC?

A Digital |oop carrier and serving area
interface | ocations.

In the Hatfield nodel, the SAl or DLCis
assuned to be placed in the center of the cluster and
serves the lines, as | was explaining to Dr. Gabel
That's a nore efficient way of provisioning a forward
| ooki ng network than using the existing which may be on
the edge of a serving area. And then you have | onger
| oop lengths as a result.

What was | going to conme back to?

JUDGE MACE: The cable run, the cabling

around the | ake or across the | ake.

Q Well, no, actually, | think you were --
A Ri ght, yeah, the other thing about the using
exi sting cable routes, | think on the one hand that's a

good thing in that you can elinmnate the right of way

i ssue, you know, this question about right of way. On
the other hand, there may be nmultiple right of ways that
you don't need to provision a forward | ooki ng network
with. So to use every existing right of way and put
cable in it just because it's there wouldn't make sense
tome. So if they could find a way to use the existing

rights of way to get to the |locations that would give
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you the nost efficient distribution plant, | think that
sort of nelding of the two ideas woul d produce yet a
better nodel .

Q Well, | guess that's a good exanple, if
Verizon's nodel uses existing rights of way, at | east

you know they do exist, and you can use them again,

bel i eve.
A Ri ght .
Q If --
A. But not every one necessarily.
Q Right. But then in the HAI nodel, is it the

case that there's sinply and only a factor applied to a

di stance to determ ne the efficient --

A As far as | know.
Q -- cost?
A But AT&T mi ght be in a better position to

give a better understanding than | can of it. But in
places |like Oynpia here, there's existing public right
of way all over the place, and so the notion that you're
going to go fromhere to the Capitol and there's not
going to be right of way available to get you over there
given the rectilinear distance, you know, that's a
fairly unlikely proposition. [t may occur in cases.

Q So you would say that the factor, however

it's derived, probably accommpdates existing right of
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way and woul d use the nost efficient one or woul d use

the one that the factor --

A well --
Q -- would use a factor?
A Yeah, would use a factor that should fit

within an existing right of way. And in sonme cases that
rectilinear routing may be | onger than you need. In
other cases it mght be shorter than you need. But it
certainly makes sense, especially in the nore rural

nore urban areas of the network where you have the city
bl ocks and streets all over the place that you're
routing the cable down.

Q Okay. In your discussion on structure
sharing, which I will call pole sharing in this case
you described for Dr. Gabel how the HAI nodel or one
version of it was originally developed | think, and you
said that, I"'msorry, | don't knowif it's we're talking
about inputs or the nodel, but in any event you said
that a group of engineers projected the nunber of pole

users that would likely be present in any particul ar

situation.
A Correct.
Q And then if, for exanple, you determn ned

there woul d be six, then did you assune that each one

woul d pay 1/6 of the cost of the pole?
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A Correct.
Q And - -
A And there was -- there's nore to it than that

t oo, because in rural areas for exanple where electric
is pretty nmuch practically the mgjor utility you're
going to share your plant with, it's nmore likely to be
shared in certain areas in certain routes than others.
And so there's additional considerations that you have
to put into the -- put into the pot if you will in
trying to give full -- to get a full understanding of
the potential for structure sharing in each of the
density areas.

Q Well, | was going to go to how you determ ne
si X, but at this point nmy question was sinply, if you
arrived at six, did you divide the pole cost by six to
determ ne Verizon's share?

A Well, the -- it would have been one divided
by six, whatever that fraction is, that would be the

responsi bility of the phone conpany, right.

Q Okay.
A | believe.
Q And in terns of how you got to, you know,

six, eight, ten, or --
A Well, I"'msorry, let ne -- let me clarify

this. We would have identified six potential providers,
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and of that we went through themand we said, well, in
this density zone you're really only going to have two
or three, see, and that's what led to the percentages.
For instance, there m ght be eight potential providers,
but in reality there's only two that you're going to --
that it's likely where you're going to see sharing. And
so that woul d have produced the -- a nuch higher
percentage of the responsibility for the plant for the
| LEC than in cases where you had three providers period
and you expected all three of themto be in nost of the
places. So in that case, you would have a 33% shari ng.
In the latter case you would have 87% woul d be the phone
conmpany responsibility.

Q So you first identified potential sharers but

then made anot her judgnent as to how many --

A O those --

Q -- actual you were going to assune in the
nodel ?

A Yeah, when it was reasonable to assume in a

forward | ooki ng nodel considering al so ordi nances that
cities have on sharing and the like. They require now

t hat conpani es consult with each other when they're
going to go in sonewhere to put in plant so that they're
creating as we go forward we're seeing | think nore

opportunities for conpanies to share
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Q In this exercise you went through, in the
urban areas say, did you assunme there would be nore than
one facilities based tel econmunications service?

A | don't think so.

Q So you were mainly | ooking at electricity and
cable and wireline or --

A I"'msorry, yes, we did consider like |ong
di stance providers. Like we knew from our experience
that AT&T and Qmest or U S West at the tinme shared many
facilities in downtown Seattle, conduits and the |ike,
so -- so they -- and that's what was good about this
exercise is | had about 40 or 50 years of actua
engi neers who had worked in the tel ephone industry al
their lives in Washington to help sort through that
process of comng up with these nunbers.

Q I think the issue I'mtrying to get at is
whet her then you assuned nore providers |ike nmaybe Covad
or, I'mforgetting some of the nanmes of these because
t hey have now gone, but that was ny point is whether you
made assunptions about nultiple pole users then that
maybe we woul d not nake now, and it sounds to ne as if
you did not primarily think of themin that way?

A. Ri ght, we did not.

CHAl RMOMAN SHOWALTER:  Okay.

JUDGE MACE: We'll break for lunch now, we'l
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1 resune at 1:30.

2 (Luncheon recess taken at 12:00 p.m)

3

4 AFTERNOON SESSI ON

5 (1:30 p.m)

6

7 JUDGE MACE: When we |eft off the Chairwonan

8 had some questions of M. Spinks, and | think she has

9 some additional questions.

10

11 EXAMI NATI ON

12 BY CHAI RMOMAN SHOWALTER

13 Q Yes, we were tal king about the HAI npde

14 versus the Verizon nodel. One question | had, is it

15 necessary for the Comm ssion to choose one or the other
16 or if we find that each has their strengths or

17 di mensions, is it appropriate to take results from both
18 of themeither on the same neasure or different

19 measur es?

20 A Well, in past proceedings, we -- all the

21 parti es had asked the Comr ssion to choose one or the
22 other, and in fact that wasn't done. It has the benefit
23 of making it a lot easier if one nodel or the other is
24 used in that it gives sone certainty to the process of

25 determining costs for future purposes. So to that
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extent, | believe parties, Staff included, would like it
if we had the certainty of a nodel that we could use. |
think | proposed in nmy testinony that if the Hatfield
nodel were found acceptable that | could clean up this
cluster data and correct those and put the tinme and
resources into it to have sonething that we could use
going forward. But again, in the past | think the

Conmi ssion has found indeed that there were strengths
and weaknesses to both nodels that precluded it from
accepting one or the other. | don't know if we have

arrived yet at the point where you can do that.

Q In any event, our ultinmate decision is
setting prices, not adopting a nodel; is that right?

A Yes.

Q I was going to ask you about those clusters.

You descri bed what you did in the case of Aberdeen, and
no one asked you the question why did you not replicate
that exercise in other, | don't know if they were
exchanges or wire centers or what?

A That was perfornmed in the context of a
deaveragi ng proposal for Qwest that's been withdrawn
fromthe case now. There were 15 wire centers involved,
and | basically did it manually. |If you were going to
process all of the 111 or 109 wire centers that you

have, you need to develop a batch process for doing that
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and then process themall at once, which would take sonme
time and resource to do that | didn't have at the tinme |
did the Qvest wire centers.

Q But it sounds as if you agree that if you
want to make the outputs fromthe HAI nodel nore
accurate than they are, you would do that exercise for
all locations?

A Right, and | got the idea froma M nnesota
study that | read where the comm ssion or the staff or
the Departnent of Conmerce, |'mnot sure which, had
hired a consultant, a consulting firm to do just that
thing. They use it for the universal service |line
purposes. So they hired a consulting firmthat came in
and cl eaned up the clusters for all the conpanies in the
state and then used that nodel for the USF

Q Al right. Another area, you said that you
had used new i nputs for certain subjects but not for
others, and | wote down that you said you use new
i nputs for depreciation, cost of capital, price of
copper cable, and switching prices perhaps anong ot hers.
I was not clear of the elenents where you did not use an
updat e what the reason was. It was unclear to ne
whet her it was because the Commi ssion had once approved
it or because it wasn't a dollar anmpunt that needs

updati ng.
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1 A Yeah, for the former reason. The Comm ssion
2 had used themin the prior case. And again, nmy initia
3 objective was to try to use a constant set of inputs

4 across the cost nodel so that | could determ ne the

5 differences in the costs that were derived fromthe

6 nodel s as opposed to the inputs.

7 Q So your point is that if you used old out of
8 date inputs for the HAI nodel, you would al so use them
9 for the Verizon nodel, and therefore no one was

10 prej udi ced by using then?

11 A When | read the updated docunentation for the
12 HAI nodel, there were initially criticisns on -- in the
13 ol der version about switching prices for instance and
14 cable prices. And when | read the docunentation, it

15 satisfied ne that, through that and sone other sources,
16 that, with the cable prices, that those updated inputs

17 woul d be acceptable. They were acceptable to ne.

18 Q But why?

19 A In the sense --

20 Q I'"msorry.

21 A Well, on the cable price -- on the switching

22 prices it was because the FCC had accepted them and so
23 I assuned that they had | ooked at them and found themto
24 be appropriate.

25 Q Well, let ne stop, that's a good exanpl e.
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1 First of all, these prices are dollar anounts; am |l
2 right on that?

3 A Yes.

4 Q And t hen what, maybe you were asked this
5 question, but what year did the FCC accept them as

6 appropri ate?

7 A | was asked that, | ventured 1998.
8 Q Okay. Then the question | have is why is a
9 1998 price, well, still good, or why wouldn't you try to

10 update it to a new price if the FCC mi ght be out of

11 date; wouldn't you have to make that judgnent?

12 A The prices that we had used in the universa
13 service case | Dbelieve were even ol der

14 Q Right. So isn't that a problemis what I'm
15 saying. |If we're determining prices, if prices are

16 seven years old, then an average person woul d think

17 they' re probably not good anynore, shouldn't we try to
18 updat e thenf

19 A Ri ght.

20 Q And t here should be a good reason why you
21 woul dn't | woul d think.

22 A Yes. | didn't undertake to update inputs per
23 se. It was to find an acceptable set of themthat I

24 coul d use across the nodels, that | was not so nuch

25 asking the Comm ssion to accept as they were but to
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agai n make input prices constant across the nodels so
that | could look at the difference in the costs caused
by the nopdel s thensel ves.

Q So are you saying your basic inquiry was into
t he nodel s thensel ves, not the inputs, and if we -- and
that it's our job or at |east some other party's job to
updat e those inputs?

A Yes. That the decisions that you woul d nmeke
were by and large as far as | was concerned, Staff was

concerned, in the main valid.

Q Then --

A Some of themlike structure sharing, the use
of structure sharing. Owher -- | felt that it would be
on AT&T and Verizon to show us that -- where and by how

much various input prices should change.
Q Okay. So perhaps this is oversinplistic, but
are you saying that you are not in particular vouching

for the dollar amount inputs put into the nodel ?

A Yes.
Q You're mai nly focused on the nodel itself?
A Yes, we didn't undertake -- | had in past

proceedi ngs exam ned sone input prices and provided sone
testinony like in the original generic. But in this
one, the focus was on -- largely on the deaveragi ng and

a different set of issues.



1071

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Q Al right. This may be a rel ated point, but
nmy menory is so short that | don't even know what ny
notes refer to now, but at a certain point in time you
said you woul d have gone from 62 to 55, but you deci ded
"to stay with what we had".

Ri ght .
First of all, can you rem nd nme what --
Yes, that was in structure sharing update

Okay.

> o » O >

| | ooked at, considered updating the
structure sharing, not based on a new anal ysis per se
like as we had done in the first case, but based on

| ooki ng at what other states around us had done.

M nnesot a, Col orado, and Arizona all had orders come out
within a few nonths of each other back at the begi nning
of 2003, end of 2002 tinme franme, so | |ooked at what

t hose commi ssions had done. And based on those three
orders, | thought that we could make a case to increase
the structure sharing in the |lowest three density zones
from87%to 100% It seened |ike nost of the

conmi ssions were, Colorado and M nnesota at |east were
-- had used 100% in that density range. But then in the
m ddl e three density range we had |ike 62% and they were
all between 50% and 60% So there we could have cone

down to 55% and we woul d have been right in line with
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where the other states were. So they went in both
directions.

Q So why, ny question actually is why didn't
you, why did you stick with what you had and not meke
t hose changes?

A. Well, they were good too. There was nothing
to overturn, if you will, the analysis we had done
earlier on the structure sharing when we cane up with
ours. Those were still -- that was still a good
anal ysi s.

Q So in other words, you did not find the |ater
anal yses better than yours?

A Ri ght, because it wasn't analysis per se. It
was what commi ssions had deternmined after listening to
evidence that | hadn't heard and wasn't sure, you know,

I couldn't testify as to how they got to the 50%in the
m ddl e three ranges, whereas | recalled, and | didn't
recite it quite correctly this nmorning, how we had done
ours. But | knew -- | knew in ny testinmony that what we
had expl ai ned was still sound and didn't -- it didn't
need to be changed because it was sonehow wrong.

Q Okay. | just have a few foll owup questions
on your testinmony, and I think it begins in Exhibit
1060T, I'msorry, 1062, |'msorry, page 6. Sone of

these are not questions about specific testinmony, but we



1073

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

were on a certain page when you were giving answers that
prompted ny questions. This actually gets back to this
i ssue about the HAI nodel being nore efficient than the
Verizon cost nodel. And if it's nore efficient, why is
it better for the purpose of setting prices? |Is our
goal to set the nobst efficient prices, or is it our goa
to set an appropriate price? And if it's the latter

why is efficient better?

A The FCC in its various pronouncements about
TELRI C has sort of left holes in what they would all ow
or what they, you know, the way they described how
t hi ngs shoul d be or could be big enough to drive a truck
through. | nean you could -- you could be at one end
where you nodel the network al npbst as it exists today,
or at the other end where it's alnobst purely
theoretical, and they're all TELRIC. You can't say that
they're not TELRIC just because of the different
interpretati ons you can put on the pronouncenents the
FCC has made about TELRIC.

What TELRIC stands for, total elenent |ong
run i ncrenental cost, though, long run increnental cost
is an econom c concept that I"'mquite famliar with that
i nvol ves allowing all your inputs to change. |If you're
going to have the termlong run incremental cost as a

description of a cost nodel, then it seens to nme that it
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shoul d follow the precepts of what |ong run increnental
cost is about. And what that's about is a cost

m nim zation exercise in which you allow all inputs to
vary. The only thing that the FCC held constant was the
current locations of the wire centers. And then courts
have subsequently determ ned ot her aspects of what's
appropriate or not appropriate for TELRIC. And so you
have to work within all of those to be conpliant with
TELRI C.

Q Wel |, okay, but my question was, anmpbng TELRI C
conpliant prices, are the ones that are derived froma
nore efficient nodel better, i.e., nore desirable as a
matter of public policy or as a matter of fair and just
rates for this Comrission to adopt? In other words, are
you equating nmore efficient with better and nore
desirabl e?

A No, |'m equating -- cost mininmization is
anot her way of saying the nost efficient. The Iong run
cost -- the long run costing exercise is about
m ni m zing your costs, not building up deliberately nore
expensive network for reasons that aren't necessary for
the exercise that you' re doing, which is the rebuilding
of a network to serve total demand.

Q So does that nmean that you believe that the

HAI nodel produces prices that are nore efficient but
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equal ly achievable in a real sense, not theoretical ?

A | think when it comes to prices, and this is
where Dr. Bl acknmon was focusing his coments to you, we
don't agree with TELRIC in the context that TELRIC
equal s price. That was where we had our beef and woul d
do things maybe differently if we weren't constrained by
TELRIC. But under TELRIC, the price has to equa
TELRIC. Now and it's not to say that the price should
be | ower or higher | nean.

But what we had in mind was establishing |ong
run incremental cost for each UNE that would serve as a
floor and that there could be some flexibility for
conpanies to vary the price between the |ong run
i ncremental cost, not total elenent, but just the |ong
run increnental cost and the price to allow -- to give
them some flexibility in how they do that.

Now that's a two edged sword in that if
there's still an effective nonopoly out there and you
give an incunmbent that kind of pricing flexibility, then
there's potential for conpetition to be thwarted by it,
so. But if carefully done and correctly done, it's a
schenme that could work and woul d probably take sonme of
the problenms and bitterness and the fighting that we
have going on with TELRIC out of it if they had nore

flexibility.
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Q Well, | know, but I'mtrying to limt myself
to FCC- TELRI C-conpliant prices or nodels producing
prices, and I|'mtrying to understand. So far ny sense
fromyou is that HAl is better for us to use because it
assunes nore efficiency in the long run than Verizon's
nodel assunes because Verizon's nodel is nore rooted in
existing facilities or roots facilities. And if that
characterization is wong, | would like to know. But |

woul d also Iike to know why, why is it better to use

that nodel. So it's a two part question
A Right. It's staying true to the nodel's
name, long run increnmental cost. |[It's not about trying

to get the lowest prices or trying to get the cheapest
UNE's you can get. It's about econonics, the econonics
of long run incremental costing. Wich nodel | ask
nmyself is nore of a long run increnental cost nodel, and
the answer is the HAl is.

Q Okay, that seens again --

A. Its' a necessarily theoretical exercise to
calculate long run increnental cost no matter what.

Q But to ne this brings us right back to ny
very first question of you, | believe, which is it
sounds to nme as if you are saying that because HAl is
nore true to the concept of TELRIC, it's better

A Yes.
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Q Ckay. But the next question is, why is it
i mportant for us to be truer to TELRIC than not? If we
have a range of possibilities that are TELRI C conpli ant,
according to you, why should we select the one that's
truest to the theoretical concept?

A. Well, I"mtestifying as an economist in the
case, and to me that's what | would choose.
Commi ssi oners as policy nakers have other considerations
that maybe an econom st doesn't know a | ot about that it
needs to put into the mx when it nmakes its decisions,
so. And I'mnot here to tell you what that is, but
rather that as an econom st what | would choose.

Q So you' re not recomrendi ng to us what we
woul d do as a matter of policy, you're just giving your
prof essi onal opinion that as a matter of econom c theory
the HAI nodel is nore true to TELRIC than Vz?

A Well, | haven't -- | haven't exam ned a
nunber of the policy considerations that the Com ssion
would likely examine in its deliberations, but | can
tell you that there's an NPRM at the FCC on TELRIC and
that once that conmes out it's likely to change the
playing field again in terns of what is TELRIC that may
of fer us both nore gui dance on how it envisions |long run
i ncrenental cost to be cal cul at ed.

Q Al right, but ny question was, is your
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testinony limted to saying that HAl as a nodel is nore
true to TELRIC than Verizon's as distinct from saying
HAl is a better choice for us in any -- in dinmensions
other than its neasuring it by efficiency or TELRI C?

A. My recomendation is limted as an econom st.

And - -

To telling you of the two nodels, which is
the better representation of a long run increnental cost
nodel .

Q Okay, thanks. Let nme see if | have any other
guesti ons.

If you could turn to 1064, page 6. Ch, 1065,
' msorry, page 6.

A Yes, | have that.

Q I'"m | ooking at line 13, which you say, ny
statement that HM 5.3 now explicitly nodels high
capacity refers to the fact that in prior versions, |I'm
not quoting any nore, |oops were not included in the
design. When you had the discussion of this, | thought
what | heard you say is that, and that the high capacity
| oops were now part of | kind of understood rolled in to
the nodel, that is they existed in there sonewhere but
actually were not explicit. M question actually is, is
the word explicit confusing, and is inplicit a better

wor d?
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1 A No.

2 Q No?

3 A Maybe | haven't done a good job explaining
4 the history of it. 1In the original case we used the
5 actual line counts of total access lines, and for the
6 pur pose of this discussion say there were a mllion

7 access lines that the conpany had total. The HD

8 Hatfield nodel used all million Iines, and it nodel ed
9 singl e copper loops to serve all of those lines. But it
10 was known that many -- over every DS1 facility there
11 were up to 24 | oops being provided over that one fiber
12 cable or two twisted pairs for the -- that were

13 providing the DS1. And so what was happening is you
14 were getting econonies of scale or scope in your cost
15 estimates that weren't true to what -- how the network
16 was really provisioned. That is that there were fiber
17 cables and there were DS1 circuits instead of all of
18 these copper pairs.

19 So what the Commi ssion did in the origina
20 case is it determ ned through Bench requests or data
21 requests that there were only 800, 000 | oops that were
22 actually served by copper. So it took the 200,000 out
23 and ran the cost nodel with the 800,000 | oops and used
24 that cost so that it would have -- it reflected proper

25 scal e and scope econom es
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VWhat the 5.3 version of the nodel did was it
then explicitly put into the nodel DS1 and DS3 circuits
that were carrying |oops, channels, circuits, and
nodel ed the fiber, nodeled the DS1, priced out the
equi pment, put all that in so that it was truer to the
way the network works today, and then uses all mllion
| oops, 800,000 of them are on copper pairs and 200, 000
of them are running over DS1 and DS3 facilities. So
that's what | neant by explicit.

Q Okay. And are they trackable? | was having
a hard tinme foll owing what the issue was.

A Well, as | understood M. Mirphy's testinmony,
he had -- he was trying to determ ne in nodeling those
| oops, sonme of those DS1 and DS3 circuits serve private
line services for instance, and he was trying -- and so
he was trying to determne, as | understood it, how nmany
-- how the HM nodel ers had split up the total DS1 and
DS3 circuits and channel s between the services that
we're not pricing in this proceeding and the services
that we are pricing in this proceeding, and he was stil
awaiting at the tine he wote the testinony sone -- a
response to a data request in order to determine that.
But in the neantinme had -- throughout the statenent that
I was wrong in saying that it was explicitly nodel ed,

and | didn't understand why he said that. Well, and
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t hought that he had not understood what | had nmeant when
| had said that the first tinme, and that's why | put
this Q%A in here was to clarify for himthat -- what
meant when | said that.

Q Ckay, thanks.

CHAl RMOVAN SHOWALTER: Thank you, that's al
the questions | have.
BY CHAI RAMOVAN SHOWALTER:

Q Oh, wait a mnute, |I've got one nore. This
note of mne is fromlast week, so | can recall the
context even less, but | have a note to myself to ask
you whet her you agree | believe it was with Verizon's
Wi t ness on perhaps cost of capital that one should
decoupl e UNE mi nutes of use fromretail prices, that is
they' re i ndependent of one another in terns of our
setting those prices?

A Yeah, | think what that discussion was about,
the fact that retail services are flat rated, there
aren't mnutes of use, but conpanies currently charge a
m nute of use rate for access basically. And | believe
AT&T is saying, if you sell themto the retail that way,
you shoul d sell them whol esale that way. And whoever it
was that was tal king said, no, you should uncouple them

I don't know that | have an opi nion about

that. | don't think that the -- that how we do things
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retail justifies what you do in the wholesale | guess is
what | would say. But at the sanme tinme, | would just
note that the Commission has in the past endorsed the
concept of a capacity charge, which is what these flat
proposal s are all about is not explicitly charging for
m nutes of use any nore.

CHAI RWOVAN SHOMALTER: Okay, thank you.

JUDGE MACE: Conmi ssioner Henstad.

EXAMI NATI ON
BY COWM SSI ONER HEMSTAD:

Q My few questions are going to be at quite a
generic or conceptual level. You |l take it are
suggesti ng some changes to the inputs to be used in the
Hatfield nodel; that's true, isn't it?

A Changes from prior Comm ssion orders.

Q And t hose kinds of input changes are
relatively easily acconplished within the nodel ?

A Yes.

Q Are you proposing any changes to the Hatfield
nodel itself, not the inputs, but how the nodel works?

A No.

Q All right. So | take it then that the Staff
position is to accept the nodel but then tinker with the

i nputs?
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A. Partly. 1In saying that |I'm not proposing
changes in the nodel, | just want to point out that we
-- the new data clusters, the new clustering al gorithm
cane in | believe in January this year

Q Well, is that an input question, or is that a
nodel question?

A That's a nodel question, that's part of how
t he nodel operates. That is | think one of the issues
that the Commission will need to determine in this case
is the validity, if you will, of the new clustering
method. And | didn't have an opportunity in the tine it
cane in to work with those

Q All right, nowis that sonething that can be
relatively easily acconplished?

A Well, | believe that the Commission if it
wants to see for instance a different clustering nethod
used or a different size of cluster, the clusters are
new conceptually in terms of the size of the
distribution area they nodel. |f the Conm ssion doesn't
find that to be appropriate for sone reason, they could
redo the clusters, or you could revert back to the
exi sting clusters which were in the nodel before.

Q But ny question really is, assunming that the
revi sed bundl e of cluster information is desirable.

A Ri ght .
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Q Is that relatively easily acconplished as a
nodel change, or does that have other ripple effect
consequences in the nodel that would also then require

ot her kinds of changes?

A. No, | don't believe they will require other
changes.
Q And is that sonmething that the Staff, I'm

junmping to a conclusion here or an inference that no one
shoul d take as a conclusion, but to go that route, is
that something that the Staff would be able to
acconplish, or is that sonmething --

A I think we would have to have the nodel ers
redo it or TNSif the clusters were to be redone.
believe | read in Verizon testinony that the clustering
process took about 72 hours to run to create the
clusters, but that would be a one tinme thing. |It's not
sonmet hing you would do and redo and redo, so. But if
you, yeah, if you went to updated clusters of a
different say area that they would cover, then you would
ask themto redo those clusters. And once you had them
then you woul d have them and they would be good for the
future.

Q Are there other issues where there would be
the Staff would be proposing changes to the nodel

itsel f?
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A. I don't believe so. They have the nmenu for
the structure sharing, | have a distribution nodule
that's modified to do the | oop | ength adjustnents, so
I''m not aware of other areas where it would require
changes.

Q You had intimted that it was your objective
totry to get all of the inputs for either nodel to be
the sane and were not able to acconplish that. Can you
describe briefly why?

A Sure. The VzCost nodel has | think an, |
don't know if the nunber is correct, but they m ght use
four to six different sizes of poles, each of which has
a different cost, and then selects the pole depending on
the particular circunstance, and those have al
different prices, maybe $300 to $700. The HAl nodel or
the HM nodel uses one size pole, a 40 foot pole, with
one price.

Cable is another. There m ght be shiel ded
cabl e and unshi el ded cabl e and vari ous types of cable
used in a VzCost nodel for every different circunstance,
and there's only one set of cables that are used in the
HM nmodel . So when | began to | ook at how | was going to
equalize these, | quickly ran into a whole series of
probl ens about how | could nmake them equival ent sonehow.

COW SSI ONER HEMSTAD: That's all | have
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t hank you.

JUDGE MACE: Conmi ssioner Oshie.

EXAMI NATI ON
BY COMM SSI ONER OSHI E:

Q M. Spinks, you referred to | believe the
| oop I ength adjustnent as the great equalizer, and
have kind of a |ay understandi ng of what that may nean,
but I thought you could el aborate a bit as to what you
meant by that.

A Sure. Many of the issues that have been
raised in this case have to do with a nodel either not
bui | di ng enough plant or building too nuch plant. And
if you |l ook through the testinonies, you will see issue
after issue relating to that, that goes to that concern.

When we nmke a | oop | ength adjustnent though,
what we do is no matter whether it overbuilt the plant
in that wire center and underbuilt it in this wire
center, if it overbuilt it here, we reduce the cable and
cable related costs by the percentage that the | oop
I engths that were in the overbuilt wire center, they get
reconciled with the actual loop lengths. So if there
were 10% too nmuch plant in this wire center, all of the
| oop related costs are reduced by 10% If in another

wire center it only built 70% of the plant that it
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needed to build out there, then the costs in that wire
center are increased by 30%

So what the |loop | ength adjustnent does is

bring some sense of sanity, if you will, back to the
what the nodels will sometines do for various reasons is
err and err badly sonetinmes in their -- the way they

nodel plant. Bad input data or other reasons can cause
that. And so what the adjustnment does though is it
brings it all back to a single point.

Q Do both the VzCost nopdel and the HAl nodel
all ow for some adjustnent of the |oop | ength?

A Yes, they do.

Q Do you find that the adjustment nechanismin
both nodels functions equally well?

A Well, | wasn't aware of the VzCost mechanism
| don't believe that when they originally filed the
nodel that it had that mechani smand that it was
i ntroduced in January, but |I'mnot certain of how that
came about. | do know that the mechanismin the -- used
in the HAI nodel, how that operates, because | have
| ooked at that.

Q Let me change subjects and refer you to your
testi nony, Exhibit 1062.

A | have that.

Q And | will also refer you to page 11, lines 2
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t hrough 6.
A Yes.
Q And there, if | can sumarize, you state that

Staff doesn't believe that Verizon is facing effective
conpetition within its service area. You refer to
informati on presented by M. West and also | believe
Verizon responses to data requests. But | thought
perhaps you coul d explain what factors, if you will,
Staff analyzed in making its determinati on based on the
responses from Verizon and the testinony of M. West
that Verizon did not face effective conpetition in the
service area?

A Right, well, I will begin with clarifying on
M. West didn't state that they had effective
conpetition, he discussed conpetition as being serious,
ongoing, well, if you read his testinony it speaks for
itself, and | wanted to get a better handle on how
serious, if you will, the competition was. So | asked
themin a couple of several data requests for things
like how many lines they had | ost to conpetitors, and
they provided ne with several reports that they have
showi ng their access line losses. | totalled up those
access line losses and divided it by the nunber of lines
that -- by their total access lines, and that's how I

devel oped the 97%
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Q Was that total number of access lines the
real heart of the request, Staff Data Request Nunber 427

A No, the total access lines cane out of the
nodel . The heart of the data request was how many |ines
they had lost to conpetition. And | didn't cite any
nunbers, because that was all confidential, so | just
used the percentage.

Q And so then access line |oss was the primary
factor that you analyzed or was anal yzed under your
direction for you to reach an opinion that Verizon faced
no effective conpetition in its service area?

A Yes, which | believe is the -- what Staff
woul d | ook to under RCW 80.36.330, effective
conpetition, where it tal ks about effective conpetition
We woul d be | ooking to see 20% to 30% mar ket share | oss,
somewhere in there, which isn't to say that there aren't
mar ket segments that nmay have sone | osses higher than
3% it depends on the segnment you |l ook at, but in the
main, all in all | think they certainly haven't | ost
anyt hi ng near what |ike Qmest has | ost.

COW SSI ONER OSHI E: | have no further
questi ons, thank you.
JUDGE MACE: The Chai rwoman has sone

addi ti onal
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1 EXAMI NATI ON

2 BY CHAl R\OMVAN SHOWALTER:

3 Q | have sone follow up, if you could turn to
4 Exhi bit 1065T, page 5.

5 A Yes.

6 Q This is another question about cost of

7 capital, and my understanding is you take issue with

8 Dr. Vander Wide on a couple of counts, but one is his
9 use of a broad range of conpetitive conpanies that are
10 not in the telecombusiness that is a sort of generic

11 group of conpetitive conpanies, and the other was the

12 use of nmarket based val ue other than book val ue.

13 And | guess ny question is, in light of our
14 earlier exchange, | think his defense of it was, well
15 in atrue conpetitive world, i.e., a kind of a long run

16 TELRIC world, you really would have true conpetition

17 and therefore -- and therefore you nmust set your prices
18 based on that future scenario. And you are saying here,
19 but in the real world that is not Verizon's capita

20 structure, and it is not one of those conpetitive

21 conpanies. Now this to ne sounds kind of like a

22 reversal of roles where you're saying, pay attention to
23 the real world, and he's saying, but TELRIC is TELRIC.
24 So what is your answer to that?

25 A Well, he is interpreting the FCC s
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procl amations in the TRO regardi ng cost of capital as
meani ng that -- what he's done. And | think the
guestion there, the heart of that is when the FCC tal ked
about the cost of capital there, did they do that as if
t hey had never made any prior proclamtions about cost
of capital? 1In other words, is this a conplete
repl acenent of everything that went on in the past about
cost of capital, or was this in addition to what we
already do with the cost of capital, what was al ready
sai d about it.

And | guess | tend to see this as nore an
i ncrenental neasure where they were saying, oh, yeah,
al so we want you to treat the cost of capital like it's
-- like you're operating in a fully conpetitive market.
But in saying that, | didn't have the sense that they
were saying, throw out everything that you know about
the real world. | rather seen it not as an either/or
proposition but nore |ike a |ayer upon, well, you have
the real world that you have to deal with, but for
pur poses of determ ning your overall cost of capital, we
want you to consider that it's a fully conpetitive
mar ket out there. And while that may nmean some higher
cost of equity for exanple, | didn't take it to nmean you
have to take every piece of your capital structure and

make it as fully conpetitive as you can get it. | think
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that's an extreme view.

Q Wel |, as an econom st | ooking at efficiency
and TELRIC, which view, Dr. Vander Weide's or yours, on
this issue is nore true to a theoretical nodel of

conpetition?

A. I don't know that | can really weigh in on
that very well. Again, | think his interpretation is an
ultra conpetitive world that we live in. | have agreed

in nmy testinony that sonme adjustnent may be appropriate
but that you don't need to go that far to be in
conpliance with the TRO. And certainly insofar as the
capital structure goes, that to Staff seened to be an
area where we have sone concerns about use of the market
value. We think that the book value is forward | ooking,
it is -- balances, it's managed on a daily basis by the
conpany, it's adjusted accordingly to keep it safe, a
conbi nati on of a safe and efficient, and we just didn't
see the sense in going to a market based structure, so.

CHAI RWOVAN SHOWALTER:  Thank you.

JUDGE MACE: Dr. Gabel had a follow up

guestion or two.

EXAMI NATI ON
BY DR. GABEL:

Q M. Spinks, | would also Iike to follow up on



1093

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

t he questions the Conm ssioners presented to you about
mat chi ng up nunbers between the two nodels, and
specifically | would like to talk about structure
sharing. Do you -- and for the purpose of this question
I would like you to assune that within the Verizon nodel
there's only one input for the degree of structure
sharing, that it doesn't vary by density zone, okay?

A Okay.

Q And if you accept that assunption, that just
one assunption is made for the anpunt of structure
sharing for aerial cable that applies throughout the
state or one assunption about the degree to which
structure sharing applies to buried cable throughout the
state, is it possible to match your recomendati ons on
structure sharing that were adopted by the Conmi ssion in
960369 with the way in which |'m asking you to assune
t he Verizon nodel operates?

A Yeah, | think you could estimate it. Let's
see how you could do it. You could take the Hatfield
nodel results at the before and after total investnent
and before structure sharing and then investnent after
structure sharing, divide the after into the total, and
you woul d get an average percentage of sharing which you
could then use to input in the Vz nodel if it operated

t hat way.
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Q Thank you.

Next item| would |like to nove on to is after
our luncheon break | understood you to state in response
to a question fromthe Chair that you may have
m srepresented or nisstated how your sharing study was
done initially. Did | understand that to be your
testinmony this afternoon?

A Right, | was -- | was, well, | was thinking
about it over lunch, what | had said, and sonething just
wasn't clicking right that | hadn't quite figured out.
And when | got back, there was ny old testinony from
0369 and when -- and in reviewing it, then |I renenbered
exactly the way it was done, which was identifying the
range of sharing that woul d take place in any zone.

That is we have identified a nunber of providers at the
| ow and high end and then used the center point in that
range to cal cul ate the number.

Q All right.

And then a final item M. Spinks. |
understood you to state in response to a question from
the Chair that if a Conmm ssion finding was nmade in this
docket, you would like to go back and work with the
clustering data. And you nade sone reference to what
was done in Mnnesota. But then | understood you in

response to a question of Commr ssion Henstad that you
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said, well, reclustering would need to be done by TNS.
So I'm not clear about what you would want TNS to do as
opposed to what you think you could do and what needs --
what you think needs to be done. So | guess first is
what you think needs to be done, and then what is it you
feel you could do independently of what TNS woul d need
to do?

A What needs to be done is the clusters need to
be projected to see that they're properly | ocated or
not. |If they're not, they need to be adjusted
accordingly. And in my cross from Verizon, | believe it
was, the question was asked whether the DLC s woul d
still be in the right | ocation or whether sone
addi ti onal equi pnent woul d be needed, and to that |
don't know. It would depend on the degree of that the
clusters were m splaced possibly. There may be nothing
that needs to be done to them

But in response to Conmi ssioner Henstad's

guestion, what | was referring to there was the new
clusters are about a magnitude of about four tines
| arger than the older clusters, and so they're bringing
these efficiencies out of the design of the distribution
network, and nuch testinony has been subnmitted by
Verizon saying that's wong, has errors init. |If that

turns out to be the case, then if you were to use a
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nodel , you may want sone -- to have the clusters redone
to correct those errors. That would have to be done
through the 72 hour run where they redo the clusters.

Q And then just following up then on the line
of cross-exam nati on by Comm ssioner Henmstad, for this
first area, ensuring that the DLC s are properly | ocated
within a cluster, this would be work that you woul d
propose to do yourself and --

A Well, | don't have the programto do the
actual clustering with if changes have to be nmade. Now
if they don't have to be made, | can do all of the
cleanup work in ternms of deternmining if they're |ocated
properly or not, and if not, putting themin their
proper | ocation and devel opi ng the new radi al distances.

DR. GABEL: Thank you.
JUDGE MACE: Ms. Ronis.

MS. RONI'S: Yes, thank you.

CROSS- EXAMI NATI ON
BY MS. RON S:

Q M. Spinks, you testified in response to a
question from Conm ssi oner Gshie that the | oop |engths
are the great equalizer, excuse ne, your |oop length
adj ustnent is the great equalizer, correct?

A Yes, well, he was asking ne to explain what |
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meant by that.

Q But | oop |l engths aren't the only conmponent of
| oop costs; isn't that correct?

A I'"msorry, would you repeat that?

Q Loop lengths are not the only conponent of
| oop costs?

A Well, loop |l engths neasure the amunt of
cable per loop that you have put in. Wen you do the
adj ustnment, you're not just adjusting that, you're
adjusting all of the associated structure costs with it.
All of those related costs all get adjusted at the sane
time. One other thing | will point out is it's not the
only way to adjust it. Using the strand feet of cable
for instance, mi ght be a better way to performthe
adj ustnent. However you do it though, the point is you
can take the over or underbuilding that a nodel does and
largely offset the effects that -- the inaccurate
effects it would have by -- through sone reconciliation
process, be it loop points or a strand adjustnment.

Q Are you saying that your |oop length
adj ustment al so adjusted the Hatfield nodel so it
reflected the actual nunber of digital |oop carrier
termnals in Verizon's actual network?

A No.

Q What about the actual nunber of SAl's in



1098

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

Verizon's network?

A No, you wouldn't be adjusting those to their
actual s, because you wouldn't want to do that. |If you
pl aced the proper anount of terminals to provide the
service to begin with, there's no need to increase or
decrease those when you nmake this [ oop |l ength
adj ustnent, at least that |I'm aware of.

Q So when you refer to downstream investnents,
I may be mi squoting you and you can correct ne, you just
meant the cost for the cable itself, that that was
adj usted t hrough your adjustnent?

A No, the program that does the adjustnent
totals up all of the loop related costs. Al of the
costs that are distance sensitive are aggregated and
then adjusted upward or downward. So if it's distance
sensitive, it's in there. Like the nunber of poles
woul d be adjusted, so if you needed nore poles, ny
understanding that it includes that. The feet of
trenching for underground, the feet of conduit for
buried, that all of those distance sensitive investnments
are included in this adjustnent.

Q You just testified a nonent ago that at the
break you had a chance to review or when you returned
fromthe break you had a chance to revi ew your testinony

filed in the 1998 UNE proceedi ng, correct?
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A. Ri ght .

Q And t hat was provided by ne, correct?

Yes, but | had thought about it over |unch
and realized that sonething -- that | hadn't quite
explained it right, and I didn't need to look it up
because you had, so | thank you for that.

Q Now so I'"mnot clear if you're saying there
are sonme additional studies you did to support your
structure sharing, or is it just this testinony where
you picked a range?

A This testinony sumuari zes what we did.
Again, what we did was to sit down and | ook at -- this
is just a summary of the process, and | had nisstated
exactly what -- how that process had worked. But no,
there's not -- there's not sone study out there that's
not in the record.

JUDGE MACE: | think | want to ask at this
point, since it appears that you do have copies of this
testinmony and it's been referred to that we have it
mar ked as an exhi bit for purposes of identification so
t hat when we go through the record we have this
avail able to us.

M5. RONIS: Sure, | was going to do that.

JUDGE MACE: Do you have copies for the

Bench?
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M5. RONIS: Yes.

JUDGE MACE: This will be 1069, it will be a
cross exhibit M. Spinks.

M5. RONIS: So | really wasn't going to do
much nore than this, than to ask that it beconme part of
the record and al so whet her counsel could nmake part of
the record any studies that support it since
particularly in response to questions fromthe Bench we
got into a lot of details about his prior
recommendations in 1997 on structure sharing. So |I'm
still not clear if there are studies or not, but we
woul d |'i ke what ever you have supporting your testinony
to be produced. W' re not clear whether it was produced
in the 1997 proceeding or not. W couldn't find it. W
could only find this testinony.

JUDGE MACE: M. Spinks, are there studies?

THE WTNESS: No, nmm'am

JUDGE MACE: No.

MS. RONIS: | have nothing further, so
woul d just like to nove into evidence Exhibit 1069.

MS. SMTH. No objection.

JUDGE MACE: | will admt it.

Ms. Smith, did you have any redirect?

MS. SMTH. Very briefly, Your Honor.

JUDGE MACE: Go ahead.
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REDI RECT EXAMI NATI ON
BY MS. SM TH:

Q To begin with, M. Spinks, do you recall your
question and answer fromearlier this norning with
Ms. Ronis regarding the drop lengths referred to in the
Conmmi ssion's Eighth Suppl enental Order in UT-960369?

A Yes, | do.

Q Did you use the loop | engths fromthat order
in your analysis for this docket?

A They were drop lengths, and the answer is no.
| was referring to UT-980311 for drop | engths for that
input. And in that order, the Commi ssion had indicated
that it was using those but it preferred for drop length
studies to be done. And one of my first DR s to Verizon
was whether it had updated its drop length study. It
indicated it had not in response to the data request.
And that's why | continued to use the drop | engths that
were in that order.

Q There was al so a question from M. Ronis this
nor ni ng about whet her you exami ned the TNS source code,
and your answer to that question was no. Wy didn't you
do that?

A Well, as | discussed in ny rebuttal testinony

| think, one could do that as a way to see -- to
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determ ne how accurate the clusters are, but | think a
better way to do that is to after the fact to | ook at --
and a cluster defines a given geographic area, you can
survey the area covered in there and see how nany

resi dence and business custoners that you have in that
area and conpare it with what the nodel -- with what the
cluster says it says are in that area. So rather than
wor ki ng through all of the conpl ex preprocessing
programs, it seemed to ne a nmuch easier way to judge the
accuracy of the clusters would be to, on the back end,
to conmpare what cone out of it with what was actually
out there.

Q And finally, follow ng up on the Chai rwonman's
questions on the factors that distinguish the HAI nodel
fromVzCost, are there any factors other than the
assunpti ons about actual versus hypothetical route
configurations that |ead you as an econom st to
recommend the HAI nodel over VzCost?

A. I"'msorry, could you repeat that, | mssed
t hat .

Q Yeah. You had an answer in the Chairwoman's
guestions, there were a |ot of questions about the
factors that distinguish the HAl nodel from VzCost, and
t he di scussi on was surroundi ng assunpti ons about actua

versus hypothetical route configurations. And ny
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question to you, are there any other factors about the
HAI nodel that |ead you to recommend it over VzCost as
an economni st ?

A Well, | have been using the HAl nodel for a
nunmber of years, and | appreciate how easy it is to use,
its lack of being overly conplex, and the fact that it
produces a nore efficient result.

M5. SMTH: That's all | have, thank you.
JUDGE MACE: Ms. Ronis, anything else?

M5. RONI'S: No.

JUDGE MACE: Anything el se?

Yes, Dr. Gabel has a Bench request for this

Wi t ness.

EXAMI NATI ON
BY DR GABEL:

Q M. Spinks, in response to a question
regardi ng how you coul d take your density zone sharing
assunptions and reduce them down to one nunber for
aerial, buried, and underground structured, you said

that you could look for some guidance fromthe Hatfield

nodel .
A Yes.
Q Do you recall that response?
A Yes.
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1 Q Al right. As a request fromthe Bench

2 could you identify where within your workpapers that
3 i nformati on could be found and actually nake the

4 cal cul ations so we're including in your response the

5 wor ksheet nunber and the cell reference?

6 A Yes.

7 DR. GABEL: Thank you.

8 (Bench Request 8.)

9 JUDGE MACE: One last thing, Ms. Ronis, you

10 caused to have marked sone cross exhibits, actually two

11 of those | suggested be marked, and they were the prior

12 testi nony because --

13 MS. RON S: | nmentioned them

14 JUDGE MACE: -- you nentioned them And you

15 now just offered 1069, but you did not refer to the
16 other three exhibits, are you not offering those in

17 evi dence?

18 M5. RONIS: No, we do not need to offer them
19 into evidence.

20 JUDGE MACE: All right, thank you very nuch.

21 You' re excused, M. Spinks, thank you.

22 THE W TNESS: Thank you.

23 JUDGE MACE: We'Il take a break at this point

24 for 15 minutes and then go to M. Turner, who | believe

25 is our next schedul ed wi tness.
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1 M5. RONIS: | consulted with M. Kopta and
2 asked himif he wouldn't nmind if we switched M. G Ilan
3 and Chandl er around and went next to themand then to

4 M. Turner, and he said that would be fine.

5 JUDGE MACE: All right, that's what we'll do
6 t hen.

7 MS. RONI'S: Thank you.

8 (Recess taken.)

9 JUDGE MACE: Would you pl ease stand,

10 gentl enen, raise your right hands.

11 (Wtnesses Richard Chandl er and Joseph G Il an
12 were sworn.)

13 JUDGE MACE: M. Kopt a.

14 MR, KOPTA: Thank you, Your Honor.

15

16 Wher eupon,
17 Rl CHARD CHANDLER AND JOSEPH G LLAN,
18 havi ng been first duly sworn, were called as w tnesses

19 herein and were exam ned and testified as foll ows:

20

21 DI RECT EXAMI NATI ON

22 BY MR KOPTA:

23 Q M. Gllan, will you state your nane and
24 busi ness address for the record, please.

25 A (M. Gllan) Yes, Joseph Gllan, P.O Box
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541038, Ol ando, Florida 32854.

Q M. Chandl er, would you provide the sane
i nformati on for yourself, please.

A (M. Chandler) Richard Chandl er, care of HAI
Consul ting, Incorporated, 1355 South Boul der Road,
Nurmber 184, Louisville, Colorado 80027.

COW SSI ONER HEMSTAD: Can we be of f the
record for a nmonent.

(Di scussion off the record.)
BY MR. KOPTA:

Q Gentlenen, I'mgoing to ask you a series of
questions directed to both of you, and | would |ike
M. Gllan to answer first and then M. Chandl er.

Do you have before you what's been marked for
i dentification as Exhibit 801T, which is the joint
direct testinmony of Joseph G llan and Richard Chandl er,
Exhi bit 802TC, which is the confidential joint rebuttal
testinony of Joseph G llan and Richard Chandl er, and
Exhi bit 803T, which is the joint reply testinony of

Joseph G Ilan and Richard Chandl er?

A (M. Gllan) Yes.
A (M. Chandler) Yes.
Q Were those exhibits prepared by you or under

your direction and control ?

A (M. Gllan) Yes.
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A. (M. Chandl er) Yes.
Q Do you have any changes to nmake to your

testinmony at this tine?

A (M. Gllan) Yes.
A (M. Chandl er) No.
Q Woul d you identify the changes?
A (M. Gllan) Okay, | will take the fall for
this one.
JUDGE MACE: Go ahead, M. G lan.
A. (M. Gllan) It is to the joint rebutta

testimony, which | believe is 802TC on page 11, |ine 16,
Verizon's |ast round of testinony correctly pointed out
that they had not updated some usage nunbers in ARM S
since 2000. And so using the nost current nunbers from
2000 on line 16, their proposed sw tching charge would
i nstead of being $17.28 it would be $16. 05.

And again on page 12, providing essentially
t he backup information for that on |ine 10 where it says
2003, that should say 2000.

And on line 11 it should say 2,700 nmi nutes
per line instead of 2,900 m nutes per |ine.

Q And with these corrections, are the exhibits

that | have identified for you true and correct to the
best of your know edge?

A (M. Gllan) Yes.
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A. (M. Chandl er) Yes.
Q And if | asked you the sane questions that
are contained in those exhibits, would your answers

t oday be the sane?

A. (M. Gllan) Yes.
A. (M. Chandler) Yes.
Q Have you prepared a sumuary of your

testinony?

A (M. Gllan) Yes.

A (M. Chandler) Yes.

Q Woul d you pl ease provide those now.

A (M. Gllan) Ooviously given the time and the

| ateness of the day it's a very brief summary. Qur
testi nony focuses on a single issue, and that is to
propose a nore econom cally sound and cost based rate
structure for local switching. And that rate structure
woul d be a sinple price per port for the switch w thout
an additional charge for usage. The reason for this is
that the usage price in the switching is largely an
hi storical anachronism It reflects pricing
ci rcunst ances and technol ogi cal circunstances that no
| onger exi st.

The pricing circunstance was that
hi storically the tel ephone conmpany wanted to provide a

variety of services using its switch, and in order to
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justify prices in a rate of return rate base
environnent, it had to be able to cone up with a

di screet cost for each of the individual services which
gave the need -- rise to the need to allocate the cost
of the switch between different uses.

In a UNE environnent, which is what we're
tal ki ng about here, the | essor of the switch, the CLEC
that | eases capacity, does it on a per subscriber basis.
And just like the | ocal tel ephone conpany, who obtai ned
the switch w thout paying a usage rate to the
manuf acturer, the CLEC -- we're proposing that the CLEC
woul d | ease that capacity on a per port basis.

The technol ogi cal reason will be addressed by
M. Chandl er, which is fundanentally that years ago when
switches were manufactured they were limted in their
capacity to handl e usage, but that limtation with
nodern technol ogy no | onger exists, and M. Chandl er
will explain that further.

Finally, our testinony also provides you a
summary of the rates, the flat rate charges established
by other conmi ssions recently, including the Wreline
Conpetition Bureau of the FCCin a Virginia arbitration
And while we're not proposing the rate by the support by
M. Mercer, the rate of $2.81 that AT&T and MCl are

proposing fits squarely in that range of rates
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1 establ i shed around the country by the five state

2 commi ssions that have adopted this rate structure and

3 the Wreline Conpetition Bureau

4 JUDGE MACE: M. Chandl er

5 A. (M. Chandler) As M. G llan said, the

6 purpose of ny testinony is to denpnstrate that there is
7 no | onger any technical basis for usage based switching.
8 It used to be the switches woul d exhaust real tine

9 processor capacity back in the receding past. The --
10 over the years advances in processor technol ogy as wel
11 as software engi neering practices have brought us to the
12 poi nt where that's no |onger the case, that swi tches

13 these days are virtually unchall enged by the demands

14 of fered by subscri bers.

15 I will give you an exanple. Wen the 5ES

16 fromthe tinme AT&T was first commercially deployed in
17 about 20 years ago, around 1980, it had a processor

18 capacity of about 100,000 busy hour calling times, and
19 today that -- the nodern version of that sane switch
20 the one that carries busy hour today, has a processor
21 capacity of 2.5 mllion busy hour calling tinmes. And
22 ot her manufactured swi tches have seen and enjoyed
23 sim lar profound increases in capacity.
24 Al so, when a -- and again, according to

25 current practice, when a -- when a carrier orders a
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switch froma vendor, they do little nore than specify
the nunber of lines and the m x of |lines, the type of
lines and switches to serve. Then the vendor perforns
all the equipnment configure -- goes through all the
equi pment configuration steps, manufactures the switch
and ships it to the carrier. And to the extent the
vendor has to accommpdate hi gh usage |ines, the vendor
wi || adjust concentration ratios within a swtch.

And conceptually and technically this is
essentially identical to what one does when one
engi neers a digital loop carrier and, |I'msorry, an
integrated digital |oop carrier system which is a flat
rated -- is a flat rated entity as far as cost is
concerned. So ny conclusion is there is no -- there's
no technical basis whatsoever with forward | ooking
technol ogy for usage based switching | oops.

MR. KOPTA: | nove for adm ssion of Exhibits
801T, 802TC, and 803T.

JUDGE MACE: |s there any objection to the
adnmi ssion of those exhibits?

MS. RONI'S: No objection.

JUDGE MACE: Okay, | will admit them

MR. KOPTA: M. Gllan and M. Chandler are
avail abl e for cross-exani nation.

JUDGE MACE: Ms. Ronis.
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1 M5. RONI'S: Thank you.
2
3 CROSS- EXAMI NATI ON

4 BY M5. RONI S:

5 Q Good afternoon, M. GIllan and M. Chandl er,
6 Cat herine Ronis from Verizon.

7 If AT&T terminates traffic froma Verizon
8 custoner, Verizon pays AT&T reciprocal conpensation,
9 correct? Either one of you can answer this.

10 A. (M. Gllan) | believe that's the case.
11 Q And typically part of the reciprocal

12 conpensation rate is the per mnute of use either for
13 the tandem or the end office; isn't that correct? At
14 | east one part of it would be the per mnute of use

15 establi shed for |ocal service?

16 A (M. Gllan) That's generally the way it is
17 arranged in -- except in those states that have adopted
18 a bill and keep arrangenent or a zero compensation rate

19 for that traffic exchange.

20 Q So Verizon -- and in those cases where there
21 is a per mnute of use rate structure for | ocal

22 swi tching, Verizon would pay AT&T that per minute of use
23 rate for each termnating mnute of the call from

24 Verizon to the AT&T custoner, correct?

25 A (M. Gllan) Well, yes, because it's a
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reci procal obligation for every mnute that AT&T woul d
have Verizon termnate for it. AT&T would have to pay
Verizon the minute of use rate if one still exists. So
the reciprocal obligation would be that Verizon would
pay AT&T as well.
Q Correct.

Are you famliar with the fight between the
| LEC s and the CLEC s regardi ng how a CLEC serving an
| SP, Internet service provider, should be conpensated

for calls nade to that | SP?

A (M. Gllan) The one fromlike three years
ago, yes.
Q And now people call their ISP, but ISP's

typically don't call their custoners back; is that a
fair characterization?

A (M. Gllan) Yes, but that has nothing to do
with this issue, because you woul d never use unbundl ed
| ocal switching to serve an I SP. You use unbundl ed
| ocal switching to serve regular residential and smal
busi ness custoners who nake and recei ve phone calls.
The ISP issue is unrelated to the question here.

Q But we do agree that calls involving an ISP
typically only go one way, to the |SP?

A (M. Gllan) Yes, but again, it has nothing

to do with unbundled | ocal sw tching, which would never
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be used to serve an ISP

Q And during this debate, Verizon and the other
I LEC s were arguing that these types of calls, calls to
an | SP, should not be subject to the general reciproca
conpensati on schene established for |local service; is
t hat your understanding, correct?

A (M. Gllan) Yes, although | would say that
their general position was they were all in favor of a
hi gh usage rate for switching until they had to pay it,
and then they reversed their position.

Q So but AT&T was arguing and other CLEC s that
they shoul d be getting the sane reciprocal conpensation
per minute of use rate established for |ocal switching
for calls made to an ISP, correct?

A. (M. Gllan) | believe that's what they
believed the termreciprocal neant.

Q So in 2001, the FCC issued a ruling regarding
conpensation for calls made to I SP's, correct?

A. (M. Gllan) Yes.

Q And in that decision, the FCC found that ISP
bound traffic would no | onger be subject to the
reci procal conpensation rules applied to local traffic
and established a transitional program for that
conpensation; is that --

A (M. Gllan) That's ny recollection.
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Q All right. Nowlet's turn to what AT&T was
sayi ng about the per mnute of use rate structure around
the sane tinme. You state first on -- in your direct,
which is Exhibit 802, strike that, it's 801, page 13,
and on line 13 you first talk about the introduction of
the 5ES in 1982, and then you go on to tal k about the
dramatic increase in switch processor nmenory through
1998. Is that a fair characterization of what you say
on these pages?

A. (M. Chandler) Well, I will respond to that.
It doesn't specifically say processor nmenory, but yes,
generally that's what it says, that processor capacity
has increased to 2 1/2 mllion busy hour calling tines.

Q And you are referring to 1998 in particular?

JUDGE MACE: Again, you need to speak into
the m crophone. Please nmake sure that your voice stays
at an even level so that we can hear. |It's dropping
down and we can't hear what you're saying.

MR, CHANDLER: Ckay.

JUDGE MACE: And pl ease speak clearly.

MR. CHANDLER: Ckay, | will keep it right
here.

BY M5. RONI S:
Q And on line 16 on page 13, you are talKking

about the increases in 19987
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i ncr eases,
A.

on line 17

(M. Chandl er) Yes.

And your testinony doesn't tal k about any
dramatic increases since then, correct?
(M. Chandler) Well, the testinony does say
t hat :

The further inprovenents to increase the
capacity beyond 2 1/2 mllion busy hour

call --

JUDGE MACE: Again, now I'msorry, but when

you speak that quickly, it's really hard --

apol ogi ze.
A

| state:

MR, CHANDLER: Ckay.

JUDGE MACE: -- for the reporter --

MR. CHANDLER: Okay, | wll --

JUDGE MACE: -- to hear what you're saying.

MR, CHANDLER: | will speak nmore slowy,

(M. Chandler) And so once again in line 17,

Further inprovenents to increase the
capacity beyond 2 1/2 mllion busy hour
calling times were reported -- were

reported that year.

BY Ms. RON S:

Q

A

That year being 19987

(M. Chandler) That year reported 1998. And
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1 I will point out that if one goes to the Lucent web

2 site, you will see that the 5ESS processor capacity is

3 advertising 2.5 mllion busy hour calling tinmes today.

4 Q Now AT&T filed before this Comm ssion in 1998

5 a version of the Hatfield nodel that showed a traffic
6 sensitive/non-traffic sensitive split of 70% and 30%

7 are you aware of that?

8 A (M. Chandler) That's correct.
9 Q And that was filed in 1997?
10 A. (M. Chandler) That may be true, | would have

11 to check. That sounds about right.

12 Q And in the Virginia proceeding that you

13 menti oned, AT&T filed testinmony in 2001 with attaching a
14 nodel , the FCC synthesis nodel, that's also the same 70%
15 traffic sensitive, 30% non-traffic sensitive split,

16 correct?

17 A (M. Chandler) That may well be true. | have

18 no know edge of that proceeding.

19 Q Woul d you accept that subject to check?
20 A (M. Chandler) Yes.
21 Q And in that proceeding also in direct

22 testimony, AT&T's witness, a different w tness, proposed
23 a traffic sensitive/non-traffic sensitive split of
24 40% 60% woul d you accept that subject to check?

25 A (M. Chandler) Yes.
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1 Q And in that same proceeding, the Virginia
2 proceeding, in rebuttal, would you accept subject to
3 check AT&T changed its split from1l6%to 16%traffic
4 sensitive, 84%nnon-traffic sensitive?

5 A. (M. Chandler) I will accept that.

6 Q Woul d you al so accept subject to check that
7 on surrebuttal in that same proceedi ng, AT&T again

8 changed its split to 23%traffic sensitive and 77%

9 non-traffic sensitive?

10 A. (M. Chandler) I will accept that as well
11 As | said, | have no awareness of that proceeding.

12 Q But you didn't actually --

13 A (M. Gllan) | think that m scharacterizes

14 AT&T' s testinony. Although neither one of us were

15 i nvolved in that proceeding, reading the order issued by
16 the FCC, | understood AT&T's position to focus on a

17 single piece of the switch that may have sone

18 rel ati onship to busy hour mnutes, not usage, nore

19 generally. And then followed fromthat a suggestion

20 that the conm ssion consider recovering that on a usage
21 basis, and the percentages m ght have fallen out from
22 that, but | don't think it's fair to characterize it

23 fromthe perspective of the resulting allocation.

24 Q But we are in agreenent | think that the

25 overall result was the traffic sensitive/non-traffic
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1 sensitive splits | mentioned? O you can check that if
2 you will accept --

3 A (M. Gllan) | would certainly stipulate that
4 AT&T' s position has been refined over a period of tine
5 on this question, and that during the period of tine it
6 was trying to allocate the cost between traffic and

7 non-traffic sensitive. Since that was an arbitrary

8 exercise, it tended to bounce around.

9 Q Now turning to another subject, conpanies
10 hire switch engineers to determ ne how to depl oy

11 switching in their network; isn't that correct?

12 A (M. Chandler) | assunme they still do that.
13 Q And woul d you agree that one thing switch
14 engi neers do before installing a new switch is anal yze
15 expected usage in the calling patterns that they can
16 expect on that switch?

17 A (M. Chandler) To the extent they do that
18 today, it's nuch, nuch less than they did in the past
19 when switches woul d exhaust real tine capacity

20 routinely. They no |longer do that.

21 Q But you woul d agree that they still do it to
22 at | east sone extent?

23 A. (M. Chandler) | really would rather not

24 specul ate. MW -- well, go ahead.

25 Q Wul d you agree then that switch engineers in
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determ ning what to buy will consider the type of switch
to buy, the nunber of peripherals to buy, the type and
capacity of the CM s which are comuni cati on nodul es
bel i eve?

A. (M. Chandler) It depends on the switch
architecture, there are switch architectures that have

comuni cati on nodul es, yes.

Q But the --

A (M. Chandler) And that --

Q Go ahead.

A (M. Chandler) You go ahead.

Q But the switch engi neer has to consider al

these factors in determ ning what to buy and how much to
buy, correct?

A. (M. Chandler) That task these days is
| argely the providence of the switch vendor. As | said
in my summary, the typical -- the typical information
given by a carrier to a switch vendor is the nunber and
types of lines to be served, and the switch vendor
generally carries out nost of the configuration task.

Q Is the switch vendor considering usage and
calling patterns in determ ning what to give the
custonmer?

A (M. Chandler) Well, to sone extent. As |

al so nentioned in ny summary, the switch vendors will
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consider line usage, per line usage figures expressed as
traffic nunbers, typically CCS, and use those values to
adj ust concentration ratios on the switch, yes.

CHAl RMOVAN SHOWALTER: What's CCS?

MR, CHANDLER: |'m sorry, CCS stands for
seconds, call seconds, it's a typical neasure of
tel ephone traffic used primarily in the United States.

A (M. Gllan) | think we would all agree that
the switch manufacturer does design the switch so that
there's no usage consequence. They take that into
consi deration so that when they design the switch that
there is no cost effect.

JUDGE MACE: | think | would like to go back
to the CCS concept and nake sure that we have on the
record a definition of what that is. Could you discuss
that a little bit, give us a definition.

MR. CHANDLER: Sure. The standard traffic
unit as | nentioned used in the United States is again
CCS. 1 CCS is 100 seconds of usage typically during --
measured during the busy hour under whatever busy hour
definition mght be in place. But in the sinplest terns
possible, the 1 CCS represents 100 seconds or 1 nminute
40 seconds of usage during the busy hour

JUDGE MACE: Thank you.

BY M5. RONI S:
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1 Q Well, let's turn again to Exhibit 801, which
2 is your direct testinmony, page 20, lines 10 through 13,

3 and let ne read it for the record:

4 Swi t ches, like other equipnent or

5 facilities, are constructed to have a

6 certain capacity. Not surprisingly,

7 switches with greater capacity cost nore
8 on a per line basis than switches with

9 | ess capacity.

10 | read that correctly?

11 A (M. Chandler) Yes.

12 Q So you agree with ne, don't you, that

13 custoners and engi neers buy different types, different
14 sizes of switches for their network? In other words,
15 there's not just one switch out there that serves al
16 needs?

17 A (M. Chandler) That's correct.

18 Q And woul d you agree that there are

19 di fferences anong switches in things other than the
20 nunber of lines served by that switch?

21 A (M. Chandler) Can you el aborate, that's a
22 vague question

23 Q Things like different processor sizes,

24 different CM capacities, those are all different factors

25 that go into a makeup of a switch?
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A. (M. Chandler) Yes, switches will have
di fferent configurations.

Let me, as long as we're on the subject, let
me go back --

M5. RONIS: Can | object to this and have him
do it on redirect. |I'mnot sure what he's about to say,
but it doesn't sound like it's responsive to ny
questi on.

MR. KOPTA: We have given witnesses in this
proceeding a great deal of liberty to explain in
response to my questions, | would ask that nmy witnesses
have the sane liberty to explain in response to
Ms. Roni s's questions.

M5. RONIS: | guess it's the while we're on
the subject that threw ne.

JUDGE MACE: Right, it's not clear to ne that
what he was going to say was responsive to her question
And we do give witnesses sone |atitude, but he appeared
to be finished with his answer, and | think | would like
to go on to the next question at this point.

BY M5. RONI S:

Q Let's turn to Exhibit 801 again, page 4, this
is your direct testinmony, and refer you to lines 14 and
15. And there you're stating that:

The nodern switches are designed to
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reach capacity limts based on the
nunber of |ines connected to these
swi tches, not the usage through them

Did | read that correctly?

A. (M. Chandl er) Yes.
Q Now to determine the total nunber of lines to
serve by a given switch, the conpany will consider the

usage and calling patterns for each one of those |ines,

correct, in determ ning the nunber of lines to buy?

A. (M. Chandl er) No.
Q So if there's 100,000 custoners in a given
CO will a conpany always buy a switch, one switch that

has 100,000 lines to serve those custoners?
A. (M. Chandler) | would suspect that would be

the typical case, yes.

Q Do you know i f Verizon has nore than one
switch inits -- in say the mgjority of its centra
of fices?

A. (M. Chandler) | suspect it does not have

nore than one switch in nmost of its central offices.
Certainly in some wire centers there will be nultiple
switches for reasons that may have not hi ng what soever to
do with capacity.

Q In other words nothing to do with the usage

that they expect on each particular |ine?
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A. (M. Chandler) That's correct.

Q Do you agree with me that a switch serving
28,000 lines could have nore capacity, or strike that,
nore usage than a switch serving 100,000 |ines, nore
usage runni ng through that switch?

A. (M. Chandler) Do you want to tal k about
usage in terns of holding tinme, busy hour call attenpts,
feature activations, what's your neasure of usage here
so | can answer your question?

Q Call attenpts and call hol ding peri ods.

A (M. Chandler) Onh, it's very unlikely. It
could certainly happen nmathenmatically, but | suspect
that that woul d be a pathol ogi cal case.

Q Wel |, you nentioned features, would higher
feature usage cause nore call processing tine and nore
processor occupancy?

A (M. Chandler) Yes, a processor has to do
nmore work to process features than if it doesn't process
features. But the point is that processor capacity is
so large in forward | ooki ng switches that even feature
activation does not exhaust real time. Mnufacturers
make a point of this when they advertise their swtches.
One can consult any of several Wb sites where
manuf acturers tout the increased capacities, both

traffic and real tinme, of their switches as greatly
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1 reducing the tasks one has to go through in sizing the
2 switch for commercial deployment. It just nakes it

3 easi er.

4 Q Do you agree that the length of a call or
5 call length has an inpact on usage?

6 A. (M. Chandl er) No.

7 Q Woul d you agree that the quantity of cal

8 attenpts have an effect on usage?

9 A (M. Chandler) What do you nean has an effect
10 on usage-?

11 Q That it uses nobre processor capacity and nore
12 switch fabric as | think you referred to.

13 A (M. Chandler) Call attenpts have no effect
14 on switch fabric. Switch fabric is not an issue.

15 Hi storically and currently switches just essentially

16 never exhaust switch fabric capacity, traffic capacity.
17 Q So is it fair to say that the bottomline is
18 that you believe a flat rate switching structure is

19 appropriate because vendors now offer | arge swtches

20 that can account for all possible anticipated usage in
21 that central office?

22 A (M. Chandler) I wouldn't phrase the

23 statenent that way. You said |large switches. They will
24 provi de switches with significant excess capacity to

25 handl e anti ci pated usage, yes.
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A. (M. Gllan) And that is one of the reasons
why we're making this recommendation. | nean the
reality here is that Verizon does not pay for these
switches on a per minute of use basis. The check you
write the manufacturer doesn't go up or go down based on
the calling pattern of custonmers that you're serving.
The CLEC s are conpeting with Verizon for that sanme
group of custoners. |In order for the CLEC s to have a
nondi scrimnatory rate structure and for you to be
fairly conpensated, it's inportant that the CLEC
conpensate you in a manner that's conparable to the way
you have incurred the cost and paid the manufacturer

There is no degradation in value of the
switch as calling goes up and down. | nean if you go
buy used switching, they don't give you a discount
because it has high usage and it was used -- it wasn't
used much on Mdther's Day, we'll give you a good price.
That's not how switches are priced, so the primry
reason we're reconmending this rate structure is that it
is more cost based and nore closely tracks how the --
how you al so incur the cash cost for these switches than
the current rate structure.

Q But you do agree that Verizon pays nore for a
larger switch that its designed to account for |arger

usage than a snmaller switch that they have designed to
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account for |ower usage?

A (M. Gllan) And if that's true, the CLEC s
woul d conpensate you nore for capacity in that switch
than in a less costly switch. Your cost recovery is
nmore -- tracks nore closely the way that you have
i ncurred the cost.

A (M. Chandler) and by the sane token, the
ILEC will spend nmore for a DLC system that serves high
traffic users than it does for a DLC system serving the
same nunber of relatively | ower usage custoners.

Q So if the vendors decided to stop offering
the larger capacities and rolling it up into one price
and instead started pricing things in smaller increnents
t hat Verizon would have to then update and purchase as
usage exhausted, then your position would change?

A (M. Gllan) Wll, if the vendors decided to
make their product |ess useful to you and nore
expensi ve, then we woul d expect that there would be a
cost proceedi ng where those consequences woul d be
addressed. But as a practical matter, you know, let's
be real here, switch vendors are not going to be making
-- are not going to try and inpose on you a rate
structure where you pay them based on the m nutes of use
t hrough these switches because you would not tolerate

it. And quite frankly, we can't tolerate it, CLEC s can
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not tolerate it either. It's not the way swtching
costs are incurred.

Q But do you agree with nme then that your
argunment boils down to the fact that the vendors have
decided to offer their product one way versus anot her
way ?

A (M. Gllan) | don't know if | would say that
it boils down to, but if a vendor is willing to sell you
sonmething a certain way, then there's no reason for you
to try and peek behind their pricing to figure out what
their reasoning was. You don't do that for any other
input to the network. You don't -- when you put -- plug
into the cost of your tel ephone poles, if the vendor
decides to sell it to you on a $10 per pole basis, you
plug into the nodel $10 per pole. You don't sit there
and try and find out, well, why did the vendor charge ne
$10 per pole, shouldn't he have charged ne $4 per pole
plus $6 per inch plus, you know, $3 for water content
because that's the way his cost structure is and then
try and build that into your cost nodel. You just | ook
at the way the vendor sells it to you, and that's al
that this proposal is. There's no usage rate in what
you pay the vendor, we don't want to pay you a usage
rate when we can nore accurately conpensate you by

paying a flat rate per port.
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Q Let's put aside for a m nute whet her
switching costs are traffic sensitive or non-traffic
sensitive and just assunme there's a fixed bucket of
costs. So is it your position that a CLEC that uses
nore of those resources should pay exactly the sane as a
CLEC that uses less as a matter of rate structure?

A (M. Gllan) Yes, because that is the way the

costs are incurred.

Q And so --
A. (M. Gllan) All we are doing here is --
first of all, the switch is designed -- the switch is

serving a group of custoners. The issue when you set
the price for unbundled |ocal switching is that before
the ILEC was the only carrier in that switch providing
service to those custoners. Now we're going to have a
world where there is nore than just the ILEC s, so we
have to apportion the cost of that switch across the
carriers that are using it, and the nmost fair way to do
it is the way the costs are incurred for -- by the ILEC
with the manufacturer, which is on a flat rate basis.

Q So just so | understand, so assune we have
just a fixed bucket of costs and we're trying to figure
out the best way, the npst reasonable way to allocate
those anmong all the different users, you just disagree

that it would nake sense for a CLEC using nore of that
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resource to pay nore?

A (M. Gllan) There was no additional cost
incurred. To charge themnore is to inply that there
was a justification to charge them nore, and part of our
testinony is there is no such justification.

MS. RONIS: | have nothing further.
JUDGE MACE: Dr. Gabel.
CHAI RMOVAN SHOWALTER:  Can | just follow, |

would like to just follow up on this very point.

EXAMI NATI ON

BY CHAI RAMOVAN SHOWALTER:

Q My first question is, why is it relevant at
all one way or the other what or why the vendor sets a
price? Fromthe vendor to Verizon is a unit price, aml
right, a switch; is that correct?

A (M. Gllan) It ultimtely boils down to a
unit price, but the price --

Q Okay, but is that correct that there's a
unit, just a switch costs an absolute dollar anount?

A (M. Chandler) Yes, the switch -- yes.

Q Al'l right. Now the vendor isn't allocating
the cost of the switch fromthe vendor to Verizon based
on lines, mnutes, or anything else, is he, it?

A (M. Gllan) Depending on how -- dependi ng on
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how the switch is configured, the price that the
manuf acturer quotes to the ILEC may vary. | think

that's a fair statenent.

Di ck.
A. (M. Chandler) Yes, | think it is.
Q As from Verizon to a custoner, whether it be

a retail customer or a whol esale custoner, isn't the
guestion what is the nost appropriate neasurenent to use
for allocating the unit cost that Verizon incurs, which
could be mnutes or could be lines, maybe there's sone
ot her possibilities?

A (M. Gllan) Yes, with the follow ng caveat.
I think it's inportant that whatever neasure you use to
charge the whol esal e custoner it have cost
characteristics as close as possible to what the actua
cash price for that switch is that Verizon incurs. For
i nstance, usage is a bad proxy, is a bad mechani sm for
anong ot her reasons say from19 -- | think it's 1990 to
about 2000, that ten year period, the usage per line
roughly alnost tripples. In fact, fromthe time -- for
the usage that's in their cost study to the usage that
their ARM S data shows for 2000, it's gone up from about
2,000 mnutes per line to 2,700 m nutes per line. |If
you try to recover that price on usage, you have

revenues increase into Verizon even though there's
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really no change in their cost structure whatsoever.
Conversely, if they collapse, their cost structure
doesn't change either, whereas lines are a nuch nore
st abl e base.

Q Al right, but aren't you just saying that
when Verizon is trying to nake a decision of how many
switches it needs or what kind of switches it needs for
what ever reason, whether to serve its own custoners or
CLEC s, that lines are nore relevant to that decision
than m nutes of use; is that what you're saying?

A (M. Gllan) Yes, in very sinple terns, yes.

Q Al right. So | guess it seens to ne that
it's not because Verizon's relationship with the vendor
is based on lines, it's not, the vendor just has a price
for whatever it is. The issue is how do we take
Verizon's cost and allocate it out fairly to both CLEC s
and Verizon, and there's where you're arguing that |ines
are a better measure than minutes; is that correct?

A. (M. Gllan) Yes, although | would point --
one of the points that M. Chandl er nade earlier on was
that as a practical matter when they sit down to order
the switch, they're telling the vendor -- the primary --
the primary variable they're telling the vendor they
want themto design around is these are the |ines that

we're going to expect on the switch. So it's not just
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that we think it's a better allocater, it's also the
pri mary design vari abl e.

Q Al right. So then one way to think about
this | think is what's the limting factor when you go
to buy a switch? 1Is the limting factor how many
mnutes it's going to serve, or is the limting factor
or largest factor |ines, or naybe there's sonme other
things? Are you saying that |lines are vastly nore

i mportant than mnutes, so therefore we should only use

t hen®?

A (M. Chandler) Yes.

Q Now what about this idea of allocation where
you say, well, when you | ook at what goes into the

pricing, there's an el ement of usage based linting
factor so we should count it for so much, and then the
ot her proportion is lines, are you saying that's not
accurate because the minutes of use if it's relevant at
all is so small?

A. (M. Gllan) There would be two reasons that
I would say you wouldn't use it. First is that to the
extent that you are | ooking at usage, you're not | ooking
at usage generally. There's a particular point in tine
that the usage is relevant, at the busy hour. Usage in
every other hour is conpletely irrelevant to that design

paranmeter. So even if you were to think about using a
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usage construct, it wouldn't be usage generally, it
woul d be busy hour usage, which nobody really has a
systemin place to accurately bill

And there is -- it is a msstatenent to try
and correlate and say, well, since busy hour usage may
have sone inpact, then if | take costs and just spread
it over all minutes | have done sonething correctly.
Really all you have done is msprice 23 hours of the
day, or actually you have m spriced all 24, you are
overpricing 23, you are underpricing 1, and you have
really just nmade a -- you've nmade a bigger mess than you
started with. That said, even then | think the anmpunt
of cost influenced by the busy hour is so small it isn't
a bogey worth chasing.

Q Now you do agree though that you have to
design the system for peak usage; is that correct?

A. (M. Gllan) In essence though everything in
the tel ephone industry has to be designed for peak
usage.

Q Now in the world of electricity, you know,
you throw on a plant at peak tine, and so you can
actually see that peak hours cost nore than other hours.
And you al so have the ability if you want to, although
it's nore difficult in electricity, to charge nore for

that time. |If, as a theoretical matter, not a practica
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matter now, if -- does it make econoni c sense barring
what ever transactional costs are involved to charge
custoners, whether whol esale or retail, peak hour rates?
A (M. Gllan) No, I wouldn't say so for --
there's a real difference between this and electricity,
and you touched on it. In electricity, as the peak hour
approaches, nore capacity cones on line, right. So
there is a cost consequence at that peak on a going

forward basis that you're trying to tell consuners

about .

In this instance, you design a switch for the
peak ahead of tinme, and so long as -- and as Dick, as
M. Chandler put in -- explained in the testinony, so

Il ong as the usage is al ways bel ow that design criteria,
you' re not bunping up against that top at all, and you
can't like bring that capacity on line only during the
peak period to serve it. \What we have instead is a
group of custonmers now being served by different
carriers. | nmean it's the sanme group of custoners, and
what ever their peak |oad characteristics were, was

i ndi vidually before when they were all served by
Verizon, is now still the same characteristic when
they're served -- collectively when they're served by

t hese individual conpanies.

So by each individual CLEC paying for the
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peak by -- in proportion to the nunber of lines it has
on the switch, you probably have the best estinmte of
each CLEC s proportional responsibility for that peak
that you could have anyway. So you don't have the sane
problemin electricity, you don't have the same cost
consequences kicking in.

Q So you would say that a switch is nore |ike a
transmission line, it's just there but it had better be
abl e to acconmodat e peak?

A. (M. Gllan) Yes, to put it into the electric
nmet aphor, that would be true.

Q No, I won't get into that, because we're not
in an electricity proceeding, but of course it is highly
debat abl e whet her you shoul d have sone ki nd of narket
pricing of transmission in order to allocate it.

A (M. Gllan) W don't have scarcity here
though. | nean if there's one thing that we knowis
t hey got enough switching capacity. They're not bunping
against the limts, and it's the one place that's rea
different than electricity. You don't have a scarcity
problemthat you're trying to send price signals to
maybe shift a peak or change people's behavior. That's
not the issue here. It's really a question of what
shoul d you pay for that fixed piece of investnent or

what is the best and quite frankly the sinplest way to
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go about charging for it.

Q Al right. 1Is a summry of your comments
that minutes of use is either indirectly or in a mnor
way or theoretically relevant to total peak use, but
that lines are --

A. (M. Gllan) To conplete that --

Q -- vastly nore relevant to figuring out a
fair way to allocate?

A (M. Gllan) Yes, and on the -- and on the
peak point | would say that lines are just as good, if
not better, a predictor of what the peak demand woul d be
of any CLEC s individual, you know, group of custoners
as just mnutes of use throughout a nonth woul d be.
There's no reason to believe that mnutes of use
t hroughout a nonth gives you any better predictive
ability as to what the peak responsibility of that group
of customers would be versus using lines. And we sure
know that |ines are both sinpler to bill, and they don't
carry with theminto the retail nmarketplace the sane
distortionary effects.

I think M. Spinks earlier said that we were
asking for this by justifying it by the fact that retai
rates are flat rate. W're not asking for that as a
justification, but we are pointing out that there's an

enor nous downstream consequence to CLEC s paying for
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t hese switches on usage when the | LEC doesn't incur that
cost in a world where retail customers denmand flat rates
and are becoming with every passing day with conpetition
nore flat rate oriented. Tinme and distance are really
goi ng away in tel ecommunication rate structures, both
retail and they should be going away i n whol esal e,
because the world is just a lot less tinme and di stance
sensitive

Q In the exanpl e say of a CLEC who has a retai
custonmer who is using a line, one line for voice and DSL
and say leaving the DSL on all the tine and there are
lots of minutes of Internet use happening over it. |If

that is happening with great frequency or --

A. (M. Gllan) That actually --

Q -- in the CLEC world, is it your viewthat
still line is a fair way to allocate the switch?

A (M. Gllan) Yes, because if you think about

it fromthe network, in the exanple of the DSL |ine,

that Internet traffic is taken off before it gets to the
switch. That traffic never goes through the switch. So
the DSL exanple really has no bearing here. Wat you
have are lines that are connected to the switch to
provide dial tone to the customer, features, and voice
call routing. It's not -- it has nothing to do with

custoners that get Internet service, and it has
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absol utely not hi ng what soever to do with this question
about Internet service providers having a | ot of

reci procal conpensation mnutes conmng to them because
that's not the custoners that you use unbundl ed | oca
switching to serve

Q Al right, and if | did the sane exanpl e but
| did not -- if |I were not tal king about DSL but | was
tal ki ng about dial up, sonmebody who uses one line for a
ot of dial up, is your answer the same?

A. (M. Gllan) Yes, because the reality is that
the fraction of custonmers that are still on dial up, the
switches are accommopdating that |evel of traffic, and it
seriously penalizes a CLEC from serving a custonmer who
uses dial up because they're paying for each individua
mnute to go through that switch when Verizon doesn't
face that sane cost, kind of cost penalty. So CLEC s
woul d be forced to ultimately nmove away from serving any
ki nd of custoner with dial up even though there's really
no cost justification for the CLEC not to serve them
The switch can handle it, there's no additional cost
consequence to Verizon, Verizon is fairly conpensated,
the CLEC is paying a fair rate. |If the custoner wants
to use dial up in that situation, their decision to use
a CLEC versus Verizon shouldn't be inpacted.

CHAl RWOVAN SHOWALTER:  Thanks.
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JUDGE MACE: Dr. Gabel

EXAMI NATI ON
BY DR GABEL:
Q M. Gllan, I would like to begin by just
asking you to confirm you were in the roomtoday when
there was a di scussion about |ong run costing

met hodol ogy; is that correct?

A (M. Gllan) Yes.
Q Al right. And do I understand your response
to the questions fromthe Chair is that, well, the

capacity is in place, and therefore when there is
addi ti onal usage by a tel econmuni cati ons conpany,

there's no additional cost incurred; was that your
testi mony?

A (M. Gllan) That would be part of it, but
maybe junpi ng ahead to your question, even in the |ong
run if you were expecting additional usage in the
future, the consequence woul d be perhaps a, nost |ikely,
a higher per line cost fromthe nmanufacturer, and so the
long run pricing principle would be satisfied by
reflecting today the higher per line price. It wouldn't
say you go and change the rate structure. Just say if
there is a long run cost consequence in the formthat

woul d be achi eved, you reflect it in the price today.
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As a practical matter, we don't live in that
wor |l d, because there is -- | think there is substantia
capacity in existing switches, people are noving away
fromvoi ce networks onto data networks, and the price
we're establishing here is for a very inportant el enent
in a world where people buy POTS service, but it is a
decaying part of the market. | nean it's stil
what ever, 90% today and it will be 80% next year and
it's going to take a long tine for the POTS marketpl ace
to not be comercially significant, but it's not a
situation where we're going to see growi ng demand over
any foreseeabl e wi ndow here.

Q As a matter of nethodol ogy, putting aside the
mechani cs, as a matter of nethodol ogy, when the
Conmi ssion sets rates to reflect long run costs, should
t he net hodol ogy be assumi ng that certain things already
exi st and then base pricing decisions based upon what
al ready exists, or should the nethodol ogy be, well, we
have a clean slate, nowlet's identify the drivers that
result in costs that would be incurred by a firmthat
starts with a clean slate?

A (M. Gllan) It's the latter, but in that
world it would still be a flat rate price per |ine.
Just it would affect the level of that price per line.

Q Al right, then let's turn to that topic. |Is
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it your representation that what Verizon pays is, to its
switch vendors, a rate per line; is that the nature of
the contract, or is the nature of the contract dependent
upon what equi pnent is needed on the switching machi ne?

A. (M. Gllan) I have not directly |ooked at
the Verizon contracts in this state. Every other
contract | have | ooked at is predoninantly per |ine, and
then there would be sone additional charges for like a
trunk port or sone other equipment, but the driver is
the per line price. At notinme, at notine is there a
usage charge.

Q We had in this case marked as Exhibit 303 and
304 Verizon's response to AT&T Request 6.143. This is
where Verizon provided its support for how it cal cul ated
the discount it receives relative to the retail price
for equi pment on a switching machine. Did you review
that data response?

A (M. Gllan) Not with so nuch specificity
that | can renenmber whether that was the nunber. W
| ooked at a nunber of data responses, and M. Chandl er
| ooked at sonme as well independently.

Yes, we | ooked at this at least in summary

fashi on.

Q And is there anything in that response to

i ndicate that Verizon's paynent is either on a per port
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basis or alternatively there's a different price for
each piece of equipment on a switching machine that it
acquires fromits vendors? And it may -- if you | ook at
the cover response and the precedi ng page too.

A. (M. Gllan) This would appear to be the
price list of a variety of different pieces of
equi pnent .

Q Woul d t hat suggest to you that Verizon's
contract is not on a per |ine basis?

A. (M. Gllan) No, not necessarily. | would
have -- my coment was that when you | ooked at the tota
cost, what was the driver, it was predom nantly per
line, not that there weren't other things that they got
charged i ndependently for. But again, nowhere do you
see anything that's an ongoing recurring usage type cost
structure.

Q When you say predom nantly, what does -- does
predom nantly mean that it's the plurality and that it's
20% does it mean that it's 70 And if it is the
latter -- well, | will just stop there.

A (M. Gllan) I'mbasing this after -- basing
this on the review of other contracts, not this invoice.
What this appears to be | guess is an invoice list nore
than anything else. And other than conveying to you

that it's predominantly -- and |I'musing that term
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because it was a term picked up by the Illinois

Commi ssion, which was the first commi ssion to issue a

flat -- to order flat rate pricing. | don't know how
much nore detail | can go into wi thout violating the
ternms of the proprietary agreement in Illinois that

allowed nme to review the contracts, so I'mtrying to use
the ternms that they disclosed publicly.

A (M. Chandler) the docunments | reviewed in
t he docunment production on switching that we got from
Verizon in this docket typically showed that Lucent, for
exanple, would say, we will sell you these 5ESS switches
for these -- for the following wire centers to serve the
listed nunber of lines at a price. There's no nention
of usage what soever.

Q But when that, in your exanple when Lucent
states that it's going to sell a switch for a certain
anount of noney, that could be a sum of the conponents
t hat appear on this sheet, couldn't it, and it would not
necessarily suggest that Verizon's contract is on a per
line basis?

O let ne just be nore specific. 1s there
any evidence that you can cite that Verizon Washi ngton
is buying switches on a per |ine basis as opposed to a
per piece of equi pnment basis as opposed to, for exanple,

payi ng $50,000 for a digital trunk controller and $40
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for a line card?

A (M. Gllan) No, the only unequivoca
statement | can nake is that they never pay for it on a
usage basis.

Q Al right, now that was just to make sure
that | understand.

Moving on to another area, in Exhibit 801TC,
this is your testinony of June 26, at page 18 to 25, you
have an extensive testinony of Qaest and Quest
representations. Was this evidence regardi ng Quest
i ntroduced because of your anticipation that Qwest woul d
be part of this proceeding? |'mjust curious why you're
referring to Qmest here.

A. (M. Gllan) Because of this testinony was
filed |l ast year, and ny understandi ng was |ast year this
case involved both Qnest and Veri zon.

JUDGE MACE: | believe the issues regarding
Qnest were not renoved until sonetine in |ate 2003.

Q And then finally | would |like to turn to the
cross exhibits that were | guess first Cross Exhibit
10- 43.

JUDGE MACE: | don't think that Ms. Ronis
referred to themat all, and it's not clear to nme you're
going to offer themeither at this point, but they were

mar ked 804C, and they included several responses to
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Veri zon data requests, one of them being 10-43.
M5. RONIS: | do intend to offer those
exhi bits.
JUDGE MACE: All right, do the wi tnesses have
copi es of those?
MR. G LLAN.  Yes.
MR. CHANDLER: Yes.
DR. GABEL: Actually, let ne begin with Cross
Exhi bit 10-68, |I'msorry.
CHAI RWOVAN SHOWALTER:  Page 7.
DR GABEL: Yes, page 7.
BY DR. GABEL:
Q At page 7 you're discussing how you
determ ned Verizon's switching cost to be different than
you have seen in other jurisdictions, and in response to
this request you provide support at Data Request 10-43;
is that correct?
A (M. Chandler) | believe that's correct,
yes.
Q Now turning to 10-43 and al so having in nind
10- 68, when you're naking this comparison, are you
conmparing installed, furnished, and equi pped prices with
i nstall ed, furnished, and equi pped prices, or are you
conparing -- or what assurance can you provide for the

record that you're doing an apples to apples conparison
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here?

A (M. Chandler) As | recall, and | don't have
all the surrounding pages, in the response to 10-43 that
these were installed, furnished, and equi pped, subject
to check.

A. (M. Gllan) As sort of further evidentiary
background of that, if you conpare the rate that is
bei ng proposed principally by M. Mercer to the rates
established by the other state comm ssions and the
Wreline Conpetition Bureau, which is in | guess the
| ast round of testinobny, you see that they fall in a
pretty narrow range to begin with, and the rate that
we're proposing falls | think exactly at the md point
of that range. Although, you know, that wasn't how it
was cal culated, it was just | went back and conpared it
to these other rates for additional validation.

Q Okay.

Lastly at page 8 you refer to Exhibit 10-69,
and here you refer to Teresa MIlion's show ng actua
Qnwest switching purchases for Arizona at, and this is
not confidential apparently, $55 per line. Do you know
if Ms. MIlion then included additional investnments for
sof tware purchases?

A (M. Chandler) Not in the exhibit I saw |

don't know that she -- | don't know that she did or
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didn't.

Q Do you know when you're draw ng a conpari son
between the Verizon nunber that you referred to at 10.68
and the nunbers that you represent for these other
states, do those other state nunbers include all of the
software that would be included in the nunber produced
by the Verizon nodel such as a software right to use
fee?

A (M. Gllan) The rates in the other states
were the |lock, stock, and barrel price, so they would
have included all the right to use fees and all the
ot her costs associated with |ocal switching. Now that
isn't to say that the ILEC woul d agree with that
statenent, but it's the finding of those state
conmi ssions and the Wreline Conpetition Bureau, and
don't actually believe that the rate |l evel was really
that big a dispute in those states.

Q Okay. And, M. G llan, your representation
applies equally to Arizona?

A (M. Gllan) No, only to the rates adopted by
the state comm ssions.

DR. GABEL: All right, thank you.
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EXAMI NATI ON
BY CHAl R\OMVAN SHOWALTER:
Q That was going to be ny foll ow up question
You naned five states plus the Wreline Conpetition

Bureau, and the five states are M nnesota, Utah,

[Ilinois --
A (M. Gllan) Indiana and W sconsin.
Q Ri ght, and are there any states since the

I1linois decision that have adopted a per m nute
structure?

A (M. Gllan) Yes, yes, only knowi ng states |
was directly involved in would have been Texas and Ohio
and Arizona.

Q Where the Conm ssions did adopt sone kind of

price at |east based on part on m nutes of use?

A (M. Gllan) Yes.
Q Okay.
A (M. Gllan) And let nme nmake -- these are

the states that |'maware were confronted with a choice
of having a flat rate versus including a usage rate.
And, you know, |ike everything else you never bat 1, 000.
There were five state conmm ssions that adopted it plus
the Wreline Conpetition Bureau. You would be the first
state to | think address this issue since the Virginia

arbitration deci sion cane out, because one of the
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1 argunents that had historically been made in the state

2 proceedi ngs was that the FCC rules don't allowit, and

3 t hat argunment of course can no |onger be valid given the

4 Wreline Conpetition Bureau adopting a $5 rate

5 structure.

6 Q But only at the Wreline Conpetition Bureau

7 I evel, not the FCC level; is that issue on appeal to the

8 whol e FCC?

9 A (M. Gllan) | think so, but to tell you the
10 truth, | don't really know. | -- ny understanding is --
11 nmy wal ki ng around understanding is that that's a settled
12 i ssue. Now that doesn't nmean that there isn't a
13 procedural step open, but there's -- to ny know edge,

14 have not heard of any real novenent in that issue.

15 CHAI RWOVAN SHOWALTER:  Thank you.
16 JUDGE MACE: Conmi ssioner Henstad.
17 COWM SSI ONER HEMSTAD: | don't have any ot her

18 qguesti ons.
19 JUDGE MACE: Commi ssioner Oshie.
20 COW SSIONER OSHIE:  And | don't have any

21 gquestions of the panel, thank you.

22 JUDGE MACE: Ms. Ronis.
23 M5. RONI'S: No nobre questions.
24 JUDGE MACE: M. Kopt a.

25 MR, KOPTA: | have no redirect, thank you.
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JUDGE MACE: And does Verizon offer that
Cross Exhibit 804C?

M5. RONIS: Yes, we would like to nove that
into evidence.

JUDGE MACE: |s there any objection to the
admi ssion of that exhibit?

MR. KOPTA: No objection.

JUDGE MACE: Thank you, gentlenmen, you're
excused.

(Recess taken.)

(Wtness STEVEN E. TURNER was sworn.)

JUDGE MACE: All right, please be seated.

Before we actually begin with the w tness, |
thi nk we have two new attorneys on board who have to
i ntroduce thenselves at this point intine. |[If you
woul d begin, please, M. Richardson.

MR. RICHARDSON: Bill Richardson from W I mer
Cutler Pickering Hale & Dorr, LLP.

MS. STEELE: And Mary Steele, Davis, Wight,
Tremai ne, representing AT&T in this proceeding.

JUDGE MACE: Thank you.

Are you ready to present M. Turner?

MS. STEELE: | am Your Honor, yes.

JUDGE MACE: Go ahead.
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1 Wher eupon,

2 STEVEN E. TURNER,

3 havi ng been first duly sworn, was called as a wtness

4 herein and was exani ned and testified as foll ows:

6 DI RECT EXAMI NATI ON

7 BY MS. STEELE

8 Q M. Turner, will you state your full name and
9 your business address for the record, please.

10 A. Steven E. Turner, and ny business address is
11 Kal eo, which is K-A-L-E-O, Consulting.

12 JUDGE MACE: | think you need to put your

13 m crophone on. It's on when the button is raised.

14 There you are.

15 THE W TNESS: Thank you.
16 JUDGE MACE: And speak right into it.
17 A And my address is 2031 Cold Leaf Parkway,

18 Cant on, Ceorgia 30114.

19 BY MS. STEELE:

20 Q And on whose behal f are you presenting
21 testi mony here today?

22 A I"mtestifying on behalf of AT&T

23 Conmuni cati ons of the Pacific Northwest, Inc.

24 Q Do you have in front of you Exhibit 751,

25 which is your rebuttal testinmony, as well as Exhibits
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752, 753, 754, 755, 756, and 757, which are exhibits to
that testinony?
A Yes, | do.
Q And was this testinmony prepared by you or
under your direction?
A Yes, it was.
Q Do you have any corrections to neke to the
testinony?
A Just one on page 30, line 1, the nunber
1.1144 should be changed to 1.1695.
JUDGE MACE: | need to have you repeat that,
i f you woul d.
THE W TNESS: The nunber on line 1, page 30,
shoul d be changed from 1.1144 to 1.1695.
JUDGE MACE: Thank you.
BY MS. STEELE:
Q And if you were asked the questions that are
in your testinony today, would your answers be the sanme?
A. Yes, they woul d.
MS. STEELE: | would like to nmove for the
adm ssion of Exhibits 751 through 757.
MR. RI CHARDSON: No obj ecti on.
JUDGE MACE: |'msorry?
MS. STEELE: | just noved for the adm ssion

of Exhibits 751 through 757.
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1 JUDGE MACE: Any objection to the adm ssion
2 of those proposed exhi bits?

3 MR. RI CHARDSON: No obj ecti on.

4 JUDGE MACE: | want to indicate for the

5 record that 751, 753, 754, 755, and 756 have a

6 designation Cindicating they're confidential. |'m

7 assum ng that that conmports with your designation

8 MS. STEELE: Yes, it does.

9 JUDGE MACE: | will admt those exhibits.

10 BY MS. STEELE:

11 Q M. Turner, do you have a brief sunmary of
12 your testinony to give?

13 A Yes, | do.

14 JUDGE MACE: M. Turner, | will give you a 30
15 second warning if you get to that point.

16 THE W TNESS: Thank you.

17 A Good afternoon. The testinony | provided
18 addresses the specific issues that | found related to
19 the VzCost and VzLoop cost nmodels. The focus of ny

20 attention, as nmy testinony spells out though, is related
21 to the VzLoop nodel, which produces the investnents for
22 the loops in Verizon's cost filing that they have made
23 here. Wth respect to VzLoop, | found three main

24 probl enms that | address.

25 First was related to the materi al and
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pl acenment costs that Verizon used. These are inputs
into their nodel. | do not change all of these val ues.
What | tried to do is to |line up the values that were in
Verizon's filing side by side with those that are being
sponsored by M. Dean Fassett, who is the witness for HM
5.3, the inputs in this proceeding. And then based on

| ooki ng at places where there were significant
deviations, | used the inputs that were bei ng sponsored
by M. Fassett. But | did not make changes every pl ace,
i nstead just focusing on areas where there were
significant differences.

Secondly, there were a series of what |
characterized as network nmodeling and input related, or
not input, but nodeling related issues. And just to
briefly go through those, one was that Verizon's nodel
as it's constructed relies on its embedded network
configuration, which we find cause it to produce
inefficient and therefore overstated costs in certain
i nstances. Secondly is that as | described in ny
testinony, there are a series of locations in their
net work where Verizon even acknow edges that they have
erroneously placed SAI's, and as a result of that it
| eads again to overstated cost.

Third is what | have described as overl appi ng

and inefficient distribution areas. | had a diagram
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where | kind of tal ked through this issue, but it's a
situation where if Verizon had chosen to, they would
have identified nore efficient boundaries for their

di stribution areas in certain instances.

Fourth is that Verizon erroneously places DLC
where it's clearly not necessary. | have had the
opportunity to continue investigating that, and we found
that there's actually coding errors in the nodel that
contribute to that problem caused a significant
pl acenent of DLC that's unnecessary.

And then finally |I address key engi neering
inputs, this is different fromthe material and
pl acenent inputs, and have provided for the Comm ssion's
review al ternative val ues such as for distributiona
cabl e sizing of the fiber copper cutoff point of 18,000
feet.

JUDGE MACE: |'msorry, M. Turner, your tine
is up.

THE W TNESS: Ckay, thank you.

MS. STEELE: M. Turner is available for
Cross-exam nation.

JUDGE MACE: M. Ri chardson.
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CROSS- EXAMI NATI ON

BY MR. RI CHARDSON

Q Good afternoon, M. Turner
A Good afternoon
Q I would like to begin by focusing on

sonmething that | don't think you included in your
summary, and that's the early part of your testinony
where you're describing --
JUDGE MACE: |s your m crophone on
M. Richardson?
MR. RICHARDSON: | believe it is.
JUDGE MACE: You need to speak right into it,
and could you project a little bit, please.
MR, RI CHARDSON: Certainly.
JUDGE MACE: Thank you.
BY MR. Rl CHARDSON
Q M. Turner, | would like to begin with the
portion of your testinony where you describe VzCost,
VzLoop, and sonme clains you nmake about the conplexity of
those. First of all, | would Iike to in this discussion
clarify that I will be tal king about VzCost sonetines
and VzLoop sonetimes, can you just describe briefly your
under st andi ng of the difference between the two?
A The way that | use those ternms is that VzCost

is effectively a package, if you will, that brings
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together investnents froma variety of areas, applies
cost factors to those investnents, and ultimtely
converts themthen into recurring rates that would be
appl i cabl e based on the investnents and factors applied
to themfor a variety of elenents.
VzLoop is one of what Verizon refers to as an

el enent cal cul ator that devel ops the underlying
i nvestments that would go into VzCost. And as part of
that, it makes network nodel i ng decisions and applies
pl acenent and material cost and engineering factors in
comng up with those determi nations. |In sone pieces of
docunent ation, Verizon includes VzLoop as being a part
of VzCost. | have tried to be clear in my testinony to
di sti ngui sh between the two, not that you may not wrap
themup in sone way, but they seemto be in my opinion
clear and distinct parts of the nodeling environnent
that Verizon's using.

Q And | would like to ask you have you ever
previ ously devel oped or reviewed any UNE cost nodel s

where your role involved the | oop costs?

You sai d devel oped or revi ewed?
Yes.
Yes, | have done so.

And whi ch ones were those?

> © » O >

| provided in response to discovery to
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Verizon a whol e series of nodels that | worked on, but
specifically related to | oops it would be the LoopCAT,
generally spelled L lower case OO P and then capital C
capital A capital T, the LoopCAT cost nodel. It's a
nodel used by SBC to devel op | oop cost for a variety of
| oop types, and | have provided testinony and
restatenents of that nodel in several proceedings in
Texas as well as proceedings in California, Illinois,

M chi gan, |ndiana, Chio, and I'mcurrently working on a
filing for Wsconsin.

Q M. Turner, | believe you're referring to
your response to a data request provided by Verizon
whi ch has been pre-marked as Exhibit 758; is that
correct?

A. | didn't know the marking, but it's the
response to Request Nunmber 10-1

Q And in that response you provided a chart
listing all of your experience for ten years in various
cost nodels, correct?

A That's correct. | believe it extends beyond
that, because the question didn't specify a tinme period,
but it provided the nodeling experience that | have had.

Q And LoopCAT is addressed at the bottom of the
second page of that chart, correct?

A Yes, it goes fromthe bottom of the second
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page and extends | believe up to the top of the third
page.

Q So is it correct to say that of all these
nodel s you have had experience devel opi ng or review ng,
the only one in which your role extending to | oop costs
was t he LoopCAT nodel ?

A No, that's not correct.

Q Maybe | m sunderstood your statenment before,
whi ch ot her ones?

A. In terns of nodeling related to | oops and
specific to this response, it would also include for
i nstance the DSO or DS1 building entrance tool. This
was doi ng eval uations of the costs associated with
depl oying | oops into |large buildings and the placenent
of equi pnment to provide DS1 | oops in those buil dings.
It's not in the sense of a TELRIC cost nodel, but if
your question is nore general to other areas where
have done work with |l oop related costs, | would extend
it there as well. If it's specific to UNE proceedi ngs,
then it would be LoopCAT where | have worked in all the
states that | identified for you earlier

Q And your experience with the DS1 buil ding
entrance tool, was that confined to the high capacity
| oops?

A Yes, it was DS1 and above | oops.
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Q So were there any other of these nodels where
you devel oped or revi ewed the nodel and your role
extended to | oop costs other than UNE cases?

A Yes, on page 3 of this docunent, the next to
last line, the AT&T inpairnment analysis nodel, a portion
of that nodel was simlarly evaluating the cost to
provi de high capacity |oops into custoner |ocations, and
| provided devel opment input into the cost cal cul ations
for that nodel.

Q So that was again also limted to high
capacity | oops?

A That woul d have been in that particul ar case

DS1 and above | oops.

Q And for what purpose were you providing that
anal ysi s?
A In that particular case it was related to the

i mpai rment proceedi ngs, and part of the inpairnent
proceedi ngs had to do with the continued availability of
DS1 | oops and evaluating on a potential deploynent basis
whet her or not DS1 | oops could be served by CLEC s on
their own and what that cost would be.

Q So did it involve identification of the cost
of providing the service?

A Yes, it did.

Q And was that filed in any proceedi ng?
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A | do not know.

Q Now focusi ng agai n on LoopCAT, your chart
identifies in the last colum the nodel |anguage, and
that as | understand it was -- well, can you tell ne

what nodel |anguage that was witten in?

A. LoopCAT?
Yes.
A | guess if you're very precise, what | tried

to include here was both the nodel and/or the |anguage
that woul d be used, but they, LoopCAT and SBC s nodel i ng
environnent, relies on Excel, Access, and then sone

Vi sual Basi c code.

Q Now you say Visual Basic others at the top of
page 3.
A. There's a preprocessing section of LoopCAT

that | wasn't sure of the code that it's witten in, so
| put others because |I couldn't specify what it was.

Q Now have any of these cost npdels that you
have identified here been witten in Pascal ?

A Well, to the extent that | have identified a
nodel | anguage, there is none identified as Pascal
There is sone here that are identified as unknown, and
can't answer the question as to whether they were
witten in Pascal or not.

Q Why woul dn't you know whet her they were or



1164

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

weren't witten in Pascal if you devel oped or revi ewed
t hen®?

A My review of the nodels may not -- in sone of
t hese cases did not extend to reviewi ng of actual code.
It would have been reviewing algorithms, verifying the
nmet hodol ogy for calculating costs in doing that,
replicating the calculations outside the nodel to see if
it conplied with the algorithns that were described, and
so in some cases | was not required to actually review
code.

Q Were there other nenbers of your team who had
that responsibility?

A It would vary dependi ng on the particul ar --
the particul ar project.

Q Well, in any of these projects, was there
sonmebody el se on your teamthat had the responsibility
for review ng the code?

A The only ones that have unknown related to
themare Costprod, SCIS, and CCSCIS. I|I'mfairly
confident for Costprod the answer would be there was
nobody el se that was responsible for that. | did al
the validation for those al gorithns outside the nodel
wi t hout reviewing the code. For SCIS, the teamthat we
had i ncl uded one of the primary devel opers for SCI'S, and

so | wasn't responsible for reviewing the code. The
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1 person on our teamthat had that firsthand experience,

2 I'"mnot sure if she did or not, but she would have been
3 nore centrally involved in that than | would. As for

4 CCSCl S, the nature of the review there did not require

5 review of the code

6 Q Now addr essi ng VzLoop, VzLoop is witten in
7 Pascal; is that correct?

8 A That's correct.

9 Q Have you ever reviewed the code for VzLoop?
10 A Yes, | have.

11 Q When did you first do that?

12 A | started reviewi ng the code probably as far

13 back as the fall of 2003.

14 Q Was that in connection with this proceeding?
15 A Yes, it was.
16 Q So you had available to you the code for

17 VzLoop in this proceeding in the fall of 20037

18 A I think we did whenever we got it, and that's
19 what | recall sitting here right now, that's when

20 started reviewing it. | nean version 7 of the code,

21 which is what | have spent nost of my tine with we did
22 not receive until you filed a, you meani ng Verizon

23 filed a supplenental filing. So version 7, which is

24 what | have spent nost of nmy tine with, would have been

25 what ever date you ultimately filed your revised filing.
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Q Now version --

But | thought there was a version 6 code that
you provided, but that's per ny recollection.

Q Okay. Would you agree subject to check that
in Verizon's June 2003 filing there was included a
conment ed version of the source code for version 6?

A | nean subject to check. | don't have any
reason to question that.

Q Now do you recall a notion to strike the
VzCost nodel that was filed by AT&T in Septenber of
2003?

A Generally | do.

Q And you and M. Cook co-authored a
declaration in support of that notion, did you not?

A That's correct.

Q And did you state in that declaration that

you had not been provided the source code for VzLoop?

A I think the context of -- well, | don't have
the declaration in front of me. |If you want to present
it tome, | can confirm--

JUDGE MACE: |f you have the declaration, you
should show it to himat this point so he can reviewit.
A. And where specifically were you meking the
reference to?

Q I"'mreferring to Paragraph 6, and | will just
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1 read it, and I will give it back to you.

2 A Okay.

3 Q (Readi ng.)

4 The design of the nodel al so makes

5 changing it extrenely difficult.

6 Verizon has not provided the source code
7 for the nodel naking it inpossible to

8 det erm ne whether the |logic inside the

9 nodel matches the docunentation provided
10 by Veri zon.

11 A That helps to clarify the context. What

12 Veri zon had provi ded was annotated source code, and it
13 was not the source code that was the underlying code

14 that was in the nodel. Annotated source code, what |
15 mean by that is it was snippets of code interlaced with
16 comments about how particular portions of the code

17 wor ked, so there was no ability -- first of all, we

18 didn't even have the conplete code, but there was al so
19 even if we had no ability to conpile that code and

20 confirmin fact that it matched what the docunentation
21 in the annotated code that we received. That was the
22 context of the position we were outlining here. Because
23 the context was is we were anticipating that we woul d
24 need to make changes to the code.

25 Q So then it would have been nobre accurate to
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say you have received sone but not all of the VZ source
VzLoop source code?

A No, at that time we had not received the
source code. W had what is called, | described it
already, it's called annotated source code, but it was
not a conplete set of source code.

Q Now do you recall when you received version 7

source code for VzLoop?

A Yes, we did receive source code with that.
Q And was that with the filing in January?
A Subj ect to check. It was with your

suppl emental filing.

Q Now you have been retained by AT&T in the now
pendi ng California case involving Verizon's UNE rates;
is that correct?

A That's correct.

Q And in that case Verizon is also now using
version 7 of VzLoop, correct?

A That's correct.

Q And in that case did AT&T recently ask
Verizon to make a change in the VzLoop code?

A Yes, we wote a letter to Verizon outlining a
coding error that we found, asked that Verizon either
allow us to make the change ourself or to -- and provide

us the environnment to be able to do that or
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alternatively to give us a date by which Verizon would
make the correction

Q And correct me if |I'mwong, but that
i nvol ved the way in which VzLoop cal cul ates the
so-cal l ed econom c crossover in which is cheaper, to
pl ace copper or to place fiber fed DLC s.

A That's correct.

Q And the error, is this correct, was that in
certain circunmstances that conparison |led to a negative
val ue?

A That's correct, and in the denoninator of the
calculation you could in certain circunstances have a
negative result, which then when conmpared to a footage
woul d al ways then place DLC. And so we identified that
as a problemand then provided an alternative correction
for it.

Q And you say we identified that as a problem
who identified that problen?

A. The letter that you received, | wote that
letter for AT&T with the exception of probably the
openi ng and cl osing. The people who did the anal ysis of
the nodel to find that error was nyself working in
conjunction with Brian Pitkin.

Q And he is also an expert in the California

case for AT&T; is that correct?
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A Yes, he is.

Q And who anmong your group first identified
this error?

A M. Pitkin and | did. Wat we were doing was
basically taking the calculations in the nodel and
reproducing themin Excel and tried to reconstitute the
total DLC investnment in a wire center. And once we were
able to do that, we determ ned that the reason we were
getting these DLC s that were so close to the wire
center was that, in particular related to underground
cabl e, the denoni nator of the crossover cal cul ation was
negative, but M. Pitkin and | found that together.

Q And when you say you were working together
was one of you primarily responsible for this in the
sense of spending the nost tine on it?

A | probably was primarily responsible. | had
spent a great deal of time replicating the DLC
i nvestments in preparation of my testinony here in
Washi ngton, and so | already knew virtually all of the
calculations that had to be nade to replicate Verizon's
cal cul ations out of version 7. The one piece that we
principally worked on was actually the allocation
bet ween busi ness and residential. Once a DLC investnment
calculation is nade, there is an allocation that is then

done. But | would say if you had to pick one or the
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other of us, | would say it was probably primarily me.
Q Has M. Pitkin had experience in Pascal ?
A I don't know his specific experience. | have

had direct training in Pascal and relied on that in ny
code review, as | provided in discovery to Verizon.

Q Has, to your know edge, has M. Pitkin
devel oped or reviewed any nodels witten in Pascal ?

A O her than the representation nmade in
Verizon's testinony that M. Pitkin has, | have not been
told that by M. Pitkin.

Q Did you participate for AT&T in the Verizon

Virginia UNE case before the Wreline Conpetition

Bur eau?
A Yes, | did.
Q Was your role with respect to the interoffice

transport portion of the case?
A Yes, it was.
Q Did M. Pitkin have responsibility for the

| oop portion of the case?

A There was a very large teamthat worked on
the loop portion. | believe M. Pitkin was a part of
that team

Q And he sponsored the nodified synthesis nodel

on behal f of AT&T, did he not?

A | do not know.
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Q You' re not aware of whether he sponsored the
| oop nodel in the case you were responsible for the
transport portion of?

A No, | don't recall specifically who was. Wy
recol lection actually was that there was a team of
peopl e. M ke Baranowski may have been a part of that
team as well as other people, but | don't recal
specifically M. Pitkin's role sitting here right now
versus sonebody else's role

Q Do you know whet her the nodified synthesis
nodel was witten in Pascal ?

A Only the representati ons that have been nade
in Verizon's testinony that it is, but | did not have
firsthand know edge that it was or was not. | have
never been asked to review that nodel.

Q Now comi ng back to the California proceeding,
did Verizon make a change in the code of VzLoop version
7 in response to AT&T's letter?

A Yes, after a bit of back and forth Verizon
did ultimately agree to nake the change. | believe it's

now referred to as version 7a of the nodel.

Q Now I would like to direct your attention to
page 20, I'msorry, what was page 22 before the -- I'm
sorry, it should be just a second. | have the

interlineated version, so | need to check ny page
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nunbers, |I'msorry.
M. Turner, if you would | ook at really the
last Q%A in your testinony, it's page 22 of the

interlineated version, but the |last question before

section 3:
What is your recomrendation for this
Commi ssion with regard to the useful ness
of VzCost in a TELRIC proceedi ng?
JUDGE MACE: Page 22 in our version
bel i eve.
Q Do you have that question and answer before
you?
A Yes, | do.
Q Now t he next to the |last sentence of that

par agraph states:
It is inmpossible, however, to understand
or change the | oop nmodel that is the

heart of the cost npdel itself.

Now you're referring to VzLoop there, are you

not ?

A Yes, | am

Q But in the California instance that we have
identified, AT&T did understand how the VzLoop code
handl ed econonic crossover, did it not?

A Yes.
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Q And Verizon changed it for AT&T, did it not?

A It did. That was, of course, after, and
have quoted extensively from Verizon's positions
outlined at the California workshop, but that agreenent
to change the nodel was after the tinme that | filed this
testimony. And it was with a consi derabl e amunt of
back and forth between Verizon and the joint CLEC s in
California before Verizon would agree to do it. The
fundanental nature of the nodel is that it's -- it is |
woul d now say virtually inpossible, but Verizon will
make the change if you go to them and ask and caj ol e and
work with them they -- you will make the change.

Q Well, | believe that AT&T has desi gnated
those letters as cross exhibits for the panel tonorrow,
and |'msure we'll go into that tonorrow.

Have you ever sponsored a cost nodel in which
you were requested to make a code change?
Yes.
Where was that?
Cal i fornia.
And what nodel was that?
It was the AT&T/MCI collocation cost nodel.
And did AT&T agree to make those changes?

Yes, they did.

©c » O » O » O P

Who asked them to meke the changes?
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1 A. In that particular case it was the California
2 Public Utilities Comm ssion.

3 Q Did any of the parties in the proceedi ng

4 prior to that tinme ask AT&T to nake changes to the

5 nodel ?

6 A | can't recall.

7 Q Did you make any changes at the request of

8 any party in that proceedi ng?

9 A I"m assum ng by party you nean other than the
10 California Public Utilities Comm ssion

11 Q Correct.

12 A Not to ny knowl edge. | nean there were

13 filings made using that nodel by Verizon and by SBC t hat
14 both made changes to the nodel. The nature of those

15 changes were what | would characterize as fairly

16 strai ghtforward, investnment cal culation nodifications
17 that anyone fam liar with Excel would be able to handle
18 fairly easily.

19 The change that was asked for by the

20 Conmmi ssion was the ability to easily toggle between

21 setting collocation charges as a recurring charge or

22 nonrecurring charge, and the nature of that required a
23 nore conprehensi ve change throughout the nodel, and so
24 t he Conmi ssion asked for us to do that before the next

25 round of proceedings took place in California so that
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the parties would be able to easily represent what their
positions were as to whether something should be
recurring or nonrecurring.

Q But you don't recall any party in the
proceedi ng during the pendency of the proceedi ng asking
you to change anything in the code of that collocation
nodel ?

A My recollection is that proceedi ng was
approximately five years ago, and so it's possible
sonmeone asked. But to nmy knowl edge, | don't recall a
request coming froma party for changes to be nmade to
t he nodel .

Q If a party had asked you or would ask you now
as a proponent of a cost nodel to make a change in the
code, what would your position be in terns of the
consi derations that would go through your mind?

A Well, the circunmstances woul d depend on what
ki nd of change in the sense that if it was an active
proceedi ng and our nodel, as it was in California, was
the nodel that was being used by the parties, we felt we
had an obligation in that particular situation to nake
changes to the nodel so that Verizon and SBC and the
Commi ssion Staff would be able to make the changes that
they would want to have mmade.

If it was a proceedi ng where for instance
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what I'minvolved in right nowin M chigan where you

basically have two conpeting nodels, of course no one
there is asked to nake a change because you have two

conpeti ng nodel s.

O if it was a situation where you needed to
change sonething that was very sinplistic such as the
types of changes that Verizon and SBC were wanting to
make, they would likely be able do thensel ves because
t he AT&T col l ocation cost nodel was an open and
transparent nodel and easily nodifiable because it was
written in Excel. |It's a very different environnent
t han when you're dealing with a conpiled version of a
program such as VzLoop that has to run on a server which
we have no upl oad system or programr ng code upl oad
capability allowed to us. So it's a totally different
envi ronnent .

But again, in the case in California when it
was our nodel that was being used by all the parties, we
made changes that we were asked to mmke.

Q Asked by the comm ssion to nake?

A To my know edge we were asked to nake no
ot her changes. There were changes made by SBC and
Verizon as | recall to add new rate elements to the
nodel s, but because of the nature of the npdel that we

devel oped, it was quite straightforward for SBC and
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Verizon to do that thenselves, they did not need us to
do that for them

Q So did you -- were you provided a -- was
there a request to you by those parties to add those
el ements to the nodel ?

A. | nmean again that's approximtely five years
ago, and sitting here right now !l don't recall a request
of that nature that was directed to us.

Q Now did | understand your testinmony a minute
ago to say that one of the considerations that you woul d
factor in to whether to make a change in a proceedi ng at
the request of a party as opposed to the conmm ssion was
whet her there were conpeting nodels being entertained in
t he proceedi ng?

A Yes.

Q And what did you nean by that?

The example | gave for M chigan where in this
particul ar case SBC has filed its collocation nodel,
AT&T has filed its collocation nodel. At this point
neither side is trying to do a restatenent of the other
side's model, and so the whol e i ssue of meking changes
to the nodel hasn't even cone up. In this particular
situation here, AT&T wanted to be able to nmeke
nodi fications to VzLoop so that it could file sonething

that it felt would be nore in conpliance with TELRIC.
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Q You' re tal king about the California case?

A In California as well as here in Washi ngton.
And so you have a different situation, there's conpeting
nodel s, but in Mchigan neither side is trying to
restate the other's. Here at |least in the case of AT&T
they're actually wanting to do an affirmative
restatement of Verizon's nodel as well as file their
own.

But not in Washi ngton?
No, in Washington we did, we filed a restated
VzCost filing here with ny testinony.

Q I wanted to ask you a few questions about
your references to Del phi in your testinmony. Directing
you to page 12 of your testinony, there's a question
t hat states:

Pl ease provide an overview of the
Veri zon devel opment environnent for the
VzCost, VzLoop, and related nodul es.
Do you see that?
JUDGE MACE: W don't have that on our page
12, | think it's on our page 11
MR. RI CHARDSON: Thank you.
BY MR. RI CHARDSON
Q Do you see that, M. Turner?

A | do see that, yes.
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1 Q Now you st ate:

2 VzCost and VzLoop in particular were

3 devel oped by Verizon in Del phi.

4 And you go on. Now VzCost is not devel oped

5 in Delphi, is it?

6 A. My recol |l ection was from sone docunentation
7 that | reviewed that it indicated that, but | know at

8 t he workshop yesterday Verizon indicated that it's

9 devel oped in the dot net environment and does not use
10 Del phi or Pascal

11 Q And you refer in your testinony to VzLoop as
12 a black box; do you recall that ternr

13 A Yes.

14 Q You' re speaking again of VzLoop here, you're
15 not taking the position that VzCost is a black box, are
16 you?

17 A As far as ny testinmony is here, no, | was not
18 taki ng that position.

19 Q Now can you explain the rel ationship of

20 Del phi to Pascal ?

21 A Pascal is the programmi ng | anguage, and

22 Del phi is a progranm ng environnent, and normally what
23 you have whenever you purchase a progranm ng | anguage
24 such as Pascal or C++, you get with it if you purchase

25 it froma conpany |like Del phi tools that allow you to
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debug the code that you have witten to --

Q Can you explain what that term neans, debug?

A Yeah, debug woul d be a situation where you
may have a coding error, and so when you conpile your
program it will create a conpile error. And normally
when you purchase Pascal in a Del phi environnment, it
will give you tools to be able to find out where those
coding errors are at and in sone cases even give you
assistance in correcting them

You al so have what | would characterize as a
trap and trace capability so that you can identify run
time errors. So, for instance, what you could do there
is actually insert locations into the code where when
you reach that point in the code, the code will take a
break, if you will. It will stop processing and all ow
t he devel oper to step through the code and observe
vari abl es that are being operated on in that section of
the code in such a way as to see how the logic is
actually working. It allows you to make sure that
you're operating on the data that you anticipate and
that you're doing to the data what you would antici pate.
It's the same sort of function that you woul d

typically do in Excel where you do trace precedents or
trace dependents in Excel. It allows you to see what

data are you dependi ng on, and how are you nani pul ati ng
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that data. In Excel you're able to see that through the
formulas that are in the particular cell that is
operating against the code. This capability if it was
available, and it is available in a Del phi environment,
woul d al l ow one to be able to step through and see nore
precisely how the logic within the nodel is operating.

I nean those are exanples, but it's an
overal |l environnent that allows one to be able to
utilize or devel op code, test that code, ultimtely
conpile and confirmthat it's operating in a run tine
environnent |ike one would antici pate.

Q Now i f | understand you right, you did not
need that tool to identify the negative crossover issue
t hat we have addressed earlier, did you?

A. A tool would have been hel pful, but no, we
did not ultimately need that tool to identify that
error.

Q And AT&T did not provide that tool in
connection with its nodified synthesis nodel to Verizon
in the Virginia case when it was using a Pasca

| anguage, did it?

A | have no idea

Q Wul d you accept that subject to check?
A Where woul d | check that at?

Q Well, you could ask M. Pitkin.
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MS. STEELE: |'m --
A I nean it's so far afield of what | have any
experience or know edge of, | don't even know where

could check that. You wanted me to confirmthat
sonet hing wasn't done | suppose, but.
Q Well, | think it's set forth in M. Pitkin's

testinmony in the case, we woul d be happy to provide
t hat .

JUDGE MACE: M. Pitkin hasn't filed any
testinmony in this case.

MR, RI CHARDSON: No, he has not, but | guess
I would like to ask AT&T to confirmthat it did not
provi de a conpiled version of the Pascal source code
when offering the nodified synthesis nodel to the
W reline Conpetition Bureau

MS. STEELE: And |'m going to object that
this is far beyond the rel evance of what we're doing
here. \Wat AT&T may have happened to have done in
Virginia, we don't know whether there was a request to
do that, we don't know what the circunmstances were. |t
does not seemto me to be appropriate to ask for that as
subj ect to check in this proceeding.

CHAIl R\OMAN SHOWALTER:  Coul dn't you have
filed this as a cross exhibit, whatever this information

is?
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MR. RICHARDSON: | could have. | didn't have
it at the tine. But | do think that it's relevant to
M. Turner's core argunment here that VzLoop shoul d not
be considered as a nodel because it's too difficult to
under st and.

CHAIl RWOMVAN SHOWALTER:  But aren't you
basically trying to inpeach his testinmony with sonething
that Verizon did or didn't do in another proceeding?

MR. RI CHARDSON: That AT&T did or didn't do.

CHAl RMOVAN SHOWALTER: Excuse me, AT&T.

MR. RI CHARDSON: That's correct.

(Di scussion on the Bench.)

JUDGE MACE: We're going to sustain the
objection. This was nore appropriately sonething you
coul d have obtained on cross.

CHAl RWNOMAN SHOWALTER:  No, filed it as a
cross exhibit.

JUDGE MACE: |'m sorry, obtained in discovery
and filed as a cross exhibit. And it also does seem
fairly far afield fromwhere we are in this case.

I'"'malso rem nded that you signed up for 30
m nutes of cross-exam nation and started at
approxi mately 4: 30.

MR, RICHARDSON: | only have about five nore

m nutes | think.
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JUDGE MACE: Thank you.
BY MR. Rl CHARDSON
Q Do you have, | take it fromyour prior
testimony that you do not have Del phi, M. Turner; is

that correct?

A No, | do not have it.

Q Do you know whet her anybody el se at AT&T has
it?

A Well, that's a fairly broad question given

there's probably a | arge nunber of people at AT&T that

are progranmmers.

Q Have you ever asked?

A As to whether or not AT&T has Del phi?

Q Yes.

A No, | have not.

Q Are you aware of any other consultant to AT&T

in these cost cases that has Del phi?

A No, | do not.
Q Have you asked?
A We have tal ked about it collectively as a

team and concl uded that having or not having Del phi does
not address the issue of being able to operate the nodel
outside of the environment that Verizon has designed it
in so that we can do these types of traps and trace

functions that | have described. Delphi doesn't solve
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t hat problem

And so there's been an ongoi ng di scussion
bet ween AT&T counsel in California and Verizon counse
in California regardi ng obtaining what we have
characterized as access to the native environnent for
VzLoop and VzCost. To ny know edge, AT&T has still not
obt ai ned that from Verizon. W have as a result
continued to pursue evaluating the code the way that |
have descri bed, which is trying to replicate the
functions, calculations if you will of investnents
outsi de the nmodel, and then when we find discrepancies,
try to identify where those discrepancies are occurring
by literally reading through the code line by line to
find the problens.

Q So is the answer to ny question that you do
not know whet her any other consultants for AT&T in these
cost cases have Del phi ?

A Based on ny conversations with our team-- |
know in this case here in Washington we do not. And
based on our conversations in California, | do not
beli eve we do. And the reason we have not is because of
t he expl anation | provided previously.

Q I s Del phi conmercially avail abl e?

A Yes, it is.

Q And what you refer to, the progranmm ng
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envi ronnent that you need to understand or operate or
di scern what's sticking in the code, how do you know
that you wouldn't be able to obtain that programm ng
environnent if you acquired Del phi?

A. Cenerally just based on havi ng peopl e on our
team that have done systens devel opnent, client server
devel opnent, and experience in terns of actually doing
conpi | ed code devel opment and the necessity to have
access to the same set of coding |ibraries that Verizon
may have custom zed for its own use that it does the
conpilation with versus what we would be able to buy off
the shelf from Del phi.

Q But do | understand you that no one on your

t eam has Del phi ?

A. No, but | have explained why. | can give
that --

Q And that's why you know - -

A -- explanation again --

Q -- that Del phi --

JUDGE MACE: Now | knowit's late in the day,
but you need to talk one at a tine, try not to talk over
each ot her.

A. I have answered that question already.
BY MR. RI CHARDSON

Q | amtrying to understand how you can know
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that Del phi is inadequate to get you where you want to
go if nobody on your teamhas it?

A Because we on our team between the people on
t he team have a significant anmount of experience in
doi ng systens devel opnent, including people on our team
that have experience in doing client server devel opnment,
and so we know that just purchasing that tool does not
bri dge the gap between the ability for us to replicate
what Verizon has on its server that it characterizes as
the VzCost and VzLoop tools. So it's not just buying
Del phi that solves the problem and it's the other
things that | have indicated, it's the database
structures, the Pascal libraries that you would rely on
when you do conpilation, it's nore than just buying
Del phi. But we know that we do not have those things,
and we have not been able to obtain them and so just
goi ng out and purchasing Del phi we did not feel was a
necessary task just to prove a point when we didn't have
what based on significant experience on the teamwe did
not have to make the nodel work in a non-client server
envi ronnent, neani ng hosted on a single conputer

Q | just have one series of further questions
about your statenments about the |ocation of SAl's in
believe it was the Bothell wire center in your

testi nony.
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A Yes.

JUDGE MACE: Do you have a reference to the
testi mony?

THE WTNESS: It should be approxi mately
around page 34.

MR. RI CHARDSON: Thank you.

JUDGE MACE: | see at line 12 unreasonable
SAl placenent on page 34.

THE WTNESS: And then | nake a reference on
page 35 to an exhibit SET-4, which is Exhibit 755 in
this proceeding, which is a diagramthat kind of
illustrates part of this problem

JUDGE MACE: Thank you.

THE WTNESS: | don't know where in the
testimony you want ne to |l ook, but that's generally
where this is discussed.

BY MR Rl CHARDSON

Q I"mreferring to the last Q%A in this
section, is there a solution to this problem right
before (b), inefficient and enbedded cabl e routing.

JUDGE MACE: That's on page 37.

Q Yes, page 37, do you see that?
A Yes.
Q Now here, M. Turner, you say that you have

identified sone SAl's that appear to be collocated in
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the nodel, and you state here that you have not yet
found a way to correct the systematic errors. Has
Verizon identified for you a way to relocate those five
SAl's in the network table?

A. Not really. Verizon has, as your testinony
expl ai ns, provided us a one day workshop and provi ded
us, us neaning mainly it's the CLEC teamin California
but two of us are also here in Washi ngton, provided us
with a set of tools which are supposed to be able to
allow us to nove network conponents around and then
relink themin the preprocessing of VzLoop. W as of

the filing here did not have a way to correct that.

That statement is still correct even now. Even though
you have given us these tools, we still do not have a
sol ution.

And | also think it's inportant to note that
this is not a problemwth five SAl's. Even Verizon's
own testinmony acknow edges there's several hundred, and
| don't renmenmber the exact nunber and |'m not sure if
it's confidential even, but there's several hundred
SAl's that have the sane problem So the solution that
we're | ooking for is one that allows us to correct this
in a nore systematic way.

And then the way that the preprocessing

al gorithms work, you then have to reestablish |inkages
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between the nmoved SAl's and the distribution termnals
that they woul d be connected to. So we have a process
that we are investigating for doing that, but as of the
date that | filed this, which was April 20th, 2004, we
had not yet found a way to do that. And as of today,
June 1st, or is today June 2nd now, we are still finding
problenms with using the tools that Verizon provided to
us.

Q And when was the workshop that you're

referring to?

A It was | believe February.

Q February 5th?

A It was somewhere in February.

Q In that time frame?

A Yes.

Q And was the purpose of that to show you how

to relocate the coordinates of an SAl in the network

t abl e?
A. That was part of the purpose of that
wor kshop.
Q Did you attenpt to do that for these five

SAl's prior to the filing of your testinony?
A No, | did not.
MR, RI CHARDSON: | have no further questions.

JUDGE MACE: Thank you.
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Dr. Gabel

EXAMI NATI ON
BY DR. GABEL:

Q M. Turner, in your opening statenment you
referred to a coding error you found in nodeling DLC
digital line carrier calls. And M. Richardson asked
you about sonme correspondence between AT&T and Veri zon
in the California proceeding which also involved as |
understand fromthe questioning DLC calls. 1Is this the
same error in both cases?

A Yes, it is.

Q Then coul d you just describe what was the
nature of what you understand to be that error?

A. Yeah, the nature of it is that you may recal
fromthe workshops yesterday that there's a process
where you cal cul ate sonmething call ed ECF val ues, and you
cal cul ate these values for fiber underground, buried,
and aerial cable, and then you also cal culate them for
copper underground, aerial, and buried cable. And then
effectively what happens is in the nunerator you have
the DLC cost, and then in the denom nator you have the
delta between the fiber cost per foot and the copper
cost per foot. The theory is that quotient will provide

you a nunber of feet, and if your distance away fromthe
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wire center is greater than that, then you should pl ace
DLC. This is the way their nodel works, |'m not saying
it's perfect, but this is what it does. And if you're
| ess than that distance, then you would not place.

And what we found was there are situations
based on what those ECF val ues are where the denom nator
wi |l produce a negative value. So in other words, you
have a situation where the cost of fiber, the way it
typically works, the cost of fiber is greater than the
cost of copper, and so if that's the case you will never
justify putting in DLC, okay. So what should happen in
that situation is that quotient should be set to either
a very large nunber or you should have sone logic in the
code that protects you. But the way the code was
working is it would allow the negative denom nator to
occur, so you take DLC divided by any negative nunber
you get a negative nunber. You conpare that to any
di stance, ny exanple that | provided attached is Exhibit
756, had a DLC location that's Iike 200 feet fromthe
wire center with a negative nunber in the denom nator
you're going to end up placing DLC because it's |ess
than the crossover val ue, because it's a negative
crossover val ue.

And then the way the logic of the nodel works

and the reason this was such a substantial problemis
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once DLC gets placed on any leg in the route away from
the central office, then all subsequent SAl's will be
served by fiber through a DLC. There is sone
aggregation function that takes place, but nonethel ess
it basically suspends any eval uati on of whether or not
there should be a DLC placed downstream So if you nake
an error very close to the central office, you're going
to replicate that error.

So we basically offered to Verizon a way to
correct that to ensure that if a negative value occurred
that their appropriate determ nation would be made,
which is that you don't place DLC.

Q M. Richardson al so asked you about your
ability to audit or to review the Pascal code, and you
descri bed your interest in doing a trace and trap audit.
My question is, you can't -- if you can't run the code
on Verizon's main frame or md sized conputers, is it
possi ble to take that code and just inport it into a
Pascal PC program and then do your trace and trap on a
PC?

A We believe that that woul d be possible, but
we woul d need for Verizon to provide for us structurally
how you woul d need to set up your databases on a single
PC environnment. It's not atypical that the conpany that

Verizon likely used to do the devel opnment for VzLoop
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likely developed it in that type of environnent. So we
woul d sinply need for themto provide to us whatever
structure that they used to do the devel oprment in a
singl e PC environnent, whatever DLL's, dynamic |ink
libraries that they used, anything that's customthat
woul d insure that the code operates in the sane way for
us as it would for Verizon.

Once you have that, then you're right,
there's standard tools avail able from Del phi that woul d
allow you to do these trap and trace functions. And so
you could, for instance, just say when you get to that
crossover cal culation, stop and step through and you
could actually investigate the values. And as soon as
you woul d see a negative crossover, you would know t hat
sonething is am ss.

Q And did AT&T request the DLL's and ot her
material that it would need in order to port the program
froma main frame over to a PC?

A. To nmy know edge we have, but we haven't asked

for it exactly that way, just the vagaries of discovery,

if you ask for -- you try to ask for sonmething that's
general so you don't end up playing the well, we gave
you that but it doesn't still work game. Wat we cal

-- characterized it as the native progranm ng

environnent | believe is the way that we have descri bed
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it to Verizon. So in other words, don't just give us
the DLL's, give us what it takes to be able to operate
this on a stand al one conputer environment.

You know, it may end up that they would have
to say, well, you're going to have to have specific
processing capabilities or specific nenory capabilities,
go ahead and give us that information so that we can do
those types of things on our own so that we're not being
constrai ned by problems associated with the Internet,
probl enms associ ated with upl oadi ng, we woul d have the
flexibility to potentially make program changes
oursel ves and then, of course, be able to do these audit
functions that are typically perforned by cost anal ysts
on the nodel.

Q My | ast question, M. Turner, is
M. Richardson al so asked you about your testinony where
you characterized the Verizon | oop nodel as a bl ack box,
I just want to make sure | understand why you're
characterizing the nodel as a black box. AmI correct
it's not because it's witten in Pascal, but it's
because of your inability to do the trace and trap; is
that -- or what was it that nmade --

A. It's just it's the conplexity of when you're
dealing with a nodel that both relies on a database

structure with nmultiple tables and conpil ed Pascal code,
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it just makes it very difficult. | don't want to say
i mpossi bl e because we are finding these problens, but it
makes it much nore difficult than you typically
experience in nodel evaluation to sinply trace through
how data that cones into the nodel ends up being used
and mani pul ated, and | don't nean that in a negative
connotation, but sinply the calculations that occur
agai nst that data and then flows back out into a result
that woul d then subsequently have factors applied to it.
So it's the -- it's the logic associated with that which
is made very conpl ex when you're dealing with conpil ed
code, accessing databases, and you're trying to piece
some of this together, which is why in nmany cases we
have sinply had to do that by reproducing cal cul ati ons
in Excel

Q Well, since you have reviewed the code as
well as the data that's manipul ated by the program did
this look to you |Iike sonething that could be done on a
PC or, you know, stepping back fromit, does it seem
sensible to have noved fromthe PC environment over to a
| arger conputer given the size of the data that needed
to be accessed?

A. I think you would have to run this on a
| arger conputer. | don't think it was necessary that

Verizon require that it be done using a client server
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envi ronnment where you're running it effectively through
the Internet, because we're -- there's many conplexities
that that creates as a cost analyst that we're
continuing to struggle with because of having to dea
with a renpte conputer that has to host our data before
we can even run their prograns. And | will grant
Verizon that they are eager to provide workarounds to us
to help solve those problens, but we wouldn't have those
problems if we were dealing with a nodel that was
running on a |local conputer. But given the amunt of
data that Verizon is manipulating, and again | don't
mean that in a negative connotation, | understand their
need to have a | arger conputer than what you woul d
typically run a nodel on in ternms of if it was an exce
based or even an Access based nodel.

DR. GABEL: Thank you.

EXAMI NATI ON
BY CHAI RWOMVAN SHOWALTER
Q Did you determ ne any neasure of the
preval ence of this negative quotient condition?
A W have done sone work with that and estimate
t hat approxi mtely 20% of the DLC pl acenents are
affected by this problem Now that has been primarily

based on subsequent work that we have done in
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California, so | don't have the exact nunber for you
here in Washington, but it would probably be in that
same 20% r ange.

Q And you testified that you offered a fix for
this problem was the research or the California, excuse
me, the post California inquiry that you nade based on a
fix of that kind, or did you just determ ne where the
negati ve quotient exists?

A VWhat we did is we actually offered to Verizon
a way to systematically correct the code so that when a
negati ve quotient occurs that you basically set the
quotient to a fairly |large nunber so that a crossover
determ nati on woul d not be found. |In other words, you
woul dn't place DLC. And so we -- Verizon for the nost
part inplenmented the approach that we laid out and has
gi ven us back a version of the code with that in it.

Q Do we have that data in our record here?

A I do not believe that you do. W have it as
part of our work in California, and you do not have that
version. It would be -- it's referred to by Verizon
believe as version 7a, but | don't believe you have that
here in Washi ngton.

Q So does the data that you have pertain only
to California?

A That's correct.
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Q But the version 7a could be used in
Washi ngt on?
A Yes, it could.

JUDGE MACE: How would we go about getting
this version 7a in the event that it becones necessary
to make an adjustnent along the lines that the wtness
has descri bed?

MR. RI CHARDSON: Verizon could that do that
the sane way that they did it in California, it would be
to essentially allowthat to be run so that those
negati ves wouldn't exist, if | understand it

JUDGE MACE: So is it sinply a matter of
access to version 7a, or is it you're providing 7a and
acconpanyi ng docunentation to us?

CHAl RMOVAN SHOWALTER: O third, | thought |
heard you to say you're providing recal cul ated data
based on 7a.

MR. RI CHARDSON: We can do that, but we have
al so provided it in California to AT&T for its use, and
it -- we could do that here in Washi ngton.

JUDGE MACE: You nean the version 7a?

MR RI CHARDSON: 7a.

CHAl RMOVAN SHOWALTER:  Well, let's ask
Dr. Gabel what he would Iike.

(Di scussion on the Bench.)
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MR, RI CHARDSON: | understand that the way we
do it is we could put it up on the Internet so that like
7 it would be available as 7a for the parties to use.

JUDGE MACE: What date would we be talking
about that you could have that done?

MR. RI CHARDSON: We could contact Verizon
tonorrow to see whether that could be done in the next
day or two.

JUDGE MACE: Very well, then you would have
an answer before we concl uded the hearing?

MR. RI CHARDSON: Yes, we woul d.

JUDGE MACE: All right, thank you.

CHAl RMOVAN SHOWALTER: | have no further
gquesti ons.

COW SSI ONER HEMSTAD: | have no questi ons.

COW SSI ONER OSHI E: | have no questions for

M. Turner as well.
JUDGE MACE: Anything else, M. Richardson?

MR, RI CHARDSON: Just a coupl e of questions.

CROSS- EXAMI NATI ON
BY MR Rl CHARDSON
Q M. Turner, this econom c crossover is one of
three criteria for placing the initial DLC in the

system is that correct?
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A Yes.

Q So that if the -- and the first condition is
Verizon uses the location of the closest DLC to the
central office, correct?

A. I'"mnot sure | understood that question.

Q Well, there are several other criteria for

pl acenent of DLC s, correct?

A. Yes.
Q And what is your understandi ng of the others?
A. This is in your docunentation, but as fromny

menory one of the criterias is if a DLC has al ready been
pl aced by a Verizon engineer, | can't renenber how you
characterize that, | know that it's denoted in their

dat abase as a capital F whereas a nodel DLC is
characterized as a |l ower case f, so that woul d be one.
Another is if the first DLC noving away fromthe centra
of fice was necessitated by the copper | oop maxi mum

di stance, the 12,000 feet that Verizon reconmmends, the
18,000 feet that | recommend, so if you're going to

exceed the 18,000 foot total copper length, then Verizon

will place the DLC, or excuse nme, 12,000 feet in your
i nputs, but they will place a DLC because of technica
requi renents and won't even -- it doesn't even get to

t he econoni c crossover issue.

Q So if, | think you answered ny question but
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just to clarify, if the first DLC is placed for either
of the other two reasons including the 12,000 i ninmum
copper loop length restriction in Verizon's nodel, and
t hat distance is sooner than the econonic crossover,
then the econonic crossover essentially has no inpact;
is that correct?

A That's true, but the nature of this problem
is just particularly prevalent close to the centra
office. And once you -- the way the logic in the nodel
works is once a |location noving away fromthe centra
office is converted to DLC, the nodel assunes that al
subsequent | ocations would be in excess of the econom c
crossover point. And so it's the nature of the problem
that it tended to affect DLC placenents close to the
central office, but because it affected there, it shut
of f the nodel's cal cul ation of econonic crossover
downstreamto find out where the real appropriate place
woul d have been to start placing DLC, which is why it's
a larger issue than you would initially anticipate, or
at least that's what we found with California where we
have been able to do sone work with this because we have
the 7a version there.

MR, RI CHARDSON: No further questions.
JUDGE MACE: Redirect?

MS. STEELE: Just a few questions.
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REDI RECT EXAMI NATI ON

BY MS. STEELE

Q M. Turner, you were discussing with
M. Richardson your attendance at this February 5th
sem nar that was put on by Verizon, and then you were
asked whet her after the workshop you attenpted to nove
the SAl's that you have di scussed in your testinony, the
Bothell SAl's that are all in one |ocation, and you said
that you didn't try to do that. Wiy did you not try to
do that?

A Well, in part at the workshop Verizon
repeat edly enphasi zed how conpl ex this was and the
potential for it introducing other types of errors, so
they -- | don't want to say they said we couldn't do it,
because they were showing us how, we could if we really
wanted to, but they certainly discouraged us from doing
it.

Secondly is that we felt that the only rea
solution to this would be to cone up with a systematic
solution, to not just deal with five but to actually
sol ve the problem systematically throughout Verizon's
network where it has these, for |lack of a better word,
engi neering di screpanci es where the engi neeri ng system

shows SAlI's being placed on top of one another when in
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fact even Verizon will acknow edge that does not occur
So we wanted a systematic way to solve that, not just
fixing it in those five. | gave that as an illustration
of the problems in the nodel. | gave illustrations of
others as well besides that. But that's the reason

bet ween February and April we did not do that.

And | will give one |last reason is that there
is yet a new tool that Verizon has provided to us in
California. | don't believe we have it here in
Washington. But that is to help us to visually identify
these changes that we want to make and then confirmthat
they are then relinked up and part of the preprocessing
task. And that's a recent tool, it was sonething that
was not available to us as of April 20th.

And so | would say -- | don't want -- this is
a fluid environment that we're dealing with here in
terms of the capability to do this, the devel opment of a
systematic way to solve the problem and then confirm ng
how to actually inplenment that for not just five but,
you know, all of the situations in Verizon's network
where this type of anomaly occurs.

Q And you discussed with M. Richardson the
fact that Delphi is commercially available, can you tel
me approxi mately how nmuch it costs?

A You can get different classes of it, but |
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think you could get it for approxi mately $500.
MS. STEELE: That's all | have, thank you.

JUDGE MACE: M. Richardson.

RECROSS- EXAMI NATI ON
BY MR Rl CHARDSON:

Q | just want to ask you about the February
nmeeting. You say that you were di scouraged by Verizon
fromattenpting to relocate SAI's in the network table;
is that your testinony?

A Well, we were actually -- let's -- to be rea
precise, we were told absolutely not to do it in the
network table. You have to do it in the pre-network
tabl e.

Q Sorry, pre-network table.

A We were even discouraged to do it there, that
it's a fairly conplex process to meke those changes.

Q Wasn't the purpose of the neeting to instruct
you howto do it in the pre-network table?

A That's what | tried to say. | neanit's a
situation where Verizon was doi ng what we had asked them
to do, show us how to make these changes, and al so
telling us that it's a very conplicated task that can
create situations where you orphan is | believe the term

that they used downstreamtermnals if you don't
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correctly relink themto your noved SAl. And so it's --
we understand that it's conplex, but we also felt that
it needed to be done.

And so ny take away fromit was Verizon was
sayi ng only, you know, the faint of heart should not try
this, and I'"'mnot saying | was faint of heart because we
were trying to conme up with a systematic way of dealing
with this, but if you really feel you have to do it,
here's how it would be done. So it's conplex, and yet
we felt it needed to be done.

And I'"'mtelling you even today, severa
nmont hs renoved fromthat, we are still having probl ens
with relinking within the preprocessing of Verizon's
tools. So in other words, when you nove it, you have to
reconnect those downstreamtermnals. W're stil
having a difficulty doing that even with the tools that
Veri zon has provided us.

Q Didn't Verizon say that the only restriction
on noving them [|'mtalking about at the neeting now,
the only restriction on noving themwas to nake sure you
formatted the table in a way that conformed with the
exi sting table?

A. Well, you don't want to get nme started on
Verizon saying things. | nmean we have routinely been

gi ven instructions on how di fferent portions of
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Verizon's costing tools will work, and we have found
difficulties all along the way in operating within those
instructions. So yes, there were instructions provided
to us, there were tools provided to us. W are
attenpting to follow those, and we're finding it to be
not as straightforward as we were provided during that
wor kshop.

And we are going to continue to work with
Verizon to reconcile this for the filing in California,
but by April 20th we did not have the ability to do
that, and as of today we still do not have that ability.
Even though Verizon has provided us with tools and
instructions, we're still finding it to be a very
conplicated process. It still doesn't nmean that we
don't want to do it, because we think it's necessary to
accurately devel op the cost as much as we can using the
Veri zon environnment that they provided us.

Q | understand your testinony that you believe
that it's difficult to do, but I"'mreally asking you who
told you that they were di scouraging you fromtrying,
and what were the words that they used, if you can
recal | ?

A. I can't recall the person, but it was a
general caution that was provided to us that whenever

you go in and start trying to change the pre-network
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tabl e that Verizon has given us that you run the risk of
or phani ng downstreamterm nals and -- because you're
effectively breaking the link that Verizon has, noving
the SAl to a different location within the footprint,
and then you're supposed to then relink the term nals
back together. And we were cautioned that doing that
can create problens, and in fact we're finding that to
be the case.

But it doesn't change the fact that there are
a |l arge nunber, several hundred here in Washi ngton and
even nore in California, where you have SAl's on top of
one anot her, which based on Verizon's explanations to
date should not occur in your network. And so we are
trying to devel op a systematic process to correct that
probl em so that we nore accurately reflect what a
forward | ooki ng network woul d cost.

JUDGE MACE: M. Richardson, Verizon caused
to have marked a Cross Exhibit 758 for M. Turner, do
you offer that in evidence?

MR. RI CHARDSON: Yes, | woul d.

JUDGE MACE: |s there any objection to the
adm ssion of that exhibit?

MS. STEELE: No objection

JUDGE MACE: | will admt it.

Is there anything else for M. Turner?
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If not, then thank you very nuch, you're
excused.

THE W TNESS: Thank you.

JUDGE MACE: | think we really need to have a
little discussion about what we're going to do tonorrow.

CHAl R\NOVAN SHOWALTER:  Well, is it a case
that we have --

JUDGE MACE: Let's be off the record, please.

(Hearing adjourned at 6:00 p.m)



